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� ���� ��������
� =⇒ ���
������� 7.����� ��� ��A�����
���
�
���������

��<3�

�.�� =
��.�
���� �� ��������	�� *�



��� �E = 0
��� �H = �JE
��� �D = ρ

��� �B = 0

=⇒ +��� ���
������� 7.����� ��� 6� +��� ��A�������
�
���������



�� ������	
��



������� �

�
�����������

��
 ��	�������

��� 7���������� �J �� ��� �����

����� &
��������� ��� ���� +������������+�� &�31�2

�J = �JL + �JE + �JK

� �JL = κ�E → 8������������������K ������ ��� �
���������� 8���'�������� κ � QΩ�%K ��������
����� ��� �� ������ 
��������� )�
�������

� �JE → ����������� 7����������K ���
������ ��� �

�� )�
����'���

� �JK = δ ����� → F���������������������K ������ ����� 7����� '����� �
���������� 8�������
��� ��� �
���������� 8������������� � �-�Q��%K �����������
�������������� δ R :��A�������
��������� ;

	
�������������� )�
��� ���������� ��� �� �����
�������� &�
�����2
κ = 0→ �JL = κ�E = 0; �JL = �JK = 0→ �
���������� ��� ������������ )�
� ���� ��������
�

��� �E = �0
��� �D = �

�������
�
���������2

� 
������ ������2 �D = ε �EK ε = ε0εr

� �

������2 �D = ε0 �E + �P ��� �P R ��
�����������������% → �������������� �������
�� ���
��
������ ��� ��������.����� ���' ��� /�
���� 
�+����� /���������� �

�� ����
� 
��
-���������� ��1���� )�
���%

-��������2

� �D = ε0 �E + �P ��
� ���� 
�� ��������� ��
���������� �������

� /��
� ���
������� ���� ����� �������� �� �� ��� ��
��������� ��� �
������ ��� ��� <������� ���
����
����� )�
��� M 
�+���� ��' ��� /��+����������� ��� ���
���������� ��� ������������� ε
��� ���� ��� �.����������� 5����� >� 7��'��



�� �
���	�������

����� ��� ����������
������

	�� /�����'�
� �A(�r )� ������ <������� ������������� ���� �
� 3�	+�
�	�� 
�+�������� D� �
������
���������� )�

 ��� �E(�r ) ���
�
'���2

����E = 0 ���	 
� ���
��⇐⇒
∮
C

�E d�s = 0

0�� ������ ��� +������ ��1 ���� ��� �
�������������� )�
� ����� ���� ���������� ���
��� )�������
������

�� 
�1�� 7���� P1 ��� P2 +��� 
�
��
��� ������ �� <���� ��� ��� ����� ���� 
�
��
���
�����
������ F���� C = {C1, C2} ����������� ���
������ D� <��� �������� ��� +������
�������
)�
������� �E(�r ) �→ -

� >� %� ,�� 
�
��� ��� ��� 8������������
 ��� �
���������� )�
������� ��'
��� �����
������� 0�� C�∮

C

�E(�r ) d�s =
∫
C1

�E(�r ) d�s +
∫
C2

�E(�r ) d�s = 0

=⇒
∫
C1

�E(�r ) d�s = −
∫
C2

�E(�r ) d�s =
∫

−C2

�E(�r ) d�s

�� ���� '*� 
�
��
��� 0��� C1 ��� C2 +������� ��� ������� P1 ��� P2 ��
�� '�
�� ����� ���
,��
��+���������� ��� D������
�

∫ P2

P1
�E(�r ) d�s� �����

 �3���� ��� ���� 4�������
�
������

����+2 ��� ��������
% ϕ ��� �
��������������� )�
��� ��L������2

ϕ(�r ) def= ϕ(�r0) −
�r∫

�r0

�E(�r ) d�s �>� %

ϕ(�r ) ���1� 4�������
�
������ ��� �
��������������� )�
���� ����� ����� �� <��� ���� �����
��� ���
���� ��������
 +��������� ������� 0�� ��� ��� ��L��������
������� �������
���� ��� ���
��������
'������� ��� 
�� ��' ���� �������� F�������� ϕ(�r0)� ��� ���������� 6�0
��/�������
�

�������� ��� 9�+�����������
 ��� '��� ���

��� 
����=�1� �
�� ��� 0��� ����
����� ��������
�
�� <���� S

��� ��� ��� 0��
 ��� ϕ(�r0) = 0�

��� 9�������� ��� 9�+�����������
� ��� ������� �������������� �� �� �� &����� ��� ��' 4�5
������
��@�	��0��� ��� ����������� �
���	��.��� �/���
����� �������� ������� ��� ���

r1

C1

r2

P2

E( r  )

C2P1

-

�
���� >� 2 (��� ������ �� /�����'�
� �E(�r )�



�;� =	
��
���� ��

-

�
���� >�>2 (��� ������ ��������
'�
��

7������� +������� +��� ������� P2(�r2) ��� P1(�r1) ����
�� �����2

U21 = ϕ2 − ϕ1 = ϕ(�r2)− ϕ(�r1)

= ϕ(�r0)−
�r2∫
�r0

�E(�r ) d�s− ϕ(�r0) +

�r1∫
�r0

�E(�r ) d�s

= −
�r2∫
�r1

�E(�r ) d�s =

�r1∫
�r2

�E(�r ) d�s

U21 ��� ��� -�
���� ��� ��� 8����� �������� ����� ���� ��� ��� ��� P2 ���� P1 ��������
��
��������������� ��� ��� 	������ ��� U21

�������
���	��

� ,�� 
��������� ��� +��� 
�����
���� ������

�→ -

� >�>%� )*� dϕ ����
� ���� ���� ��� ��� ��L��������
������� �>� % ��� ��������
�2

dϕ(�r ) = − �E(�r ) d�s
= −(Ex dx+ Ey dy + Ez dz)

-����������� ��
� '*� ��� ��

�������� ��A�������
 ��� ϕ(�r )2

dϕ(�r ) =
(
∂ϕ

∂x
dx+

∂ϕ

∂y
dy +

∂ϕ

∂z
dz

)
������ '�
������ '*� ��� F���������� ��� �
���������� )�
��� '�
��2

Ex = −∂ϕ
∂x

Ey = −∂ϕ
∂y

Ez = −∂ϕ
∂z

	��� �����������'���� �������

��� 
�1� ���� ��� ����� ��� &����������G������� �/��������
.���%
���������� ��� =	������ ����� )������� f ��� '�
������ /�����2

���� f(�r ) =
(
∂f

∂x
,
∂f

∂y
,
∂f

∂z

)
= ∇f

E������ ����
� ����

�E(�r ) = −����ϕ(�r )



�� �
���	�������

E

grad ϕ

ds

E

ϕ = ϕ  =2 const .

ϕ = ϕ  =1 const .

ϕ = ϕ  =3 const .

-

�
���� >�"2 0���
����� d�s �� ��������
'�
��

��� ���
�	� *
������ ϕ 
��'��� ���� >�

�������� 6��.�	��+
�� ��� �
���	��.��� *�
���� ��
��� ��� ����
���� )�
������������ ����� &���������
�
���� �������� ������� D� ��� ������ ����
����� 9�������
��� ��� )�
��� 
����+���� �� �� M �����
 ���
.����� �
� ���� ��������� M ���'�����

+��������
��'��� �7��������
��+% ���� +������� ��� ��������
 ϕ +� 
�������� ��� �����
��1��� ���
�
��������� )�
� ����� &���������
�
���� +� 
��������� 7�

����������
��� ��
�

��� ����ϕ = 0 =⇒ ��� �E = 0 ��� ��'*

��

���� ��
� '*� 6��� 
�
��
��� )������� ϕ� (� 6���� ��������
 ��
� �� ��� /�����'�
�� �
�� ����� +�
6���� /�����'�
� ��������� ��� ����������� ��������
�

G
�� ����� 
������ ���+ ��� ,�

��G������� ∇ �����'*���� 7���� /��������� ��
�������� ���
-��������� ����
�+������ �������
��
�������� -����*���� ��� 
������� ��1 ��� ∇�G������� /���
������������ ��� 
�� ��A��������������������'��� �����
�� D� ������������ F���������� ��
�2

∇ =

⎛
⎜⎝

∂
∂x

∂
∂y

∂
∂z

⎞
⎟⎠

)
����� �
������ ��������
� ������ �
� 78
�/�������
:�.��� 
�+�������� ����� ϕ(�r ) = ������
��� ��� &
������� ����� J4����������
=���� �� ���
�+���� )��� ����
��� 7�������� ��� �� )�
� ��
��� 0���
����� d�s '��� �→ -

� >�"%� �� ������ ���� ��� ��������
 ��

dϕ = ϕ(�r + d�s )− ϕ(�r ) = ����ϕd�s �>�>%

= |����ϕ||d�s | cos(� ����ϕ, d�s )

dϕ =
∂ϕ

∂x
dx+

∂ϕ

∂y
dy +

∂ϕ

∂z
dz ; d�s = (dx, dy, dz)

= ����ϕd�s

0��
�� ��� ��� d�s ������ �� <������� ��� 5������� �� ���� J4����������

����� �� ��1 ��L���
���������1 ��� +����3���� dϕ ������������ ��������

 ����� J4����������

���� ��� ϕ = ������ %�
����� 	�����+�� �� �>�>% ����
� ���� 0 = ����ϕd�s � �� �� ��� 
����� /������� ����ϕ ��� d�s ����
��� ��������� ��'��������� E������ '�
��� ��1 ����ϕ ����� ��������� ��' J4����������

����� ���
�=����� ������ ����� ��
� �
��2

��� �
��������� )�
������� �E(�r ) ����� ��������� ��' ��� J4�����
������
=����� ϕ(�r ) = ������ �



�;� =	
��
���� ��

����� �� �������!�� "���
�
�� ��� ����������
������

,�� �3����� ��� ���� ������ ������� 9������������ +�� /�1����
��.��� 6���
�
�� ��� 4�5
������
� �����

��2 9��������� ��� ���� �����
����� Q �� ����� �������
���� ��1���� �
���������
������� )�
� �E� -�' ��� �����
����� ����� ���� ��� F��'� �Fe = Q �E(�r )� 9�L���� ���� ��� 8�����
�� F��'���
������������ �� ���1� ����� ��1 �� ��� 8����� �
����+����� ���� ������� �����������
F��'� �Fmech �
������ &�31� �
�� �������������+��� <������� ������'�2

�Fe + �Fmech = 0

,�� 
������ ��� ��� 8����� Q �� )�
� �E(�r ) ����������� 
������ ��� �r1 ���� �r2 
���� �����

�
��
���� 0���� �→ -

� >�B%� H���� ������ /��������+����� �3���� ��� ��� 	�>�	��+
� "	+���
�� �������.��������� 7���� 
��������� ��� ��� ��� �������� ������������ F��'� ��'��������
������ ��1� 7�� ��� ����
�� �����2

∆A =

P2∫
P1

�Fmech d�s

= −
P2∫
P1

�Fe d�s

= −Q
P2∫
P1

�E d�s

= Q

P2∫
P1

����ϕd�s

= Q (ϕ(�r2)− ϕ(�r1)) .

P1

P2

-

�
���� >�B2 9�
��
���� 0�� +������� +���
�������

H���� ��� �
���� -������� �3���� ��� ����� "	+��� ∆A ��� ��� 7���	
�� ��	 /����5
���

�� ���	��� ∆We ��� �����
����� Q �� �
��������������� ��������
'�
� ϕ(�r ) �
�������+��2

∆A = ∆We = Qϕ(�r2)−Qϕ(�r1).

����� ��� ��� J������� ∆We ���
������ ��� ����� ��������� F�������� �� ϕ(�r ) ��� ��� ���+��

∆We = We(�r2)−We(�r1)

��� ��L������ ��� /�������

� ���	��� We(�r ) ����� �����
����� Q �� ����� �
�������������
��������
'�
� ϕ(�r ) �� G�� �r �����

We(�r ) = Qϕ(�r ).

�-��
�� +�� ��L������ ��� ��������
� ϕ �3���� ���� ���� �������� F�������� ���+���'*�� �������
���� ��1 ���� ∆We �������%
A
	02 Qϕ(�r ) ��� �
� ��������

� 	������ �-�
����'��������% ��� �����
����� Q �� �
���������

������� ��������
'�
� ϕ(�r ) +� 
�+������� M �� -��
���� +�� ��������

�� 	������ ����� ����������
�� ��� ��������� ��� ��������
'������ ϕ(�r ) ���� ��� �
�� ���� ���'*���� �
� ��� �� ��� ������

����� Q ��'+�
�������� -�
���� ���� ��� ��� �����
����� Q �� ����� ��������
'�
�� ��� ��
H����
����� ������������� ��� ��� H����
����� (�r1) �� ��� <�������� �r2 = �r 
������

-�� �
���� S
��
����� ����
� ���� ���� '�
����� �������� 7��
�1'�
������2 (������� ��� ��'�
'�������

�� J������� dWe ��� ��������

�� 	������ We(�r ) ��� ��� ����� J������� 
����������
F��'� �Fe 
���� ��� 0���
������ d�s 
������ �A��
�� ��� (�����������

dWe = −�Fe d�s.



�2 �
���	�������

/���
������ ��� ���� ��� dWe = ����We d�s � �� '�
��

�Fe = −����We.

���� ��
� ��� ��� (����������� +������� F��'� ��� ��������

�� 	������ �� �
���������������
)�
��

����# ��� �������������!�
��

��� ��� E��
������ ��� ��������
�
������� 
����� ��� ��� ������ ���
.������� 83����������+ +��
83���� ��� �����

����� &
��������� ������� /��������+��� '*� ��� 0������ ��� ��� -�������
��1 ε, µ, κ 6����
� �������� ������

��� ��������
�����+ ��� ��� ���L� ����������� ���
.������� 83����������+� ��� 
�������� ��
)�

 ����������� )�
��� ��� ���1�� 9�������� ����

0�� ��
�� �������� ��1 ��� ��� �
�������������� )�
� ����� ������ 0��
�
'������� ���� �E = 0%
���� ����� ���� ���
��� ��������
'������� 
�������
�� �3����2

�E(�r ) = −����ϕ(�r ) = −∇ϕ.

)*� ��� 
�������� ��������� ������ ��
�
�D = ε �E.

)*� ��� ��������� �������
 �ε R ������% '�
�� ���� ����� 	�����+�� �� ��� ��������+�
�������

��� �D = �

���
��1
��� ��� 4�����5=
��.�
��� ���� 4�������
�
��.�
��

��� �D = ��� ε �E

= −��� ε ����ϕ
= �

=⇒ ��� ε ����ϕ = −�

ε = ������ =⇒ ��� ����ϕ = −�
ε

��� ��� 8��
����G������� ∆ϕ 2R ��� ���� ������
� ���� ��� �������&
������� ���+ �
�

∆ϕ = −�
ε

�>�"%

D� 
������'����� <��� ��� � = 0 ��� ��� ��������
 ���*�� ��� #�/
�.�5=
��.�
��

∆ϕ = 0. �>�B%

)*� ����������� F���������� ��
� ∆ϕ = ∇2ϕ� ��� ��������
�
������� ��� ���� �

�������� ��A�����
���
�
�������� ��� E�
'� ��� �������� 
+�� ��� 8��
����&
������� �
�� ����������� ������ ���
�

�� ��������
�
�������% �3���� ��� '*� �������� ���

�����

����� ��� ��������
'��������� ���
����� ��� �
���������� )�
��� 
���������



�;� =	
��
���� ��

�;�;�;� 4�������
 ����	 4
���
��
��

��� ���

�� ������1� ���
�� ��� F���
����������� ��� H������� �� G�� ��� �����
������ D�
F���
����������� ��� ��� 8��
����G������� ����
�� �����

∆ϕ =
1
r2

∂

∂r

(
r2
∂ϕ

∂r

)
+

1
r2 sin θ

∂

∂θ

(
sin θ

∂ϕ

∂θ

)
+

1
r2 sin2 θ

∂2ϕ

∂ϑ2

�� ��� <���
������������
��� F���
�.������� 
����+�� ��� ���� ��� ����
�.����������� ��������

+� ��������2

ϕ(�r ) = ϕ(r) =⇒ ∂

∂θ
= 0 ,

∂

∂ϑ
= 0

-�1����

 ��� �����
����� ��� ��� <��� 
������'���� �� �� �(�r ) = 0�→ 8��
����&
������� ∆ϕ =
0 ��� +� 
3���2

1
r2

d

dr

(
r2
dϕ

dr

)
= 0 | · r2

d

dr

(
r2
dϕ

dr

)
= 0 |D����������

r2
dϕ

dr
= C1 | : r2

dϕ

dr
=

C1

r2
|D����������

ϕ(r) = −C1
1
r

+ C2

(�� 9��������� ��� F��������� C1 ��� C2 �*���� ��� <���
���������� ��� �
���������������
)�
��� 
����+� ������� (����+
��� ���� S
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������� +�� 7������� ��� ���� ������

����� )�
���
����������

 � (������� ���
�� ��� ��� 9�+�������� ��� ��1

ϕ(r =∞) = 0
=⇒ C2 = 0

>� ��� 8����� �� ,�

����� (r = 0) ��� ��� &�31� Q� ,��+� ��� " �����

����� &
���������
�� D������
'���2 ∫∫

�

���������

�D d �A = Q �E = −����ϕ, �E = (Er, 0, 0)

=⇒
∫∫

�

���������

ε �E d �A = −ε4πr2C1

r2
= Q

=⇒ C1 = − Q

4πε

ϕ(r) =
Q

4πεr

�E(�r ) =
Q

4πεr2
�er

=⇒ 
�������� <���
��� ���
&����
�������
�����

D� ���
���� 0���� ���� ��� ��������
 ��� )
������ ��� 8�����
������� 
������� �������
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�������� �
� ������ 
��������� ��� +������� ���� �����
����� Q1 �� G�� �r1� 7��
���������� �� ����� �r ��� '����� <���� ��� �
��������� )�
�

�E(�r ) =
Q1

4πε0
�r − �r1
|�r − �r1|3 , �>�C%

��� ���� �
� (�

��+��
� 
�+������� ����� ��� G�� ��� '�
���+�������� 8����� ���� �
� )
�

5
/
���� ��� ������ �� ��� ��� ��� )�
� 
��
������� �
� "
�/
��� 
�+������� �→ -

� >�C%� ���
)�
�� ��� ��� N �����
������� Qi ��� ��� I��

������� �ri �� -�'����� �r ��+���� ����� ����
�
��� ����� 7������������ ���������

� -������� ��� )�
��������% +�

�E(�r ) =
1

4πε0

N∑
i=1

Qi
�r − �ri
|�r − �ri|3 . �>�?%

/�����
���� ���� ��1 �� ���� Of(�r, �ri)P ��� &���������
�
���� 
�+*�
��� ��� -�'�����������������
�r �����+�'*���� ���� �� �3���� ��� �����

����
1

|�r − �ri| = − �r − �ri
|�r − �ri|3

�
��� &
������� ���� �
�

�E(�r ) = −����ϕ(�r )

= − 1
4πε0

N∑
i=1

Qi ����

(
1

|�r − �ri|
)

= −����
(

1
4πε0

N∑
i=1

Qi
|�r − �ri|

)
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��� E������ ����
��� ��� '*� ��� ��������
 ��� N �����
�������

ϕ(�r ) =
1

4πε0

N∑
i=1

Qi
|�r − �ri| . �>�#%

	� ����
� ���� ����� ����� 7�������� *
�� ��� ��������
� ��� ���+�
��� 8��������
6��.���B -� ��� G���� ��� �����
������� �I��

�������% ������ ��������
 ��� )�
�������

�����
��� ��� ��������
 ��� �� ��������� ��1 �� '*� r →∞ �������������

�;�;�;� 4�������
 ����	 &�
�
��
���>�	���

��

0�� 
��������� ��� ��� �� I��

����� �ri ��
������ ��L��������
�� 8�������
����� dQi = �(�ri) dVi
�→ -

� >�?%� ������ ��+���� �� -�'����� �r ����� )�
�
����� d �E(�r ) ����12

d �E(�r ) =
1

4πε0
�r − �ri
|�r − �ri|3 �(�r ) dVi.

0

ri

r - r i
dE(  r  )

r

-

�
���� >�?2 D�L��������
�� 8�������
������

����� 7������������ ��� 9������ �

�� ��L��������
�� 8�������
������ ����
��� ��� ��� ���
��
�������� )�
� �� -�'����� �r� ��+� �*���� ��� ���� /�
��������������� 
�+*�
��� ��� I��

�
����������������� *
�� ��� �������� ��� <���
����� ��'*

��� 9������ �����'*����2

�E(�r ) =
1

4πε0

∫∫∫
V

�(�ri)(�r − �ri)
|�r − �ri|3 dVi

= − 1
4πε0

∫∫∫
V

�(�ri) ����
(

1
|�r − �ri|

)
dVi

= −����
⎛
⎝ 1

4πε0

∫∫∫
V

�(�ri)
|�r − �ri| dVi

⎞
⎠ �>�!%

�>�!% → &���������
�
���� 
�+*�
��� ��� -�'�������

��� ��������
 ����� <���
������������
��� �(�r ) ��� ����� ��� (�

��+�����	�


ϕ(�r ) =
1

4πε0

∫∫∫
V

�(�ri)
|�r − �ri| dVi �>�$%

����
���
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��� �
���
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������� 
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	� 
�1� ���� +������ ��1 ��� �
��� ��������
 
�� *
���

 ���
����� <���
������������ (|�| ≤ �max)
��� ����� ���+ �� 	��
����� 
�������� 8������������
��� 
��������� ���2

|�(�r )| = �max�r
2
max

2ε0

�;�;�;� -�� (�

��+�����	�
 ��	 �/�0��

� #��
���>�	���

����

 � C+�	:�.���
��
�����.��� �F (�r ) ��' ��
������ )
���� )

ϕ(�r ) =
1

4πε0

∫∫
F

�F (�ri)
|�r − �ri| dfi �>� @%

>� #�����
��
�� �S(�r )

ϕ(�r ) =
1

4πε0

∫
S

�S(�ri)
|�r − �ri| dsi �>�  %

→ 
������������� 7����
������ ��' ��� 
��������������� 8����T

�;�;�;� 6���/��
B -�	 �
���	��.�� -�/�


0�� 
��������� ���� -�������� ��� +��� �����
������� +Q ��� −Q� ��� ����� -
����� d +�����
����� ��
��� 	��� ��
��� -�������� ���� �
� -�/�
 
�+�������� �→ -

�
���� >�#% D� -�'�����

+  Qd-  Q

P

r2

r

1r

r 1rr r2

0

-

�
���� >�#2 ����+�� ��� ����
��

P ����
��� ��� ��� ��������


ϕ(�r ) =
1

4πε0

(
Q

|�r − �r1| −
Q

|�r − �r2|
)

�>� >%
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���� ��

-�� -

�
���� >�# ��������� ���

�r − �r2 = �r − �r1 + �d
1

|�r − �r2| =
1

|�r − �r1 + �d |
=

1√
|�r − �r1|2 + 2�d (�r − �r1) + |�d |2

=
1

|�r − �r1|
1√

1 + 2
�d (�r − �r1)
|�r − �r1|2 +

|�d |2
|�r − �r1|2

)*� -�'������ ���

|�r − �r1| � |�d |
(
	������
��� ���

1√
1 + x

)
����
� ���� '�
����� 	������
���

1
|�r − �r2| =

1
|�r − �r1|

{
1− 1

2

(
2�d (�r − �r1)
|�r − �r1|2 +

|�d |2
|�r − �r1|2

)

+
3
8

(
2�d (�r − �r1)
|�r − �r1|2 +

|�d |2
|�r − �r1|2

)2

∓ · · ·
⎫⎬
⎭ .

G����� ��� ���� ���� �����+�� ���
|�d |

|�r − �r1|2 � �� ����
��� ���

1
|�r − �r2|2 =

1
|�r − �r1|

{
1−

�d (�r − �r1)
|�r − �r1|2 −

1
2
|�d |2
|�r − �r1|2

+
3
2

[
�d (�r − �r1)

]2
|�r − �r1|4 ± · · ·

⎫⎪⎬
⎪⎭ .

,�� ���+�� ��� ����� 	������
��� �� &
������� �>� >% ��� ��� ����
���

ϕ(�r ) =
Q

4πε0

{
�d (�r − �r1)
|�r − �r1|3 +

1
2
|�d |2
|�r − �r1|3

−3
2

[
�d (�r − �r1)

]2
|�r − �r1|5 ± · · ·

⎫⎪⎬
⎪⎭ .

)*� -�'������ �� )���'�
�� �� �� ����

|�r − �r1| � |�d |
��
�� �3���� ��� ��� ��������
 ���� �������� �����

ϕ(�r ) =
Q

4πε0

�d (�r − �r1)
|�r − �r1|3 .

8����� ��� ��� �d→ 0 ��� �
����+����� Q→∞ ����
��� ��� +��� ��� ��1 ��� /�����

�p = Q �d
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r
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0

r r1

-

�
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�
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�+������� ��

��� ��� /����� �p ���1�-�/�
������
��� ��� ��� 	������ O-��P� �→ -

�
���� >�!%

��� ��������
 ����� ���������
� ��� ��� ����
������ �p� ��� ���� �� G�� �r1 
�L����� ���
����
�� �����2

ϕ(�r ) =
1

4πε0
�p (�r − �r1)
|�r − �r1|3 �>� "%

��� ��� 0����
 θ +������� �p ��� (�r − �r1) �3���� ��� ���� ������
��2

ϕ(�r ) =
1

4πε0
|�p | cos θ
|�r − �r1|2 �>� B%

��� ���������
 ���

�� �
���� ��� ��� �����
������ ���� D���
�������� ���� ��� �� ��� ������ ���
�������������� ���
�����
�� ����

��� �
��������� )�
������� ����
� ���� ��� &
������� �>� "% ����� &���������
�
����� ��� 	���
'������� ��

�� 
��������� ��� ����� ���������
 ��� -���������� 
���� +�� +�-����� 0��������
������ ��� �r1 = 0 ��� �� �� ��� ���������
 
�L��� ���� �� F������������������� 0�� ���+��
|�r | = r ��� |�p | = p� ��� +�F��������� ��� �
���������� )�
��� ��� ���� ����
�� �����

Ez = −∂ϕ
∂z

= − p

4πε0
∂

∂z

( z
r3

)
=� − p

4πε0

(
1
r3
− 3z2

r5

)


+�� Ez =
p

4πε0
3 cos2 θ − 1

r3

��� �� ��� .�F���������� ���� ����
�� �����2

Ex =
p

4πε0
3zx
r5

Ey =
p

4πε0
3zy
r5

������������	 → r =
√

x2 + y2 + z2
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�������� ��� ����	�.�� +�� +�-���� ����� ���
�
� ����������
� F��������� E⊥ 
�+������� ����2

E⊥ =
√
E2
x + E2

y =
p

4πε0
3z
r5

√
x2 + y2


+�� E⊥ =
p

4πε0
3 cos θ sin θ

r3

��� ���������
� F���������� E⊥ 
���� �� ��� �.�	
��� ��� +���� ������ ��� ��� ��� -���� ���
����
�� ��� &�����'�
� ���

E =
√
E2
z + E2

⊥.
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���� ���� ��� �
������ S
������ +����� <���
������
�������� ���� ���� �� ��� ������ ��� �����
���������� ��������K �� �����
� ���� 
�� ��� ����

 �
�� �� ���� D���
��������� �→ -

�
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�����
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� 9��������� ��� )�
�������� ��� ��������
�� �� S
������

� 7���������
������������ ��� F���+���� C ��� ���S
�������

<���
����� �� ��&�
���

�p = −(eNA + en−)
NA = ������ ��� -�+�������

n− = ������ ��� 	
�������� ���

��&�
���

<���
����� �� ��&�
���

�n = +eND + ep+

ND = ������ ��� ���������

p+ = ������ ��� ��'����
��������

��� ��&�
���

,�� '*���� ��� '�
�����  ���	
���� ����� �→ -

�
���� >� >%2

NA � n−

NA = ������ '*� x1 ≤ x ≤ 0
ND � p+

ND = ������ '*� 0 ≤ x ≤ x2

x 1

p -  Gebie t

xx0 2

n -  Gebie t

-

�
���� >�  2 -
������ S
������ +����� <���
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��������
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∆ϕ = −�
ε

∂2ϕ

∂x2
+
∂2ϕ

∂y2
+
∂2ϕ

∂z2
=

�(x, y, z)
ε

,�� ���� ���� ������� ,������� �������2 	� ���� ����������� ��1 ��� ����� ��� ���S
�������
d = |x1|+ |x2| ���
 �
����� ��� �
� ��� -��������� ��� S
�������=���� �� .� ��� +�<�������� �����
���� ���� ��� ,������� ������� ������� ��1 ����� ��������
�������� �� .� ��� +�<�������
�����L���� ��� ��1 � ��� ��� x �
������
6��.���B ����� ,������� ��� 
�� E3����'��4���+�9���
������� ����� ���� +�
������
��� �
���� -������ ����
��� ��� '*� ��� ��������
�
������� �� ��� 
����� &�
�����2

∂2ϕp
∂x2

= −�p
ε

∂2ϕp
∂x2

=
eNA
ε

∂2ϕn
∂x2

= −�n
ε

∂2ϕn
∂x2

= −eND
ε

����� D���������� ����
��� ���2

ϕp =
1
2
eNA
ε

x2 + C1x+ C2

ϕn = −1
2
eND
ε

x2 + C3x+ C4

��� F��������� C1, . . . , C4 �3���� ��� ��� E�
'� ��� <���
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 � D� x = x1 ��� x = x2 ���� ��� 7��������� 
������ ��� ��� )�
�������� �������������

>� D� x = 0 ��1 ϕp = ϕn ���
∂ϕp
∂x

=
∂ϕn
∂x
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����

"� U ��� ��� ��� ��1�� ����
���� 7������������ ��� UD ��� ��A������������� �� ���S
�������
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�
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xϕ(  )

x

-
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��' ��� ϕ(x)�

 � ϕp(x1) = −(U + UD)

>� ϕn(x2) = 0

"� ϕp(0) = ϕn(0)

B�
∂ϕp
∂x

(x1) = 0

C�
∂ϕn
∂x

(x2) = 0

?�
∂ϕp
∂x

(0) =
∂ϕn
∂x

(0)

E������ 
����� ���� ��� F��������� C1, . . . , C4 ��� ��� -����������� ��� <���
������� x1 ���
x2� ��� ��� ��� ����������� �
������� 
���������

��� 7�����������
��' ���� ����� ����
�

3��� ����
��� )*� ��� F���+�����
��������� ��� ���
9��������� ��� x1 ��� x2 ��'�����
���� D� ��� ������ ���� x1 ��� x2 ���
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����� ��� 
����� 8�������%� ���������� �� ��� 83���� ��� ���

��� ����� ��������� 8����� ���
����� ��������� 
�������� �
����� ��� �����
����� +Q ��� �� -
����� d ��� ��� 
�������� 	
���
���������� �→ -

�
���� >� C%�

-  d

-  Q
z0 +  d

+ Q

r 1rr2

x

ϕ = 0

-

�
���� >� C2 )�
� ����� �����
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4πε0
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4πε0
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 ϕinhom� ��� ����� ��� �������
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r2
⇐⇒ Q1

Q2
=
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r2
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1

Q2
2
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r21
r22
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r21 = R2 + s21 − 2Rs1 cos θ
r22 = R2 + s22 − 2Rs2 cos θ
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Q2
1

Q2
2

=
R2 + s21 − 2Rs1 cos θ
R2 + s22 − 2Rs2 cos θ

Q2
1s2

Q2
2s1

=
R2s2 + s21s2 − 2Rs1s2 cos θ
R2s1 + s22s1 − 2Rs1s2 cos θ
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. �>�>>%

����.�
+ 0
 E�;��FB

,��� ����� 7��+ ��� &�������� �-��G88G,DH7% ��� ��� ������������ G�� ��� ������
����� 	
��� ��� ���������� -
�����������
���� +� +��� '����� ������� ������ 	
���
��� F����� ��� ��� /��
������������� +������� ��� 
����� ������� ���������� ���
��
,��� -

� >� ! ���1� ����2

Q1A

Q2A
=

Q1B
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= ������

s1 −R
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s1 +R
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��'���2
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���� R2 = s1s2

-�� �>�> % ��� �>�>>% 
����� ���� ��� G�� ��� ��� &�31� ��� ��������� ��������� 7�����

�����
(−Q2) 
���������
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 ��' ��� F���
�
��=���� +� ,�

 �����+�� 0��� ��� ��� ��
�����
����� ��� F���
 ���� ������� �����
����� (+Q3) ��
������� �� 

��
� ��� F���
�
��=����
��������� ���� J4����������
=���� M �

������� ��� ��� ����� ��������
 ���
���� ,�

� )*� ���
<��� ��1����

 ��� F���
 ����
� ���� �� ������ )�

 ��� ��������


ϕ(�r ) =
1

4πε0

(
Q1

r1
− Q2

r2
+
Q3

r3

)
�>�>"%

��� &
� �>�>"% 
�1� ���� 6���� 
�
��
��� ��������
 ��' ��� F���
�
��=���� ���� 6��� &����
�����
�� ��� F���
 ������

���

Q3 Qges ϕ(R)
�������� F���
 0 −Q2 0

����
����� F���
 Q2 0
Q2

4πε0R
����� Q3 Q3 −Q2

Q3

4πε0R
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�

� >� 2 7�����
��� �� ����� F���


9����� ��
�� ��� ��� �� ������
����� ��' )�
��� �� /����� 
���������� D� '�
������ ��

��
��� ��� ���� ���
������� 
����������

����% &���������
���� ��� ��������!��� ������ �� ��� '���
(	!�� ��)
������� *�����

(������� 
��������� ��� ��� ����� �����

���� &
�������
∮
∂A

�E d�s = 0 '*� ���� ��������'3�����
)
���� ∆A� ��
��� ��� &���+=����� ��� ������  ��� > ��������+�� �→ -

� >� $%� �n ��� ���
,����
�������� ��������� +�� &���+=����� ��� ������ > ���� ������  ��������

M e d i u m  2

M e d i u m  1 ε1

ε2

n l E1

∆h1ds

ds 2

d A

E 2

E ds  =  0
∂A

-

�
���� >� $2 &���+=���� +����� �������

,�� 
����� ��� ∆h �� ����� ,�

 ������ ��1 ��� D�������������
��� ��' ��� &���+=���� +�����
�����+���� ����� ��� ����
��� '*� ��� D������


∮
�E d�s '�
������2

lim
∆h→0

∮
∂A

�E d�s =
∫
∆s

�E d�s1 +
∫
∆s

�E d�s2 =
∫
∆s

( �E1 − �E2) d�s �>�>B%

��� d�s = d�s1 = −d�s2� d�s 
���� ���������
 +�� &���+=����� ��� 
����� ����� ,�

 �������� <�����
��������� 
��'��� ������ 9������

7���� Et1 ��� Et2 ��� +�� &���+=���� ���������
�� �
���������� )�
������������� ���� ����
�
���� ��� �>�>B%2

(Et1 − Et2) l = 0

������ '�
�� ��'���

Et1 = Et2 �>�>C%
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H� ��� <���
�������� '*� ��� �
��������� )
�1������ �D +� �������
�� 
��������� ��� ���

����� �
����� (.
����� ∆V ��� ��� E3�� ∆h ��� 7����=���� ∆A� ������ (.
����� ��������+� ���
&���+=���� ��� 
����� ������ �→ -

� >�>@%�

d A1 D1

M e d i u m  2

M e d i u m  1 ε1

ε2
d A2

n
∆h

D 2

D  d A  =
V

ρ d V

∂V

-

�
���� >�>@2 &���+=���� +����� �������

	����� 
����� ��� ∆h �� ����� ,�

 ������ ��1 ��� D�������������
��� ��' ��� &���+=���� +��
��������+���� ����� ���� ����
��� ��� ��� ��� 
����� 7���� ��� ������� �����

����� &
�������2∫∫
�

∂V

�D d �A =
∫∫∫
V

� dV 2

lim
∆h→0

∫∫
�

∂V

�D d �A =
∫ ∫
∆A

( �D d �A1 + �D d �A2)

= (Dn1 −Dn2)∆A �>�>?%

��� ��� ,����
����������� Dn1 ��� Dn2 ��� �D� ��� �����
=���� 
��'��� ������ 9�������
��� ������ 7���� ��� ������� �����

����� &
������� ����
� '*� ���
���� 8������������� � �����

,�

2

lim
∆h→0

∫∫∫
V

� dV = 0. �>�>#%

)�

� ��� &���+=���� ���� G
��=�����
������������ �F ������ ����
� ����

lim
∆h→0

∫∫∫
V

� dV = qF . �>�>!%

����� '�
�� ��� �>�>?% ��� �>�>#%2

 � 5���� ��� &���+=���� +����� ������ ����� G
��=�����
������������� �� ����� ��� ,����
�
����������� ��� �D ������ ����� ��� &���+=����2

Dn1 = Dn2 '*� qF = 0 �>�>$%

>� 5���� ��� &���+=���� +����� ������ ���� G
��=�����
������������ qF � �� ������� ��� ,���
��
���������� ��� �
���������� )
�1������ �D �� ��� &���+=����2

Dn1 −Dn2 = qF �>�"@%

��� <���
���������� '*� �D ��� �E '*���� ��+�� ��1 �
��������� F��'�
����� 
��� 	������� ��
��� ������� ������ 
+�� 
��� ��������� ����� ���� )
�����
����� �������� �:��
������;%
������ ���
� G����%�
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 ���� G
��=�����
����� ��

�� ��� ��� ��� 9�������������+ ��� 	
����������� ����

������ H���� 9����+��� ��� �������
�
��������� �D = ε �E ��� &
� �>�>C% �4����
��� +�

D1

ε1
sinα1 =

D2

ε2
sinα2 �>�" %

��� ��� 9�+���������� ����1 &
� �>�>$% ���� ���� ��������
�� ������ �
�

D1 cosα1 = D2 cosα2. �>�">%

����� �������� ��� �>�" % ����� �>�">% ����
� ���� ���
��1
��� '*� ��� )�

 ����� 
��
����	����
=	��0:�.��2

tanα1

tanα2
=

ε1
ε2

�>�""%

���� ��� ��� 6	�.�
��������0 ��	 �
���	�������� 	� 
������ ��1 ��� )�
�
����� �� ���������
������ ��� ��� ,����
���������� ��� ��
������ ������ �→ -

� >�> %�

M e d i u m  2

M e d i u m  1 ε1

ε2

D 1

D 2

α1

α2

-

�
���� >�> 2 9�������������+ ��� 	
������������

0��� ε1 � ε2 ���� ���� Dt1 � Dt2 � �� �� ��� 7��A�� ��� ���1�� ���
�����+�������������� ε
������ ��� )�
�
����� ����+� ��������� ����

�;�;�;� 6���/��
B 4
���������������	 ��� ���.��.������ -��
���	��
�

	�� �
���������������� ��� ������������� ���
�������� ���� �
� <���������
���� ��� ���+�
���
7������������������� ��'��'�1� ������ �→ -

� >�>>%�

&���
�� ��� ��� 7������� U +������� ��� 
����� �
������ &������ ���� ��� ��������
 ��� ���
)�
������� �� ��� 
����� 7�������� (A) ��� (B)�

��� 83���� ��� <����������

��� ��� ���������� 	��� 83���� ��� �

�������� ��������
�
���
������ ��� ��� <���
���������� ��'*

�� ��� ����� +��
���� ��� ���+��� 83���� ��� ���

����

D� 
����� <������
�� ��
� � = 0 ��� ε = ������� �� �� �� ��
� ��� 8��
����&
������� ∆ϕ = 0�
��� 
����� �
����� ���� J4����������
=������ �� �� ��� �
���������� )�
�
����� ������ ��������� ��'

h E

h
ϕ

1

ϕ
1

ϕ
2

2
ϕ

ε1

ε2

(A)
y

z

(B)
U

x

-

�
���� >�>>2 �
���������������� ��� ������������� ���
���������
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���	�������

����� ��� ���� ��
� ∂ϕ
∂y ≡ 0 ����� ∂ϕ

∂z ≡ 0� ����� '�
��

∆ϕ =
∂2ϕ

∂x2
= 0

��� ��� ����
��� '*� ��� 
����� <��������
�

ϕ(A)(x) = a+ bx =⇒ E(A)
x = −b �>�"B%

ϕ(B)(x) = c+ dx =⇒ E(B)
x = −d �>�"C%

-�� U =
∫ h
−hEx dx ��� ��� 7��������� ��� 7������� �� ��� &���+������� ��� 
����� ������  

��� > '�
��

U = −bh− dh. �>�"?%

�� ��� ���������
�� �
���������� )�
��� �� ��� &���+������� ������������� �3���� ��� 
����
��� ��'
��� 7����������
���������� '*� ��� ,����
���������� ��� �
���������� )
�1������ +��*������'���
����� ����
��� ���

−ε1b = −ε2d �>�"#%

-�� ��� &
��������� �>�"?% ��� �>�"#% '�
�� ����

d = − ε1
ε1 + ε2

U

h
�>�"!%

b = − ε2
ε1 + ε2

U

h
�>�"$%

����� ����
� ���� '*� ��� ��������


ϕ(A)(x) = a− ε2
ε1 + ε2

U

h
x

ϕ(B)(x) = c− ε1
ε1 + ε2

U

h
x

�>�B@%

��� F��������� a ��� c �*���� ���� ����1 ��� <���
���������� ��� ��� <��������� ϕ1 ���
ϕ2 
������� �������

�;�;�;� 6���/��
B 4
���
��
�� >�	 ���
���	��.��� !�
+	�
�

(�� 9��������� ��� ��������
� ��� ��� �
���������� )�
��� �*���� ��� ���� )�

��������������
'*� x < 0 ��� x > 0 ���A�� �→ -

� >�>"%

 � x > 02
0�� '*

�� +������� ��� �������� <��� ��� ������  � �� �� ε1 �→ -

� >�>B%�

�� ��� ��� )�
� ��� '*� x > 0 
�������� ��

��� �3���� ��� ���� 7�����

����� αQ1 �� ���
7��

� x = −a ��������� 0�� ����
��� �����

ϕ(1)(x, y, z) =
1

4πε1

{
αQ1√

(x+ a)2 + y2 + z2
+

Q1√
(x− a)2 + y2 + z2

}
�>�B %

��� ����� 
��
��� ���� ��
�������� F�������� α� ,�� 
��������� ��� ��� +������ )�

2
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ε2 ε1

y

Q 1
a x

-

�
���� >�>"2 �����
����� ��� ���
���������� E�

�����

>� �V@2
	����� '*

�� ��� ��� <��� ������� M ��� �

������� ��� ������ >� �� �� ε2 �→ -

� >�>C%�
��� 7��

� x = −a 
���� ��� �� ������������ &�
���� �� ��1 ��� ���� ����� 7�����

�����
��
������ �3����� 0�� �3���� �
�� ��� 8����� Q1 ��� ����� )����� β ������� ��� ����
���
����

ϕ(2)(x, y, z) =
1

4πε2
βQ1√

(x− a)2 + y2 + z2
�>�B>%

,�� ��������� ��� ��� 7����������
���������� 
�� x = 02

E(1)
y = E(2)

y

D(1)
x = D(2)

x

��� �3���� ����� ��� ��
�������� )������� α ��� β 
��������2

α =
ε1 − ε2
ε1 + ε2

und β =
2ε2

ε1 + ε2
�>�B"%

��� ��������
 �� ��� 
����� <������
�� ����
� ���� ����� 	�����+�� ��� �>�B"% �� �>�B % 
+��
�>�B>%� ��� �
��������� )�
� ����
� ���� ���� 6����
� ����� &���������
�
�����
6���	�
��B ��� 
����� 7�����'�

� ε2 → ∞ ������������� ����� �����
����� ��� �����


�������� 	
���% ��� ε2 → 0 ���� �� ��� 83���� �����
����

Q 1
a

α

ε1ε1

Lösungsgeb i e t

Q 1
a x

y

-

�
���� >�>B2 &������� <��� ��� ������  ��'*
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Lösungsgeb ie t

Q 1
a

ε ε2 2

β
x

-

�
���� >�>C2 &������� <��� ��� ������ > ��'*
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���  ������ �!�	�����������

-��� ���� ��� 
����� 
������ ������ ���

�����

����� ��� ��� 	
����������� �
� 9������
� ������
��������� ��
��� �� ��� +� 
�������� ��1 ����� 9������
� ���+��

� 7.�������� ��'������ ����
����������� ���'���� �
����

� -����+� ���3�
������� D� �

�������� �*���� ��� 6����� '����
�
�������� ��� �

�������� -�����
������ 
����+�� ��� ���L� ����� ��' ���������� ��������
+��*������'���

	��� �������� ���
.������ 83������������ ��� ��� ������� ��� %�	��+
����/�	������ ���
����� 7������ +�� -�������� ������ ������� 
���� �� ��� 0��
 ����� F�����������.������ ��� ����
�3�
����� ���'���� )����
������ ��� <���
���������� ��
��
�� �����

 ��'�
�� ��� ��� 	������

*
�� ���������
� �����
����� F���������� ��� ��� ������������� /��������
.����

����� +���������� ��
�������� ,����������

9������ 
�� ������� ���'����� 9������
�� ��
�� ��� ���L� ������ F�����������.������ �
� ���
����������� F�����������.���� 
����+�� �� ���������� 7.�������� ������+�� +� �3�����

0�� ����� ��� ��� ����������� F���������� (x, y, z) ���� ,�� ������ ��� ��� -����+� ��1
����� �� ����� P �
� )������� ��� F���������� (u, v, w) ����
�� �����2

x = x(u, v, w)
y = y(u, v, w) �>�BB%

z = z(u, v, w)

�>�BB% 
���� ���� ���� (u, v, w) ��=3���2

u = u(x, y, z)
v = v(x, y, z) �>�BC%

w = w(x, y, z)

��� ��� ����� P ����� ��������� +����������� F���������� (u, v, w) ���1�� �	
��
����� A�5
�	�������� &
� �>�BB% 
+�� �>�BC% ��L������ ���� A��	��������	�����	�������

E�
��� ��� ��� �
����+����� ��� 0���� ��� u ��� v '���� �� ������ +��� )
����� u(x, y, z) = c1
��� v(x, y, z) = c2 ��L������ ��� 7����������� 
����� )
����� ��� ����� ��� 
����� �
����+����� +�
��'*

����� &
���������

u(x, y, z) = c1

v(x, y, z) = c2

}
�>�B?%

��L������ -�' ��� ��� ��� ���� w ��������
����



�;� *�	��
� #��
����������� ��

0��� ��� ���� ���� w ��' ��� 7����������� '�������
���� �� ��� ����� ��� �����

u(x, y, z) = c1 �>�B#%

v(x, y, z) = c2 �>�B!%

w(x, y, z) = c3 �>�B$%

����
��� ��� ��� �
� H������� ����� 
���
�� F�����������.����� 
��������� �3�����
��� ����� �>�B#% � �>�B$% ����
���� )
����� ���1��A��	�������:�.���� 7�������� ���� �����

5�������� ����� ����� ������� 0����
� �� ���1� ��� �����
����� F�����������.���� �	�������

�→ -

� >�>?%�

u =  c1

x
u

v  =  c2

3w  =  c

P

z w

v

y

-

�
���� >�>?2 9������
 '*� ��� �����
������ F�����������.�����

9������� 9������
� '*� F����������.����� ���� ��� ������������ F����������� ��� (.
��������
��������� ��� ��� F���
������������

,�
�� ��� F���������������'�������� 
��3����� ��� �������	�� '*� ����� �����
������ F��
����������.����� ��+� 
��������� ��� ��� ����������� �
����� 0���
����� ∆su �→ -

� >�>#%�

0���� ��� F
������� ��� ∆su �3���� ��� �� ����� ��� 7������ +������� P ��� Q ��������2

(∆su)2 ≈ (x(u + ∆u, v, w)− x(u, v, w))2

+ (y(u+ ∆u, v, w)− y(u, v, w))2

+ (z(u+ ∆u, v, w)− z(u, v, w))2

,�� 
�
��� ��� ��� ������

�� -

�������� ��� x� y ��� z 
+�
� u

∂x

∂u
= lim

∆u→0

x(u + ∆u, v, w)− x(u, v, w)
∆u

∂y

∂u
= lim

∆u→0

y(u+ ∆u, v, w)− y(u, v, w)
∆u

∂z

∂u
= lim

∆u→0

z(u+ ∆u, v, w)− z(u, v, w)
∆u

��� 
����� ∆u ����� ,�

 ������ ����� ����
��� ��� '*� ��� -����
 ��� 0���
������� d�s ��
��<�������

dsu =

√(
∂x

∂u

)2

+
(
∂y

∂u

)2

+
(
∂z

∂u

)2

du = hudu �>�C@%



�� �
���	�������

v =  c2 2
v  =  c2 1

∆s u

w =  c3 1

P

Q

w =  c3 2

u  =  c1 2

u  =  c1 1

-

�
���� >�>#2 �
����� 0���
����� ∆su �� F�����������.�����

)*� ��� ������� F���������� '�
�� ���
��

dsv =

√(
∂x

∂v

)2

+
(
∂y

∂v

)2

+
(
∂z

∂v

)2

dv = hvdv �>�C %

dsw =

√(
∂x

∂w

)2

+
(
∂y

∂w

)2

+
(
∂z

∂w

)2

dw = hwdw �>�C>%

��� &�31�� hu� hv ��� hw ���1�� ���	�����G0������� ��� ����� 
�1� ���� ��� 0���
����� d�s
�� �����
������ F�����������.���� (u, v, w) '�
��������1�� �����*����2

d�s = dsu�eu + dsv�ev + dsw�ew �>�C"%

= hudu�eu + hvdv �ev + hwdw�ew

����� -��������� ��� ��� ����������� ��
�������� ,����������

�;�;�;� =	������

��� ��� ��L������ '*� ��� =	�������� ����� ���
���� )������� ϕ(u, v, w)

dϕ = gradϕd�s �>�CB%

��� ��� 0���
����� d�s ����1 �>�C"% ������
� ���� dϕ �
�

dϕ = (gradϕ)uhudu+ (gradϕ)vhvdv + (gradϕ)whwdw �>�CC%

����� 9�
���� ��� ����
�� ��A�������
� ��� ϕ

dϕ =
∂ϕ

∂u
du+

∂ϕ

∂v
dv +

∂ϕ

∂w
dw �>�C?%



�;� *�	��
� #��
����������� ��

��� /���
���� ��� �>�CC% ��� �>�C?% ����
��� ���

(gradϕ)u =
1
hu

∂ϕ

∂u

(gradϕ)v =
1
hv

∂ϕ

∂v

(gradϕ)w =
1
hw

∂ϕ

∂w

��� �����

gradϕ =
1
hu

∂ϕ

∂u
�eu +

1
hv

∂ϕ

∂v
�ev +

1
hw

∂ϕ

∂w
�ew �>�C#%

�;�;�;� -�>�	���0

��� -�>�	���0 ��� 
������
��� ��L����� �
� &���+���� ����� G
��=������������
�2

div �D = lim
∆V→0

1
∆V

∫∫
�

∂V

�D d �A �>�C!%

0�� ����
��� �
�� ��� ��������+ ����� ��� ��� F���������� ��� �D �� <������� ��� ��1����
,����
�� *
�� ��� �����
������ G
��=���� ∂V ��� /�
�����
������ ∆V ������������ ����� ∆V
���������� ��� ���
��1
��� ��� &���+*
������ ∆V → 0 ���'*����� ��+� 
��������� ��� ��� ��
9�
� >�>! ��������

�� /�
�����
����� ∆V �� ��� F���������� u� v ��� w� -��
�� +�� E��
������
'*� ����������� F���������� ������
�� ��� '*� ��� �
���������� )
�1∫∫

�

∂V

�D d �A ≈ Du(u+ du, v, w)hvdv hwdw︸ ︷︷ ︸
dAu

−Du(u, v, w)hvdv hwdw︸ ︷︷ ︸
dAu

�>�C$%

+Dv(u, v + dv, w)hudu hwdw︸ ︷︷ ︸
dAv

−Dv(u, v, w)hudu hwdw︸ ︷︷ ︸
dAv

+Dw(u, v, w + dw)hudu hvdv︸ ︷︷ ︸
dAw

−Dw(u, v, w)hudu hvdv︸ ︷︷ ︸
dAw

u =  c1

∆V

w =  c3

v  =  c2

-

�
���� >�>!2 /�
�����
����� �� ��� F���������� u, v, w�



�� �
���	�������

,�� 
�
��� ��� ��A�������
4��������� ��� )���

∂

∂u
(Du hvhwdvdw)du,

∂

∂v
(Dv huhwdudw)dv,

∂

∂w
(Dw huhvdudv)dw

��� ���������� ����� ��� /�
�����
����� dV �

1
dV

∫∫
�

∂V

�D d �A =
1
dV

[
∂

∂u
(Duhvhw) +

∂

∂v
(Dvhuhw) +

∂

∂w
(Dwhuhv)

]
dudvdw �>�?@%

����� ��� /���
���� ��� �>�C!% ��� �>�?@% ����
��� ��� ��� dV = hudu hvdv hwdw '*� ��� ��������+
��� �D2

div �D =
1

huhvhw

[
∂

∂u
(Duhvhw) +

∂

∂v
(Dvhuhw) +

∂

∂w
(Dwhuhv)

]
�>�? %

�;�;�;� #�/
�.�5C/�	���	

��� #�/
�.�5C/�	���	 ���� ����� ∆ϕ = div gradϕ ��� �>�C#% ��� �>�? % �������� ������2

∆ϕ =
1

huhvhw

[
∂

∂u

(
hvhw
hu

∂ϕ

∂u

)
+

∂

∂v

(
huhw
hv

∂ϕ

∂v

)
+

∂

∂w

(
huhv
hw

∂ϕ

∂w

)]
�>�?>%

�;�;�;� &�������

(�� 9��������� ��� &������� ��� /�����'�
��� �E(u, v, w) ����� ��� ��� ��� ��L������

�n · rot�E = lim
∆A→0

1
∆A

∮
∂A

�E d�s �>�?"%

��� ��� <���
 '*� ��� (����������� +������� <������� ��� <������� ��� H�
��'���� ��� 8��
�����������
� ��� �→ -

� >�>$%� ��� F���������� ��� rot �E �� <������� ��� )
����������
�� �n
����
�� ����� ����� ��� ��� 8������������
 
���� ��� <����� ∂A ��� )
���� ∆A *
�� ��� F�����
������ ��� �E �� <������� ��� 8������
������ d�s 
�
���� ����� ∆A ���������� ��� ���
��1
��� ���
&���+*
������ ∆A→ 0 ���'*�����

D� ������� )�

 +���� ��� ,����
�������� �n �� �ew�<�������� �� ��1 ��� '*� ��� 7��
���������
�� �>�?"% ��� ��� v�F��������� ��� rot�E 
�������� ����� ����
� ���� '*� ��� H�
��L������


dA︷ ︸︸ ︷
(hudu)(hwdw)(rot �E)v = Eu(u, v, w + dw)hu(u, v, w + dw)du �>�?B%

− Eu(u, v, w)hu(u, v, w)du
− Ew(u+ du, v, w)hw(u + du, v, w)dw
+ Ew(u, v, w)hw(u, v, w)dw

��� 9�
���� ��� ��A�������
4��������� ��� �����
��1���� �������� ����� dA = dsudsw 
��'��� '*�
��� v�F��������� ��� rot�E2

(rot�E)v =
1

huhw

(
∂(Euhu)
∂w

− ∂(Ewhw)
∂u

)
. �>�?C%



�;� *�	��
� #��
����������� ��

u

y A

A = n     A∆ ∆

v

w

-

�
���� >�>$2 )
����������
�������� �n�

����� +.�
������ /���������� ��� D���+�� ����
��� ��� ��� 
����� ������� F���������� ��� rot�E�
0�� �3���� rot�E ���� ���� �
� '����
� ��������
 �� )��� ����� ������������ +�������'�����2

rot�E =
1

huhvhw

∣∣∣∣∣∣∣∣∣
�eu �ev �ew

∂

∂u

∂

∂v

∂

∂w

huEu hvEv hwEw

∣∣∣∣∣∣∣∣∣
�>�??%

����# .����� /�!����� ,����������� �����

)*� ��� F�����������.������ ��� ��� �� �������� /��
��' ��� /��
����� 
����+�� ������� ��

��
�� '�
������ ��� ���� ��� ��� ������� -
������� ����
����� 9�+�������� ������
�� ������� 	�
�����
� ���� ��
�� �� ��� ������������ F����������� (.
���������������� ��� F���
������������

�;�;�;� A�	�����.�� A��	�������

)*� ����������� F���������� ���� ��� ���������W+������ ���*�
��� ����
��� ��������� +� 	���2
hu = hv = hw = 1 ��� ��� ����
��� ��� ��� 
������ 
�������� -����*���

gradϕ =
(
∂ϕ

∂x
,
∂ϕ

∂y
,
∂ϕ

∂z

)

div �D =
∂Dx

∂x
+
∂Dy

∂y
+
∂Dz

∂z

∆ϕ =
∂2ϕ

∂x2
+
∂2ϕ

∂y2
+
∂2ϕ

∂z2

rot�E =

∣∣∣∣∣∣∣∣∣
�ex �ey �ez

∂

∂x

∂

∂y

∂

∂z

Ex Ey Ez

∣∣∣∣∣∣∣∣∣
=

⎛
⎜⎜⎜⎜⎜⎜⎝

∂Ez
∂y
− ∂Ey

∂z
∂Ex
∂z
− ∂Ez

∂x
∂Ey
∂x
− ∂Ex

∂y

⎞
⎟⎟⎟⎟⎟⎟⎠



�� �
���	�������

�;�;�;� '1
����	���	�������

z

P

x

ϕ
r

z

y

-

�
���� >�"@2 (.
�����������������

E��� ��
�2

u = r
v = ϕ
w = z

⎫⎬
⎭ �>�?#%

x = r cosϕ
y = r sinϕ
z = z

⎫⎬
⎭ �>�?!%

������ ����
� ���� ��� ��� &
��������� �>�C@% ��� �>�C>% → -

� >�"@

hr =
√

cos2 ϕ+ sin2 ϕ = 1 �>�?$%

hϕ =
√
r2 sin2 ϕ+ r2 cos2 ϕ = r

hz = 1

)*� ��� ��A�������
��������'��� ��� grad� div ��� rot ����� ��� ∆�G������� ����
��� ���2

gradΦ =
(
∂

∂r
,
1
r

∂

∂ϕ
,
∂

∂z

)
Φ �>�#@%

=
∂Φ
∂r
�er +

1
r

∂Φ
∂ϕ

�eϕ +
∂Φ
∂z
�ez

div �D =
1
r

∂

∂r
rDr +

1
r

∂Dϕ

∂ϕ
+
∂Dz

∂z
�>�# %

∆Φ =
1
r

∂

∂r

(
r
∂Φ
∂r

)
+

1
r2
∂2Φ
∂ϕ2

+
∂2Φ
∂z2

�>�#>%

rot�E =
(

1
r

∂Ez
∂ϕ
− ∂Eϕ

∂z

)
�er +

(
∂Er
∂z
− ∂Ez

∂r

)
�eϕ +

(
1
r

∂(rEϕ)
∂r

− 1
r

∂Er
∂ϕ

)
�ez �>�#"%

6��.���B ��� 0����
 ϕ ��

�� ����� ��� ��� ��������
 ϕ ���������
� ������� ��� ��� 
����� ����
��� ϕ 
�+������� ��
��� 0� /�������
����� +� 
�'*������ ����� ������ ��� ����� ��� ��������

6����
� ����� ��� ������� 7.�
�
� ���� ��� Φ� ����+��������

�;�;�;� A
��
���	�������

E��� ��
�2



�;� *�	��
� #��
����������� ��

z

P

r

x

ϕ

Θ

y

-

�
���� >�" 2 F���
������������

u = r
v = θ
w = ϕ

⎫⎬
⎭ �>�#B%

x = r sin θ cosϕ
y = r sin θ sinϕ
z = r cos θ

⎫⎬
⎭ �>�#C%

)*� ��� ���������W+������ ����
� ����

hr =
√

sin2 θ cos2 ϕ+ sin2 θ sin2 ϕ+ cos2 θ = 1 �>�#?%

hθ =
√
r2 cos2 θ cos2 ϕ+ r2 cos2 θ sin2 ϕ+ r2 sin2 θ = r

hϕ =
√
r2 sin2 θ sin2 ϕ+ r2 sin2 θ cos2 ϕ = r sin θ

)*� ��� ��A�������
���������� ����
� ����

gradΦ =
(
∂

∂r
,
1
r

∂

∂θ
,

1
r sin θ

∂

∂ϕ

)
Φ �>�##%

div �D =
1
r2

∂

∂r
r2Dr +

1
r sin θ

∂

∂θ
sin(θ)Dθ +

1
r sin θ

∂

∂ϕ
Dϕ �>�#!%

∆Φ =
1
r2

∂

∂r

(
r2
∂Φ
∂r

)
+

1
r2 sin θ

∂

∂θ

(
sin θ

∂Φ
∂θ

)
+

1
r2 sin2 θ

∂2Φ
∂ϕ2

�>�#$%

rot�E =
1

r sin θ

(
∂

∂θ
(Eϕ sin θ)− ∂Eθ

∂ϕ

)
�er �>�!@%

+
1
r

(
1

sin θ
∂Er
∂ϕ
− ∂

∂r
(rEϕ)

)
�eθ

+
1
r

(
∂

∂r
(rEϕ)− ∂Er

∂θ

)
�eϕ

����$ .�����!������ ��� �������������!�
�� 0����������������1

��� '����
� 9�����
��� ��� 	
����������� 
����� ��' ��� �������� 
+�� 8��
����&
��������

�;�;�;� &���3�	��
���+�� ��	 4�������
����	��

D� ��� ������ ������������� ����� ��� �

�������� 83������ ����� )�
����

���� ������� ��� �
������
������������ )�
��� ��

�� '*� ��� ���+��

�� 5��
��
��� ��� <����� 
������� ������� ��� )�
���
�*���� ���� ����
��� <���
���������� ��'*

���



�2 �
���	�������

D� ��� ��������
������� ������ '�
����� 5.��� ��� <���������'��
�� �������������� ��� ����
6����
� ��' ��� 
�
��
�� ��'������ &�
��� G ��� ���� ���� ���
������� 
�
��
��� /�����
��� ���
<���
������� �(�r ) 
�+�����2

� ��� -�'��
� ∆ϕ = � �� &�
��� G ��� ϕ = ϕ1 ��' ��� <��� ∂G ���� �
� ����� <����
������'��
� ���� -�	�.�
���.�� &���3�	��
���+� 
�+�������� ��
�� ��� ϕ1 ���� ��' ���
<��� ∂G ��L������ )������� ��� �r�

� ��� -�'��
� ∆ϕ = � �� &�
��� G ��� ∂ϕ
∂n = ϕ2 ��' ��� <��� ∂G ���� �
� +����� <����

������'��
� ����  �
�����.�� &���3�	��
���+� 
�+�������� ��
�� ��� ϕ2 ���� ��'
��� <��� ∂G ��L������ )������� ��� �r� )*� ��� 83�
������ ������ -�'��
� ��1 ����∫
G

� dV =
∮
∂G

gradϕ2 dA ��'������ ������� ��
�� G = G ∪ ∂G ���� ����� 9�������� ��� ���

�� �������

��� )�
������ ��� ��� &��1����� D������
����+�

� ��� -�'��
� ∆ϕ = � �� &�
��� G ��� aϕ + b∂ϕ∂n = ϕ3 ��' ��� <��� ∂G ���� �
� ������
<���������'��
� ���� ,��������� 
+�������.��� &���3�	��
���+� 
�+�������� ��
��
���� a� b ��� ϕ3 ��' ��� <��� ∂G ��L������ )��������� ��� �r� ��� )��������� a ��� b
��
�� ���6����� 5������ ����� /���������� ������ ∂G ����
�� �� ����' ����� 5��
 ��� <�����
��� ϕ �������
�� ��� ��' ��� ������� ∂ϕ

∂n �

��� 83�������
��� G ���� ����� 
�
��
�� ���
� G
��=����� �� 
�
��
�� ����
�+������ 0���� 
��
����+� ����� 7���
���� <���
���������� ���� +������� �����
 ��.����
���� 
���*����� ��� ,���
�������� <���
�������� ���� �
�� ���� �
� 7.�������
�������� 
�� ����� �.����������� &��

��� ��������� ������ ��� ����� ���� ������������ &�*��� ��
��� &����������� &�*��� ��� ���
/�	�����.�� &���+�����
��� ��� '*� &�
���� ��� �������+���� �� ����� ���� �������� F������
��������������� 
����+� ������ �����

����� <���������'��
�� ���� ����� �������� ,�
��
���������� �+� 9� �� ��� <��� ∂G ���
&�
����� G% �

� ��������� 
3�
��� (�� 9����� ��� 	������������ ������ ��� =	����.��� ����5
�	�
���0� 
��3�����

�;�;�;� -�� =	����.��� �����	�
���0�

-������������ ��� ��� &��1���� D������
���+∫∫∫
V

div �A(�r ) dV =
∫∫

�

∂V

�A(�r ) d �A

���� /�
�����������
 *
�� ��� ��������+ ����� /�����'�
��� ��� �
���� ��� )
�1 ����� ��� �����
���
���� G
��=���� ��� /�
�����%�

,�� ���+�� ��� �A(�r ) = ψ(�r )gradϕ(�r ) ��� 
�
��
���� ���
���� )��������� ψ ��� ϕ� ��� 	���
���+�� ����
� ∫∫∫

V

div(ψgradϕ) dV =
∫∫∫

V

(ψdivgradϕ+ gradψ gradϕ) dV �>�! %

=

&��1
∫∫

�

V

ψgradϕd �A

∫∫∫
V

div(ϕgradψ) dV =
∫∫∫

V

(ϕdivgradψ + gradϕgradψ) dV �>�!>%

=

&��1
∫∫

�

V

ϕgradψ d �A



�;� *�	��
� #��
����������� ��

,�� ������ ������������ ���������
.������ 9�+�������� ��������+�2

div gradψ = ∆ψ ���
�� '*� ϕ

gradψ d �A = gradψ · �n dA = (gradψ)ndA =
∂ψ

∂n
dA ���
�� '*� ϕ

��� �>�! %� �>�!>% ����������� ��
��������� 	� ����
� ���� ����� ��� &��������� D������
���+�2

∫∫∫
V

(ψ∆ϕ− ϕ∆ψ) dV =
∫∫

�

∂V

(
ψ
∂ϕ

∂n
− ϕ∂ψ

∂n

)
dA �>�!"%

����� ���+�� ��� ψ = ϕ �� �>�! % ���� �>�!>% ����
� ���� ��� ������� &��������� D������
���+2

∫∫∫
V

(ϕ∆ϕ− (gradϕ)2) dV =
∫∫

�

∂V

ϕ
∂ϕ

∂n
dA �>�!B%

)�

� ψ ��� ϕ ��� ��� +��� ���� ����� ��� ����� /����

�� �
������� ������'����� ���� ��� &
���
������� ������������ ������ O8�����P% ��� �� ���� �A�������
���� ��1 ��� &��������� D������
���+�
������ ������� �
� /���

������������� ��� ������

�� D���������� ��' +��� 
+������ /����

�� �����

�;�;�;� -�	 �����
��������+�3���

0�� ������ ��� �� ��
� +��� 83������ ϕA ��� ϕB '*� ������ <0-� �� �� �� ��
��

∆ϕA(�r ) = −�(�r )
ε

sowie ∆ϕB(�r ) = −�(�r )
ε

��� ��� <9 ����� ��'*

�� 0�� ��L������ ��� ��A����+'�������

ϕ̃ = ϕA − ϕB.
)*� ����� ��
�

∆ϕ̃ = ∆ϕA −∆ϕB = 0,

���� ϕ̃ ���*�� ��� 8��
����&
�������� 0�������� ��� 6� ���� <0-

ϕ̃ = 0 bzw.
∂ϕ̃

∂n
= 0 ��' ∂G �
+�� 5��
�� 
�� ��� ����������� <0-%

,�� ������ ��� ��� &��������� D������
���+ �>�!B% ��' ϕ̃ �� ��� ����
���∫∫∫
V

(gradϕ̃)2 dV = 0.

�� (gradϕ̃)2 ����� ������������ ���� ��� ���� 6����� ��� �3�
���� ���� *
���



gradϕ̃ = 0 bzw. ϕ̃ = const.

��
�� -�' &���� ��� <���
���������� ��1 ����� *
���

 ϕ̃ = 0 ��
��� �� ������
������� ��� ��
���������� )�

� D� ,����������� )�

 ��� ϕ̃ 
�� ��' ���� '��� ���

���� ��.����
���� 6����� ���
������
���� F�������� 
�������� ��� 	�������������
����� '*� ��� )�

 ����� �� )�
� 
�L��
�����
8������ L���� ���� �� O8�����P�

9���� 	�������������
������ 
��'�� '����
 ������� ��' ��� ��� ��� &��������� D������
���+
�>�!B% '�
����� -������ ������� ��1 ��� ∆ϕ = 0 �� G ��� ϕ = 0 ��' ∂G ϕ *
���

 �� G 0 ����
��1� ���� ��� ���� 
����� +� ����������
������ ����2



�� �
���	�������

��� ���
��� )������� ϕ ���� �� ����� &�
��� G� �� ��� ∆ϕ = 0 ��
�� ����� ���
������� ���� ��� ������� ��
���

&�
� �� ���
��� ��� 	������� ��� ϕ �� ����� G�� P �� G� �� �*1��� �� ������ H���
��� �

�
8����� gradϕ +� ��� ���� 
+�����+������ 	��� ��� 	������� ����
��� �
���� )
���� ���� ����
��� ����� ����� ��������������� �
���������� )
�1 ������������� ��� ���� 6����� ��� �3�
����
���� ���� ���� <���
����� ��������� ��� ����� ∆ϕ �= 0 ����� ����� ��� 0���������� ���
����
D�� ��� �� ∂G ϕ = 0� �� ���� ϕ �� D����� ��� G �������� ��31�� ���� �
����� ����� �� � *
���


��1 ϕ = 0 ����� -����� '����
����2

D�� ��� ����� &�
��� ∆ϕ = 0� �� ���� ��� )������� ϕ ���� ������
�� ��� ������
��
0���� ��� �� <��� ��� &�
����� ���������

��� 	������������ ��� 83���� ��� ������
������

��� ��� ���� �������

��� )�
�� ������ 7��+���

�;�;�;� "���	�
�� 0
	 &�

� >�� 4������5 
�� #�/
�.�5=
��.�
�� �� ���  ��
	3��5
����.������

�������� ��� 8��
����&
��������� ������ ���� ���L� �� ��� ,��������������'��� ���� �� ��� ���
��������� 9�������
��� '*� ���
� ������������ ���

��� ����� ���� 
������� �
�� ����� ��1 ���
�
���

��� ��� ,��������������'��� ���� -��
���� ��� ��� 	
����������� ��'������� 	�� 9������

����'*� ���� ���������� 5������������

���� 	�� �������� �
��������� 9������
 ��� ��� ��.��� ���
��� ��
� �
��� �����������+��% -��
������ ����� ��' ����� <����� ���������� ���
���� �����
���� ����� ��� +�������������
� 8��
����&
�������(

∂

∂x2
+

∂

∂y2

)
ϕ = 0

��� '��� �������
���� ϕ ��' ��� <��� 
�������
���

�;�;�;� -�� -�	�.�.�� δ5*
������

��� δ�)������� ��� ����� )������� �� *

����� 7����� ������� ���� -���	�+
���� ����� ��������
��
��� )�������K �

��������� F
����%� 7�� ��� �� ���
�� )�

�� E�
'������
 ��� ��

 ����� ���� �����'*���
�������

0�� �3���� ��� ��� ��
���)������� �
� =	��03�	� ����	 *�
�� >�� *
�������� ������

���
���� ��� ��' ������������ 0���� �3�
���� +� 9 �
� &���+���� ����� )�
�� ��� &��1�)���������� D�
������ '�

 ��� �→ -

� >�">%

fa(x) =
1

a
√
π

exp
{
− (x− x′)2

a2

}
.

0�
��
+∞∫
∞

fa(x) dx = 1

���
δ(x− x′) = lim

a→0
fa(x).

-������
��� ���� ��� δ�)������� *

���������� �� 
�������
��� ��1 ��� *
���

 ��1�� '*� ��� -����
���� 0 ������������ ��� ���� �
�� �� ����� �����
��� ����� ��1 ��� D������
 ������  �����

δ(x− x′) =
{

0 '*� x �= x′

∞ '*� x = x′ �>�!C%



�;� *�	��
� #��
����������� ��

x = x ' x

f(x)

-

�
���� >�">2 -�������'������� '*� E��
������ ��� δ�)��������

+∞∫
−∞

δ(x− x′) dx = 1 �>�!?%

��� δ�)������� ��� ���� ����
����	
��� �
�� ��� ������ ���� �*�+
���� 7�� ��� ��� '����
� -��
����
+�� ��
��'�

� ����
��������% �����
�����2 0�� 
�������
�� ��� �����
����� '����
 ����� ����
8������������ �� ��� *
���

 ��1�� �� G�� ��� �����
����� ������������ ��� ���� �����
��� ����
E���+� �*���� ��� �

������ ��� �����*��
��� �������������
� δ�)������� ����

���������2

δ(�r − �r ′) = δ(x− x′)δ(y − y′)δ(z − z′) �>�!#%

)*� ��� �����
����� Q �� G�� �r ������
�� ��� ����

�(�r ) = Qδ(�r − �r ′).

��� D���������� *
�� ��� �������� <��� ����
�� ��� ��'�����
����∫∫∫
V

�(�r ) dV = Q.

-

������ ��
�2

+∞∫
−∞

f(x)δ(x − x′) dx = f(x′). �>�!!%

��� '�
�
���

∫∫∫
V

f(�r )δ(�r − �r′) dV = f(�r ′). �>�!$%

��� δ�)������� ��� �.���������2

δ(x− x′) = δ(−[x− x′]) = δ(x′ − x) �>�$@%
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7�� ��� ��A����+���
�� ��� ���������
��� D�� D������
 ��� ��� !��>������.�� �/	
���
������2

H(x− x′) =
{

0 '*� x < x′

1 '*� x > x′
�>�$ %

H�������� ����
� ��� -

������ ��� E���������)������� ������ ������ ��� δ�)��������
��� δ�)������� 
����+� �
� ��������� ��� ��� F��������� ����� -���������� �� �� +� 9� ��� ���

x−1 ���� x−3�

�;�;�;� 4
���
��
�� 
�� δ5*
������

)*� ��� <���
����� �� '����� <��� ��
� ��� ��������&
�������

∆ϕ = − �

ε0
=
Q

ε0
δ(�r − �r ′)

��� ��� 83����

ϕ(�r ) =
Q

4πε0
1

|�r − �r ′|
,��� 	�����+�� ��� F*�+�� ����
� ����

∆
1

|�r − �r ′| = −4πδ(�r − �r ′) �>�$>%

����� ��� &�
����� ��� δ�)������� 
������� ��� ��� ��� G�� ��� �����
����� ��

�� ����� ����
���+����
��1��� �� ��� ����� ����� 7�����
����� ��� ���� ����� 7����
������ ���� ���
����� ��
���
������� ���� ��A���+���
��� )��������

����� ��� δ�)������� 
�1� ���� ���� ��� <���������� ��� S
��
�������

ϕ(�r ) =
1

4πε0

∫∫∫
V

�(�r ′)
|�r − �r ′| dV

′

'*� ���� 
�
��
��� 8������������
��� �(�r ) '����
 
������� ������ +� 9� O8�����P%�

�;�;�;� -�� 4�������
 �� ����� +��	��0��� =�+���

,�� 
��������� ��� ��� ���
����� &�
��� �� <��� ��� ��� ���� �� ��� 
�L��
����� 8��������
7��+�� ��� �� &��������� 7��+ �>�!"% ψ = 1

|�r−�r ′| ��� ���
�� ϕ �
� 83���� ��� ∆ϕ = − �
ε0
� ��

����
� ���� ����� ��� -������ �r ′ �� D����� ��� V∫∫∫
V

(
∆ϕ
|�r − �r ′| − ϕ∆

1
|�r − �r ′|

)
dV =

∫∫
�

∂V

(
1

|�r − �r ′|
∂ϕ

∂n
− ϕ ∂

∂n

1
|�r − �r ′|

)
dA

=
∫∫∫

V

{
− �(�r )
ε0|�r − �r ′| + ϕ(�r )4πδ(�r − �r ′)

}
dV

= −
∫∫∫

V

�(�r )
ε0|�r − �r ′| dV + 4πϕ(�r ′)
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,��� ��� /��������� ��� �r ��� �r ′ ��� ��� H�'����� ����
� ���� ��� �
���� ��� ������� 7����
��� &��������� 7��+��

ϕ(�r ) =
1

4πε0

∫∫∫
V

�(�r ′)
|�r − �r ′| dV

′

︸ ︷︷ ︸
�

+
1
4π

∫∫
�

∂V

∂ϕ(�r ′)
∂n′

|�r − �r ′| dA
′

︸ ︷︷ ︸
�

− 1
4π

∫∫
�

∂V

ϕ(�r ′)
∂

∂n′
1

|�r − �r ′| dA
′

︸ ︷︷ ︸
�
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G
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�
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D� ��� &
������� �>�$"% ��� ��

����������
��� +� 
�������� ��1 ϕ ��� ∂ϕ
∂n �� <���� �
�� ���

G
��=���� ��� 
����������� &�
������ ����� ���
������ ����������� ����� ��� 0���� ��� ϕ ���
∂ϕ
∂n �� <��� �*���� �
�� ����������� �������
��� �����

��� &�������� )����
 �>�$"% ���� +�� -������������ ��� 83������������� ������� ����
���� ���� ����� ��� 
����� G
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'� ������� �����
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�
�������� ����� �>�$"% ���

� ���� �������� &����
��� '*� ���
.������ ��� ���������� �������� +��
83���� ��� <����������

���� ���� ���
�������� '*� ��� <����
�������������� 0������ �����
�
L���� ���� �� O8�����P�

����% ���� ���!�� 23�
�� ��� �������������!�
�� �� ��������!��� ,���)
������� 0����������������
1

9���� ��� ��� 83���� ��� ��������
�
������� �� (.
������ ��� F���
����������� 
������
�� 
��
������ ��� ��� ��� ���'������� )�

 :�����
������ ;���������
�� F���������� ��� ������������
F����������� -�1����� 
���������� ��� ��� �� 0������� +������� ��' ��� �������� ��������
�
�
�������� �
�� ��� 8��
����&
�������� ����� 
����� �� ������������ F����������

∆ϕ =
(
∂2

∂x2
+

∂2

∂y2
+

∂2

∂z2

)
ϕ = 0. �>�$B%

9�� ��� ������� ��� %�	��+
����/�	����� +�� 83���� ����� ������

�� ��A�������
�
������� ����
��������� ��� 83�����'������� �
� ������� ������� )��������� +� ������
��� ��� 6����
� �3�
�����
��� ���� ��� ����� ��� F���������� �
������� 0�� ������ �
�� '�
������ 4	��
�������0

ϕ(x, y, z) = f(x)g(y)h(z) �>�$C%

��� 	�����+�� �� �>�$B% 
��'���

∆ϕ =
∂2f

∂x2
gh+

∂2g

∂y2
fh+

∂2h

∂z2
fg = 0. �>�$?%

�������� !�� ��� '������� �� ��	����
�������� !�� ��� &*����� → ��������	 ����� ������	��� !�� +
���*����	�������
�������� !�� ��� &*�����→ ��������	 ����� ,�""�	������� (#-�� ������������#� ��	����� �	*����→��� ,�"�	��


�	���� �	*���)
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D���� �>�$?% ����� ϕ = fgh ��������� ����� ���� ��� ������
� 83���� ϕ ≡ 0 ��������
����� ������
��� �� ����
� ����

∆ϕ
ϕ

=
1
f

∂2f

∂x2
+

1
g

∂2g

∂y2
+

1
h

∂2h

∂z2
= 0 �>�$#%

��� �
+�
�������� )��������� ���� ��� ��� ��� 6����
���� /����

� �
������� �� ��1 ��� ��� ����
���

�� -

�������� ����� ����
� -

�������� �����+�� �3�����

∆ϕ
ϕ

=
1
f

d2f

dx2
+

1
g

d2g

dy2
+

1
h

d2h

dz2
= 0 �>�$!%

,�� ��
� �� +��� ����+����

� �3�
���������� &
������� �>�$!% +� ��'*

��2

 � 7���
���� +������ -

�������� ������������

d2f

dx2
=
d2g

dy2
=
d2h

dz2
= 0 �>�$$%

������ ���� ���� �����
��� D���������� ��� 83����

ϕ1(x, y, z) = (ax + bxx)(ay + byy)(az + bzz) �>� @@%

����
��

>� 7���
���� I��������� ��� +������ -

������ ��� ��� )������� ���� ��������2

1
f

d2f

dx2
= K2

x

1
g

d2g

dy2
= K2

y

1
h

d2h

dz2
= K2

z

⎫⎪⎪⎪⎪⎪⎪⎪⎪⎬
⎪⎪⎪⎪⎪⎪⎪⎪⎭

�>� @ %

��� F��������� Kx,Ky,Kz ������ �
� ��/�	���������������� 
�+�������� (��� ��� ����
F��������� ���� ��

�*�
��� ���

��� ������� ��� ������ �����

K2
x +K2

y +K2
z = 0 �>� @>%

'�����
��� ���� ��� 9�+������ �>� @>% ���� �
� ��/�	�������
��.�
�� 
�+�������� 0�� �3����
��� �>� @ % ��������
�� +�

f ′′(x) = K2
xf(x)

g′′(x) = K2
yg(y)

h′′(x) = −(K2
x +K2

y)h(z)
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sin(Ktt), cos(Ktt), e±jKtt︸ ︷︷ ︸
periodisch

, sinh(Kzz), cosh(Kzz), e±Kzz︸ ︷︷ ︸
nicht periodisch

mit t ∈ {x, y, z}
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ϕ2(x, y, z) = [ax cos(Kxx) + bx sin(Kxx)] �>� @B%

· [ay cos(Kyy) + by sin(Kyy)]
· [azeKzz + bze

−Kzz]
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�
8��
����&
������� �� ������� �������� 7.������ :<�����������; +� �3�����%
6���/��
B0�� 
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I���������� �→ -

� >�""% ��� '������� ��1 ϕ = 0 ��' ��� 0����� ��� <����� ��
��� ��

� �� X��
'*� z ≥ 02

ϕ(x, y, z) = ϕ(a, y, z) = 0 0 ≤ y ≤ b
ϕ(x, 0, z) = ϕ(x, b, z) = 0 0 ≤ x ≤ a.

D� ��� 	
��� z = 0 ��� ��� ��������
 *
�� ��� <���4���������� �������
��

ϕ(x, y, 0) = V (x, y) 0 ≤ x ≤ a, 0 ≤ y ≤ b.
&������ ��� ���� 83����� ��� '*� z →∞ �������������

	
�������
3������� ��� ��� <���
���������� 
�� z = 0 ��� y = 0 ���*���� ���� sinKxx ���
sinKyy� H� ��� <���
���������� 
�� �R� ��� .R
 +� ��'*

��� ��1 sinKxa = 0 ��� sinKyb = 0
��'*

� ����� ��� ��
� '*�

Kx =
mπ

a
m = 1, 2, 3, . . . �>� @C%

Ky =
nπ

b
n = 1, 2, 3, . . . �>� @?%

	� ���� �
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��� ��� ��� e−Kzz ��� ��'���
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��� '*� z →∞� 0���� K2
z = K2

x +K2
y ���� ���� Kz ��� �������� 0���� ���������

���
���

K(mn)
z =

√(mπ
a

)2

+
(nπ
b

)2

�>� @#%
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� 83����� ��� ��� <���
���������� �� ��� <��������� ��'*

� ��� ��� ��'�������
/����
��� '*� z →∞ ��'������ ��� ����� ��� ��� )���

ϕmn(x, y, z) = Amn sin
mπx

a
sin

nπy

b
e−K

(mn)
z z �>� @!%

��
�� n ��� m �������� ���+� (��
�� ����� ���� ���

� ����� 9����������� ��� -

���������� ����
�� �������� 0���� ��' ��� �����.����������� 7����'������� +�� ��

�� 	���
��� '*�����

0�� ����
��� ��� 83���� ����� S
��
�������2

ϕ(x, y, z) =
∞∑

n,m=1

Amn sin
mπx

a
sin

nπy

b
e−K

(mn)
z z

�>� @$%

�� ��� 83���� ��� �>� @$% ��� <���
���������� 
�� z = 0 ��'*

�� ��1� 
�������� ��� ���
F��W+������ Amn ��� ��1

V (x, y) = ϕ(x, y, 0) =
∞∑

m,n=1

Amn sin
mπx

a
sin

nπy

b
�>�  @%

��
�� ��� 
������� ������ �������� �
� ��1 ��� V �� ���� +�������������
� *�
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�����
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������� ������ �� ����� )�������<���� 7����� ��� ��������5���� ��'� ���� ����� ���� ��
����� D������

 �������
���� ���� ���������� ��������
���� )������� ��������
� ����� D� 7��+��
'�


����� +�� �����
����� ��� D������

� �.����������� 
+�� �����.����������� )������� ������ ���
��� �������� 
+��7�����5���� ��'� 0�� 
���� ��� ��� D������

� −a ≤ x ≤ a ��� −b ≤ y ≤ b �����
0 ≤ x ≤ a� 0 ≤ y ≤ b +�������� ���� ��� �3���� ��� ��� +� ��������
��� )������� ���������� ���
�����.��������� �� D������

 ������

�� ��� ��������������� ��������
��

(�� 9��������� ��� F��W+������ Amn 
����+�� ��� ��� ���������� C	�������
�����	�
�5
�������

a∫
0

sin
mπx

a
sin

m̃πx

a
dx =

a

2
δmm̃ m, m̃ ≥ 1

b∫
0

sin
nπy

b
sin

ñπy

b
dy =

b

2
δnñ n, ñ ≥ 1

⎫⎪⎪⎪⎪⎪⎪⎬
⎪⎪⎪⎪⎪⎪⎭

�>�   %

δnm ��� ��� ���������� A	���.��	5�1�+�
2

δnm =
{

1 '*� n = m
0 '*� n �= m
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0�� ��
���
�+����� �>�  @% ��� sin m̃πx
a sin ñπy

b ��� ����������� �����
��1��� *
�� x ��� y�

b∫
0

a∫
0

V (x, y) sin
m̃πx

a
sin

ñπy

b
dxdy

=

a∫
0

a∫
0

[ ∞∑
m=1

∞∑
n=1

Amn sin
mπx

a
sin

nπy

b

]
sin

m̃πx

a
sin

ñπy

b
dxdy

=
∞∑
m=1

∞∑
n=1

Amn

a∫
0

sin
mπx

a
sin

m̃πx

a
dx

b∫
0

sin
nπy

b
sin

ñπy

b
dy

=
∞∑
m=1

∞∑
n=1

Amn
a

2
δmm̃

b

2
δnñ

=
ab

4
Am̃ñ

����� 
�������� ���� ��� F��W+������ Amn ����12

Amn =
4
ab

b∫
0

a∫
0

V (x, y) sin
mπx

a
sin

nπy

b
dxdy �>�  >%
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��� ��� '*� ��� 8��
����&
������� �� (.
����������������2

∆Φ =
1
r

∂

∂r

(
r
∂Φ
∂r

)
+

1
r2
∂2Φ
∂ϕ2

+
∂2Φ
∂z2

= 0 �>�  "%

-��
�� +�� /������� �� ������������ F���������� ������ ��� ��� ������������+

Φ(r, ϕ, z) = f(r)g(ϕ)h(z) �>�  B%

,��� ��� 	�����+�� �� �>�  "% ��� ��� ���������� ����� fgh ����
��� ���

1
f

(
d2f

dr2
+

1
r

df

dr

)
+

1
r2

1
g

d2g

dϕ2
+

1
h

d2h

dz2
= 0 �>�  C%

0������� ��
� �� +��� ����+����

� �3�
���������� ����� &
������� +� ��'*

��2

 � ��� +������ -

�������� ��� g ��� h ����� ��� 
����� -

������������ ��� f ������������2

1
h

d2h

dz2
= 0 =⇒ h(z) =

{
z
1

}
= azz + bz �>�  ?%

1
g

d2g

dϕ2
= 0 =⇒ g(ϕ) =

{
ϕ
1

}
= aϕϕ+ bϕ �>�  #%
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'������� �� (.
���������������� ��1 2π����������� ����� ������ '�
��2

g(ϕ+ 2π) = g(ϕ) =⇒ g(ϕ) =
{

0
1

}
= bϕ = const. �>�  !%

-
� ������ &
������� ����
� ����
d2f

dr2
+

1
r

df

dr
= 0 �>�  $%

��� 7�
��������� u = df
dr ���3�
���� ��� 83���� ��� �&8 �>�  $% ����� /����

�������������

du

dr
= −1

r
u

lnu = − ln r + ln ar
=⇒ u =

ar
r

=⇒ f = ar(ln r + ln br)
f = ar(ln brr) ��� ar� br = ������ �>� >@%

������ '�
�� '*� ��� ����� ���+��

� 83����

Φ1(r, ϕ, z) = ar ln(brr)(bϕ)(bz + azz) �>� > %

>� ��� ��� ��� ����� )������� �
�������� 5���� ���� ��������2

1
h

d2h

dz2
= −K2

z =⇒ h(z) =
{
e±iKzz

}
�>� >>%

1
g

d2g

dϕ2
= −K2

ϕ =⇒ g(ϕ) =
{
e±iKϕϕ

}
�>� >"%

0����� �*���� ��� 2π��������+��� '*� g(ϕ) '������2

e±iKϕϕ != e±iKϕ(ϕ+2π) = e±iKϕϕe±iKϕ2π

=⇒ e±iKϕ2π != 1
=⇒ Kϕ = m m ∈ Z

=⇒ g(ϕ) = {e±imϕ} m ∈ Z �>� >B%

��� 	�����+�� ��� �>� >>% ��� �>� >B% �� ��� �����*��
���� �&8 �>�  C% 
��'��� ��� ������
9�����������
�������

1
f

d2f

dr2
+

1
f

1
r

df

dr
− m2

r2
−K2

z = 0 �>� >C%

����� ��� 	��'*���� ����� ����� /����

��

u = Kr �>� >?%

����
��� ��� ��� �>� >C% ����� ��� 9��������

K2 +K2
z = 0 �>� >#%
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1
f

d2f

du2
+

1
uf

df

du
+ 1− m2

u2
= 0 �>� >!%
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��������� ��� ��' ������������ -�� �����
� ����
��� �3����� �3�
���� 5��

3������ ���� ������

fm(kmr) = Zm(kmr)

= C1Jm(kmr) + C2Nm(kmr) �>� >$%

= C3H
(1)
m (kmr) + C4H

(2)
m (kmr)

����� ����

Jm 2 (.
�����'�������  �-�� ���� 6����
�.�� *
������
Nm 2 (.
�����'������� >�-�� ����  �
�����.�� *
������
H

(1)
m 2 (.
�����'������� "�-�� ���� !����
�.�� *
������ �;"	�

H
(2)
m 2 (.
�����'������� B�-�� ���� !����
�.�� *
������ �;"	�

��� ��������� m ��
� ��� G������ ���

/��
 0������������ *
�� ��� (.
�����'��������� L���� ���� �� ��� )����
����
������ ���
+� 9 O7������� 8������� ��� E3����� ����������K 0������ - 5������� �� ��� 5����. �'
9����
 )�������P� -

� (.
�����'��������� 
����� ��
�

���� ����

��� 9����
���� )������� ��� ����
�� �
� ���� �����+����� ������ ���� O9
���P%� )*� ����
�
���� 0���� x� 1 �����
� ��� ���� ��� xm2

Jm(x) ≈
(x

2

)m 1
m!

'*� |x| � 1 �>� "@%

��� ,���������� )������� ��� ����� &���+����
�
���� *
�� ����� -������� ��� 9����
�
'��������� ��L������ 7�� 
�1� ���� ���� �
� <������������
��� ������
��� ����� ��� �
��
������
��� ����
�+������ �
� 
�� ��� 9����
����� )������� ��� ���������� '*� ���� �
���� -��
�������2

Nm(x) ≈ − (m− 1)!
π

(
2
x

)m
'*� |x| � 1 ��� m = 1, 2, 3, . . . �>� " %

N0(x) ≈ 2
π

ln
γx

2
≈ 2
π

lnx '*� |x| � 1 ��� γ ≈ 1.781 �>� ">%

(�� /��
��' ��� )��������� ����� O8�����P 7����  #@� )*� ���� ���1� -�������� �����
���
���� ��� (.
�����'���������  �-�� �� ������
����� ��� ������'�� 0����
'���������� 	�����
�������� 9�+�������� '*� (.
�����'���������  � ��� >�-�� ����� O8�����P 7����  #>�

)*� ��� ��������
 ����
� ���� ����2

Φ2(r, ϕ, z) =
+∞∑

m=−∞
dmZm(kmr)eimϕeikzz

�>� ""%

��� ��� 7����������
�������� ���� �>� >#%

kz = ±ikm �>� "B%
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εA

E0
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B
εB
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����� 83������ Φ1 ��� Φ2 
��'��� ��� �

������� #��
�� ��	
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�.�5=
��.�
�� �� '1
����	���	��������

Φ(r, ϕ, z) = (a ln(kr))(b + cz) +
+∞∑

m=−∞
dmZm(kmr)eimϕeikzz

�>� "C%

��� F�������� a �� �>� "C% ���������� ��� ������� ��� ar ��' bϕ ��� �>� > %�
�/�0��
��

 kz = 0B )*� ��� )�

 kz = 0 ���� ��� &
������� �>� >C% ��� ��� -����+
f(r) = {r±m} ��
3�� �������

=⇒ Φ(r, ϕ, z) = (a ln(kr))(b + cz) + {r±m}{e±jmϕ} �>� "?%
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�

�E = E0�ey
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������
(� 
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D� �����
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����� ��� ��� 7�3���� ���� ��� ��
����=�1��� ��������� )�
� �����
������ ������ ��� ���� ��
��� ��� <���
����������

Ex|x→∞ = Er cosϕ− Eϕ sinϕ = 0 �>� "#%

Ey|y→∞ = Er sinϕ+ Eϕ cosϕ = E �>� "!%

-�� ������������� &�*���� ���� ��� 83���� ����� -
���������� �� +�<������� ��'������� ���
��� 83����������+ ���� &
������� �>� "?% ��� m = mA ����
��� ���

Φ(r, ϕ, z) = a ln(Kr) + {r±mA}{e±jmAϕ} �>� "$%

��
�� c = 0 �����+� ����� ��� ��� F�������� b �� a ��������+���� ������
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 � D� <������
 A� ��� ���
���������� (.
������ ��� 0 ≤ r ≤ R1 ��� ��� <���
�������� ���+��

����� ��1 E(A)

r '*� r → 0 ���
��� 

��
�� ���� '*��� �����

E(A)
r = −∂Φ(A)

∂r

= −a
r
− {(±mA)r±mA−1}{e±imAϕ} �>� B@%

��+�� ��1 a = 0 ��� ��� ���++��
��� 	������� ��� r ������� ���� ��1�

)*� ��� ��������
 �� (.
����� ����
��� ��� �����

 ��� �>� "$%

Φ(A) = −rmA(C1 sin(mAϕ) + C2 cos(mAϕ)) �>� B %

�����

E(A)
r = mAr

mA−1(C1 sin(mAϕ) + C2 cos(mAϕ)) �>� B>%

E(A)
ϕ = −1

r

∂Φ
∂ϕ

= mAr
mA−1(C1 cos(mAϕ)− C2 sin(mAϕ)) �>� B"%

>� D� <������
 B� ��� -�1������� ��� r > R1 ��
� ���� �>� "$% ���m = mB '*� ��� ��������


Φ(B) = a ln(Kr) + (brmB + cr−mB )
{

sin
cos mBϕ

}
�>� BB%

������ '�
��

E(B)
r = −a

r
+ (−bmBr

mB−1 + cmBr
−mb−1)

{
sin
cos mBϕ

}
�>� BC%

E(B)
ϕ = −mB(brmb−1 + cr−mB−1)

{
sin
cos mBϕ

}
�>� B?%

,�� ��
����� ��� ��� <���
�������� ���� ��1 
���� )�
������������ '*� �

� ϕ 
�� r →∞
��� 0��� ��� �����*��
����� ������3���� )�
��� ��������� �
��

Er|r→∞ = E0 sinϕ
Eϕ|r→∞ = E0 cosϕ

7� ����
��� ���

mB = 1
b = −E0

Φ(B) = a ln(Kr) +
(
−E0r +

c

r

)
sinϕ �>� B#%

��� ��� )�
������������ �� <������
 B ������
�� ���� ���� �
�

E(B)
r = −a

r
+
(
E0 +

c

r2

)
sinϕ �>� B!%

E(B)
ϕ =

(
E0 − c

r2

)
cosϕ �>� B$%

"� (�� 9��������� ��� *
����� F��������� ��
����� ��� ��� 7����������
���������� 
�� r = R1

���2



�� �
���	�������

��% 7����������
���������� ��� ���������
�� �E�)�
���2

-��

E(A)
ϕ (r = R1) = E(B)

ϕ (r = R1)

���
� ����

mAR
mA−1
1 (C1 cos(mAϕ)− C2 sin(mAϕ)) =

(
E0 − c

R2
1

)
cosϕ

=⇒

⎧⎪⎨
⎪⎩

mA = 1
C1 = E0 − c

R2
1

C2 = 0

�
% 7����������
���������� ��� �����
�� �D�)�
���2

-��

D(A)
r (r = R1) = D(B)

r (r = R1)

����
� ����

εA

(
E0 − c

R2
1

)
sinϕ = εB

[
− a

R1
+
(
E0 +

c

R2
1

)
sinϕ

]

=⇒
⎧⎨
⎩

a = 0

c =
E0(εA − εB)
εA + εB

R2
1

,��� ��� 	�����+�� ��� C1 ��� C2 �� �>� B %��>� B"% ����� ��� a ��� c �� �>� B#%��>� B$%
����
��� ��� ��� mA = 1 ��� '�
����� 	���
���2 D� <������
 A ��
�

Φ(A) = −rE0 sinϕ
(

2εB
εA + εB

)
�>� C@%

E(A)
r = E0 sinϕ

(
2εB

εA + εB

)
�>� C %

E(A)
ϕ = E0 cosϕ

(
2εB

εA + εB

)
�>� C>%

�� <������
 B ��
�

Φ(B) = −rE0 sinϕ
(

1− R2
1

r2
εA − εB
εA + εB

)
�>� C"%

E(B)
r = E0 sinϕ

(
1 +

R2
1

r2
εA − εB
εA + εB

)
�>� CB%

E(B)
ϕ = E0 cosϕ

(
1− R2

1

r2
εA − εB
εA + εB

)
�>� CC%

D� )�

 εA > εB ��� ��� )�
� �������

 ��� (.
������ ����� �
����� �
� ��1����

� �������
��� 
����+� ��� ���� .�F��������� �→ -

� >�"C%�



�;� ���	��� �� �
���	�������.��� *�
� ��

X

Y

+

-

�
���� >�"C2 ���
���������� (.
����� �εA = 3% �� �����*��
��� ��������� )�
��

����6 ���������� 23�
�� ��� �������������!�
�� �� ,
��������������

,��� �>�#$% ����
��� ��� '*� ��� 8��
����&
������� �� F���
�����������

∆Φ(r, θ, ϕ) =
1
r2

∂

∂r

(
r2
∂Φ
∂r

)
+

1
r2 sin θ

∂

∂θ

(
sin θ

∂Φ
∂θ

)
+

1
r2 sin θ

∂2

∂ϕ2
�>� C?%

��� 9�����

����� ������������+ 
����� ��
��

Φ(r, θ, ϕ) = f(r)g(θ)h(ϕ) �>� C#%

	�����+�� �� �>� C?% '*��� ����
��� ��� 
�� ��� (.
����������������% ��' ���+��

� )���������� ���
����������� #�����	�H�.��� A
��
�
��������� 0�� ������ ���� ����� ����� ����' ���������

9��������� ��� ��� �/�0��
��

 ∂
∂ϕ = ∂

∂θ = 0� �� ������'���� ���� �>� C?% +�

∆Φ(r) =
1
r2

∂

∂r

(
r2
∂Φ
∂r

)
= 0 �>� C!%

Φ(r) = a+
b

r
�>� C$%

�E = − b

r2
�er �>� ?@%

�� �� �� ������ )�

 ��� ��� �
��������� )�
������� 
����
��� ���� �����
� F����������

��� ������� �� ���
�������������  ���

D� -
������� >� �> ������ ��� '*� ��� ��������

� 	������ ����� �����
����� Q �� ����� �
������
���������� ��������
'�
� ϕ(�r ) ��� 9�+������

We(�r ) = Qϕ(�r )



�� �
���	�������

��'������
0�� 
��������� ��� +��� �����
������� Qi ��� Qj �� ��� G���� �ri ��� �rj � ��� ��������


��� Qi �� �ri 
������

ϕ(�ri) =
1

4πε0
Qi
|�r − �ri| .

H� Qj ��� ��� H����
����� �� ��� G�� �rj +� 
������� ��� ��+� ��� -�
���

Wij =
QiQj

4πε0|�rj − �ri| �>� ? %

��'+�
������� 9������ ��� ���� ������� 8����� Qk �� ��� G�� �rk� �� ��� +������� ��� -�
���
Wik +Wjk ��'+�
�������

����� /���

����������� ����
��� ��� '*�  4
���
��
���� ��� ������� ������������ 	����
��� +�

We =
1
2

N∑
i,j=1;i�=j

Wij �>� ?>%

��� )����� 1
2 ��� �3���� ����� �

� 9������� ��� �����
 ��+��
� ������� )����� ��� i = j ���������

���� �� |�rj − �ri| = 0 +� ����� �����
����� 9������ '*���� �*����
)*� ��� )�

 ����� 	�
�
�.��� #��
���>�	���

�� ����
��� ��� +�������

We =
1
2

1
4πε0

∫∫∫
V

∫∫∫
V

�(�r )dV �(�ri)dVi
|�r − �ri| �>� ?"%

�������� ��1 ��� ��� �����
������� ����� ��L��������
� 8�������
������ �(�r )dV �����+�� ���
���� D���������� *
�� ��� 
��������'*

�� &�
��� V ���'*�����

&���1 �>�$% �� -
������� >� �"�" ��� ��� ��������
 ����� <���
������������
��� ����
�� �����
��� ���
��
�������


ϕ(�r ) =
1

4πε0

∫∫∫
V

�(�ri)
|�r − �ri| dVi.

����� ����
��� ��� '*� ��� ��������

� 	������ ����� <���
������������������
���

We =
1
2

∫∫∫
V

�(�r )ϕ(�r ) dV
�>� ?B%

��� div �D = �� ��� "������

����� &
�������� ����
� ����

We =
1
2

∫∫∫
V

ϕ(�r )div �D dV �>� ?C%

0����
div( �Dϕ) = �D · gradϕ+ ϕdiv �D

'�
��

We = −1
2

∫∫∫
V

�D · gradϕdV +
1
2

∫∫∫
V

div( �Dϕ) dV

�

=
1
2

∫∫∫
V

�E · �D dV +
1
2

∫ ∫
∂V

ϕ�D · d �A
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9�� ��� 9���������� ��� ���+�� <���� ��� ��� G
��=���� ��� H����
���� ���*���� �� ϕ ≡ 0 ����
��� �� ����
� ����

We =
1
2

∫∫∫
V

�E · �D dV
�>� ??%

�>� ??% ��� ��� /�
�����������
 *
�� ��� �
���	�������.�� ���	�����.���2

we =
dWe

dV
=

1
2
�E · �D

[
VAs
m3

]
�>� ?#%

��#�� .������������
�� ����� �������������������

��� 
�������� > ���
������ �����
��� ����������� �
������ ��� ����
 ��� ����� ��1���� 7���������
4��

� ��'��
���� ������ �→ -

� >�"?%� -�1����

 ��� �
����� ���� ��� ����
�� D��
���� �����

EA 1

+ Q

x
Q

F

EA 2

d

-

�
���� >�"?2 (��� ���
������ �����
��� ����������� �
������

������� �� ��1 ��� �������������+� ������������ �
�� �
���� ���1�� 8������� ��' ��� �
�����
+���
��� �������� 

��
���
*	���B 0�� ����� ���� ��� /�������
��� ����� 	
������� ��' ��� �� �
���������� )�
� �������

������ 	������ ���Y
-������2 -�' ��� ���� �
���� ����� ��� F��'� �F �� ��<�������� ������� ���� ����� �
���� ���

����� &�����
������� �� ��� -
����� d ���'�����
��+� ��� ��� -�
���

WA =

d∫
0

�F · d�x �>� ?!%

����������
7�� ��� �EA1 ��� ��' �
����  ��� ��� 8����� +Q ����������'��� �
��������� )�
�� ���� ����
�

���� �� G�� ��� 
������� �
���� > ���� ���
��
���'�

�FC = −Q�EA1 ,

��� �� '*� ���� 9������� ������ +� *
�������� ��
��
��� �F = −�FC ����
��� ��� ����

WA = Q

d∫
0

�EA1 · d�x �>� ?$%

���� �E = −gradϕ ��� .�������� �������	���#
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��� �
��������� )�
� �� �EA1 ��� �
����  ����
� ���� ��� ��� ������� �����

����� &
������� ��
D������
'��� ∫∫

�

∂V

�D(�r ) · d �A =
∫∫∫

V

�(�r ) dV

⇐⇒ DA1 · 2A = Q �>� #@%

mit �DA1 = ε �EA1 �>� # %

zu �EA1 =
Q

2εA
�ex '*� x > 0 �>� #>%

����� ����
� ���� '*� ��� +�� -����������+����� +� 
�������� -�
���

WA =
Q2

2εA
d. �>� #"%

��� ��1����

 ��� �
����� ������������ )�
�������� ��� ����1 �>� ??%

We =
1
2

∫∫∫
V

�E · �D dV =
1
2

∫∫∫
V

εE2 dV �>� #B%

��� )�
� �E ���+� ���� ��� ��� 7������������ ��� )�
��� �EA1 ��� �EA2 +�������� ��� +������� ���
�
����� �����
� �� ���1 ��� ��� 	��+�
'�
� �EA1 ��� ������������ ��1����

 ��� �
������ �� ����
�EA1 ��� �EA2 �������������+� �
���� ��������� ����

We =
1
2

∫∫∫
V

ε(2EA1)
2dV �>� #C%

=
Q2

2εA
d �>� #?%

��� +�� -�'
�� ��� �
����������������� ��'��������� -�
��� ���������� �
�� ������ ��� �� �
���
�������������� ������������� )�
��������� ����� ���� +� 9� 
�� ����� 	��
����� ��� F�����������
�������������� ������� ��� 
������ ��� -��
���� +�� ��������

�� 	������ �� ����� ����������
)�����

����� ��� ��+����� ��1 �� 6���� ������ ��� ���	����	��
�
��

We = WA �>� ##%

��
��

��" #�$�%��&� �� �����������'����

9�� -�
���� ����� 7������� U �� ����� F���������� ������ ��� 
����� ����������� ���
������
����

�
�������� ��� 8����� Q ��'� ��
�� ��� ��� 8����� ��� 	
�������� ����1

Q = CU �>� #!%

�����������
 +�� 7������� +������� ��� 	
��������� ��� �����������
����'����� C ��� ��� A�/�5
0���� ��� F������������

��� F���+�����
����A ��

 ��� ����������� ������� 0�� 
��������� ��� n 	
�������� �� <���
��� ���������� ε� ��� ��������
 ��� 	
�������� ��� 6����
� 
�������

&������ ��� ��� 8����� ��' ��� ���+�
��� 8�������
0�� 
��������� '�
������ 9������
 �→ -

� >�"#%� ��� &�����'�
� ����
� ���� ��� ��� S
��
��

������2
�E = �E1 + �E2 + �E3 + �E4



�;� A�/�0���� �� ���	
����	�1���� ��

ε = cons t . U1

1

U U32

32

U4

4

-

�
���� >�"#2 /��� ������������ 	
�������� �� <����

��� H������ ��� 	��+�
'�
��� �Ei ���� ��� ��������� 8������� Qi�
&���1 ��� "������

����� &
������� �3���� ��� Q1 �������
�� ����� ��� ��� /�������
�����

=�1 ����� ���� �����
������ ��� ��� 8�����  �����
��1���� E*

=���� ∂V �������
�2

Q1 =
∫∫

�

∂V

�D · d �A = ε

∫∫
�

∂V

( �E1 + �E2 + �E3 + �E4) · d �A

= ε

⎛
⎝∫∫�
∂V

�E1 · d �A+ · · ·+
∫∫

�

∂V

�E4 · d �A
⎞
⎠

= Q11 +Q12 +Q13 +Q14 �>� #$%

-��
�� +� �>� #!% '*���� ��� Z5��
����+������Z Cij ��� ���

Qij = CijUj �>� !@%

��
�� Cij +��
����1�� ��� 8����� �� Z-�Z ��� 8������ i '*� ��� )�

 
�������� ��1 ��� 7�������
��� 8������ j ������  / ���� ������� �

� ������� 8����� ������ ��� 7������� ,�

 
����+���

�>� #$% �3���� ��� ��� ���� ������
�� �
�

Q1 = C11U1 + C12U2 + C13U3 + C14U4 �>� ! %

0��� ��� ���� '*� �

� 	
�������� �����'*���� ��� ����

���������� �� 
�1� ���� ��� 	���
��� ��
)��� ����� 
������� &
���������.����� ����
��2⎛

⎜⎜⎜⎝
Q1

Q2

���
Qn

⎞
⎟⎟⎟⎠ =

⎛
⎜⎜⎜⎝

C11 · · · C1n

C12 · · · C2n

���
���

Cn1 · · · Cnn

⎞
⎟⎟⎟⎠ ·
⎛
⎜⎜⎜⎝

U1

U2

���
Un

⎞
⎟⎟⎟⎠ �>� !>%

���� ���+
�q = C · �u, �>� !"%

��
�� ��� 5��
����+������ Cij ����� A�/�0��������	�< C +���������'�1� �����
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� +������
������� ����������� )�
���

� ����
����'�

� /������������ ��� &
�������3���

��<3�

�.�� =
��.�
���� �� ��������	�� *�

B

	
����������� �������������

rot�E = −∂
�B

∂t︸ ︷︷ ︸
=0

rot�E = �0

rot �H =
∂ �D

∂t︸︷︷︸
=0

+ �J rot �H = �JE

div �D = � div �D = �

div �B = 0 div �B = 0

���������������� )�
��� ���������� +� 9� ������ ��� ��1����

 �
��������������=������� 8�����
�+� 9� 7��
��% ����� �� ��� H���
��� ��� �������������� ��� �����

����� &
��������� 
���
��� �� ������ )�

2

rot �H(�r ) = �J(�r )

div �B(�r ) = 0

⇐⇒

∮
∂A

�H(�r ) · d�s =
∫∫
A

�J(�r ) · d �A �"� %

∫∫
�

∂V

�B(�r ) · d �A = 0 �"�>%

�"� %2 0��
�
������ ��� ��+�������� &
���������� 
+�� ��� ��+� �4����
����� 
�������
�
���������� 8�������

�"�>%2 I��

��'������� ��� ������������ )�
���K ,�����	������+ ������������ 8�������

�������
�
�������
�B(�r ) = µ(�r ) �H(�r ) �"�"%

0�� �� ��� 	
����������� ������ ��� ���������� ��� 7.���� ��� > ��A�������
�
��������� �"� %
��� �"�>% ����� ����� ���������� ��������
�����+ �� ���� ��A�������
�
������� +� *
��'*�����
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 ������� ��� ��� )�
� ��� E�
'� ����� ���
���� ��������
� �����*����� ����
��� ����� ��� 0��
�
'������� ��� �
��������������� )�
��� �rot �E = 0% �3�
���� �� ��� �����������
������ )�
� �� �

�������� ����� ���
�
'��� ���� ������� ��� ����� &
��������� ��+���� ���� �����
������� ������ -����+� 	� +���� ���� �
��� ��1 ��� ���� ������ E�
'�'������� L���� �3����� ��� ���
��������+�
������� ����������� ��'*
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div �B = 0

��� I��

��'������� ��� ����������� D�������� �B ��
��
� ��� ������

��� �
� <������� �0��
�
%
����� %����	/�������
� �A2

�B(�r ) = rot �A(�r ), �"�B%

���� '*� ��� 
�
��
���� /�����'�
� �X(�r ) ��
� ����� div rot �X(�r ) = 0� �A ���� �
� ��������.���
%����	/�������
 
�+�������� ���� ��� ���
�������� ���� �� �����'*������� &�
����� ������
���
�� ��1 ��� ������ E�
'� ��� ������'�
��� ����
���� -��������� ��� 7��3��� 
�������
�� �����

,�� ��

 ��� 9�����������
������� '*� ��� /�������������
 �A(�r ) �����
����� ������� D� �����

�������� ��������� �������
 ��
� ��� �������
�
������� �"�"%� ��� 	�����+�� ��� �"�"% ��� �"�B% ��
��� �����

����� &
��������� �"� % 
��'���

rot
[

1
µ(�r )

rot �A(�r )
]

= �J(�r ). �"�C%

���� ��� ��� �

������� %����	��@�	�����
�
��.�
�� ��	 ��������������
)*� ��� ��������� ����
� ��� ��� ������
�
���� µ �������
������ ��� �"�C% ������'����

���� +�
rot rot �A(�r ) = µ �J(�r ). �"�?%

9���� ��� ��� ������ ��������� ��� '�
������ +� 
�������� J��
��� ��� �� �
��������������� )�
� ���
-������� ����� F��������� +�� ��������
'������� ��' ��� �
����� �
��������� )�
� '*���� ��� ��� ���
�������������� )�
� ��� 
�� ��' ��� -������� ��� &��������� ����� 7��
��'�
��� +�� /�������������

��������� 
�������� ���

�A∗(�r ) = �A(�r )− gradψ(�r ) �"�#%

������
� ���� �"�?% ���� �
�

rot rot[ �A∗(�r ) + gradψ(�r )] = rot rot �A∗(�r ) = µ �J(�r ), �"�!%

���
 ��� E�����������������
���� ��� ��A�������
���������� ��� ��� ���� ����� ,�

 ����
�2
rot gradf ≡ 0� 	�� ��� �����

� /�����'�
� �B ��� �
�� ����� �����
��� ������������ /��������
������
� �A ������


��� ����� �3���� ��� +����+
���� 9���������� �� �A ���

��� ��� ���� �����
��������� 0��
 ��� �	���� �����	���������������� gradψ ��'*

� ������ �3����� �� ����� �3��
��� ��� /�������������
 �A ���� ���������� /�������'��� :������;� ��� S
������ ��� �A +� �A∗ ����
�"�#% ���� �
� ��.��	�����	������ ��� /�������������
� 
�+�������� �B 

��
� ��
�� ������������
�� �� �B ��� ��.���>�	����� )*� ��������� ���

��� ��� ��� (�

��+5��.�
�� ���� ��������

div �A = 0. �"�$%

)*� +����
������� ���

��� ���� �������� ���� �'� ��� #�	���05��.�
�� ���������

div �A+ µε
∂ϕ

∂t
= 0. �"� @%

7�� ���� ������ �� ��� /��
����� ���� ��� 9�������� ����� ��� E�
'� ��� /�����
�+������

rot rot �A = grad div �A−∆ �A �"�  %
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�	������ �"�$% �3���� ��� �"�?% ������
�� �
�

∆ �A(�r ) = −µ �J(�r ) �"� >%

6���	�
��BE���
�� ��� +� 
�������� ��1 ��� 8��
����G������� �� �

�������� �
�� �����
������
F����������% ����1 ��� ��� �"�  % '�
������ /�������'� ∆ �A = grad div �A− rot rot �A +� 
��������
���� ,�� �� )�

 ������������ F���������� 
�1� ���� ∆ �A ����� -�������� ��� ���
���� ∆�G��������
��' ��� ���+�
��� F���������� ��� �A 
��������� D� ������������ F���������� ����
��� ��� ���
���� ��A�������
�
���������

∆Ax(�r ) = −µJx(�r )
∆Ay(�r ) = −µJy(�r )
∆Az(�r ) = −µJz(�r )

�"� "%

���

∆ =
∂2

∂x2
+

∂2

∂y2
+

∂2

∂z2
.

���� ���+�
�� ��A�������
�
������� ������ 7.����� ��� ��� 5.� ��� ��������&
�������� ��� 83����
'*� ��� ��
�����+��� &�
��� �3���� ��� ����� �� -��
���� +�� ���
��
�D������
 ��'��� ����
���
)*� ��� ��F��������� ����
� ����

Ax =
µ

4π

∫∫∫
Vi

Jx,i(�ri)
|�r − �ri| dVi �"� B%

Ay ��� Az ����
�� ���� ���
��� ��� (���������'������ ����
�

�A(�r ) =
µ

4π

∫∫∫
Vi

�Ji(�ri)
|�r − �ri| dVi �"� C%

!��3���B ��� -��
���� ��� 83������ ��� ��������&
������� ��� ��� /�������������
 '*� ������
������ F���������� ��� ���� �������������� ,����� ��.����
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�������
� ��� ��������&
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�
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�
'�
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�
������ ��� ����� 8������������������� ���������� �������

)*� (.
���������������� ����
� ���� ��� �"� >% '�
������ 7.���� �� ��������� ��A�������
�
���
�������

∆Ar − 2
r2
∂Aϕ
∂ϕ
− Ar
r2

= −µJr

∆Aϕ +
2
r2
∂Ar
∂ϕ
− Aϕ

r2
= −µJϕ

∆Az = −µJz

�"� ?%

���

∆ =
1
r

∂

∂r
r
∂

∂r
+

1
r2

∂2

∂ϕ2
+

∂

∂z2
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���� �����
 
����� ������� ��1 ��� /������
������� �"� C% ��� '*� ����������� F���������� ��
��
0��� ��� �"� C% ���'*��
��� ������
��� �� 
����� �����2

�A(x, y, z) =
µ

4π

∫∫∫
Vi

�Ji(xi, yi, zi)√
(x − xi)2 + (y − yi)2 + (z − zi)2

dVi(xi, yi, zi)

(xi, yi, zi) R F���������� ��� �������������� 8������������������
��� +����3����� /�
�����
������

(x, y, z) R F���������� ��� ��1� ���� -�'������� ����.�+%
Vi R ��� ��� 8������������������ �Ji ��'*

��� <���

)*� ���� :�.�������� ��	����.��� �Ji ������'���� ���� �"� C% +�

�A(�r ) =
µ

4π

∫∫
Ai

�J(�ri)
|�r − �ri| dAi

��� ��� �*���� )
���� Ai �9
��� +� 9�%�
)*� ����� ������	����� ��	��:
? �� ����� �*���� 8����� �+� 9������% ���� ��� /�
�����

�������
 +� ����� H�
��L������
2

�A(�r ) =
µ

4π

∮
I

|�r − �ri| dsi

��� ��� �����% (�� )������(���

7���� ��� /�����'�
��� �A ��

�� ��� ��� ��� )�
� �B ��

�� ����� ��� D������
 �����*����� -�� ���
&
��������� �"� C% ��� �"�B% ����
� �����

�B = rot �A =
µ

4π

∫∫∫
Vi

rotr
�Ji(�ri)
|�r − �ri| dVi

,�� 
����+�� ��� '�
����� H�'������2

rotr
�Ji(�ri)
|�r − �ri| =

1
|�r − �ri| rotr �Ji(�ri)− �Ji(�ri)× grad

(
1

|�r − �ri|
)

= − �Ji(�ri)× grad
(

1
|�r − �ri|

)
→ �

= − �Ji(�ri)×
(
− �r − �ri
|�r − �ri|3

)

= �Ji(�ri)× (�r − �ri)
|�r − �ri|3

������ '�
�� '*� ��� ����������� D��������2

�B(�r ) =
µ

4π

∫∫∫
Vi

�Ji(�ri)× (�r − �ri)
|�r − �ri|3 dVi �"� #%
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���� 7����3����

���� ��� ��� =����0 >�� 6���5��>�	� �� ������ �

���������� )���� 0��� ��� 7��3�� ��' ��
����
�*���� 8������ ���
������ �� ��
� �������������� �→ -

� "� %2

�Ji(�ri) dVi = �Ji(�ri) dAi︸ ︷︷ ︸
I

d�si

= I d�si

����� ������ �"� C% ��� �"� #% '�
����� )��� ��2

�A(�r ) =
µ

4π
I

∮
1

|�r − �ri| d�si �"� !%

�B(�r ) = − µ

4π
I

∮
(�r − �ri)× d�si
|�r − �ri|3 �"� $%
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�� ��� �������� �����
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+����� �������� �����
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�rotr -���� ����� ��� �ri
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 ϕm ���
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������ 
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�� ��� &
��������� �"� % � �"�"% ��� ������������� 0��
�
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����
������� ��� ��� �
���������� 7��
����������
 ϕ ����
�
'����% I��

��'�
��� 
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�� �������
-�� ��� ���������� ������ ���� ��1 ��� ��� 83���� ����� ��A�������
�
������� �� ���� �

�������
�������� 83���� ��� ���� ���+��

� ���������� 83���� +��
���� �3����� ����� �3���� ��� ���
����������� )�
������� �H(�r ) �� ����� ���
�
'����� -����
 �H0(�r ) ��� ����� ���
�

���'����� -����

�Hw(�r ) +��
����� )*� ��� ���
�
'����� -����
 �3���� ��� ��� ��� -����+

�H0(�r ) = −gradϕm(�r )

��������� ��� ����
��� ����� ��������� ��� -����+

�H(�r ) = �Hw(�r )− gradϕm(�r ) �"�>@%

����� ����
� ���� '*� ��� �����

���� &
������� �"� %

rot �H(�r ) = rot[ �Hw(�r )− gradϕm(�r )] = �J(�r ) �"�> %

����� &
������� ����� ��� �
 ���

� ��� &��������

� ��� �
���������� 7����������

��� ��.�� ��� �������
� �� �� �Hw(�r ) 
�1� ���� ���� 9��*������������ ��� �������
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&���+=����� 
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'���31� �Hw(�r ) ���' :����.����
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���'��� ����� ��� ���
�
'���� )�
������
 �H0(�r ) ��1
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�����;I��

�� ������ ����������� �������

0�� ���+�� ������� -����+ �
�� �� ��� �����

���� &
������� �"�>% ��� ��� 
��*�����������
��
�� ��� �������
�
������� �"�"%2

div �B(�r ) = divµ(�r )[ �Hw(�r )− gradϕm(�r )]

= div[µ(�r ) �Hw(�r )]− div[µ(�r )gradϕm(�r )]
= 0

⇐⇒ div[µ(�r )gradϕm(�r )] = div[µ(�r ) �Hw(�r )] =: �m �"�>>%
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������������ �m(�r ) �����'*���� ��� ��� ��������+ ��� /�����'�
��� µ(�r ) �Hw(�r ) �
������ ���
��� ����
��� ��� ��� �"�>>% ��� �

������� 4�������
�
��.�
��

µ(�r )∆ϕm(�r ) + gradµ(�r ) · gradϕm(�r ) = �m(�r ) �"�>"%
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��� ��' ��� �
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9��� S
������ ��� ����� ��������� ������ �� ��� ������� ������ ���� ��� �������
����������
��������'�� �� �� ��� ������
�
���� µ ������ ���� ��������'�� H� ��� /����
��� ��� ������'�
���
�� ����� ��
���� &���+=���� +� ������������ 
��������� ��� ����� �
����� (.
����� ��� E3�� ∆h�
��� ������ +�� &���+=���� 
���� �→ -

 "�"%� ��� 
����� 	��=����� ��� &�31� ∆A 
����� ����

�

+�� &���+=����� ��� ��� )
����������
�� �n1 ��� �n2� ��� ��L�����������1 ���� ��1�� ���������
����� ����
��� ��� ��� �"�>% '*� ��� ����������� D��������∫∫

�

∂V

�B · d �A = ( �B1 · �n1 + �B2 · �n2)∆A+ {9������ (.
����������
}

= 0. �"�>B%

D� &���+���� ∆h→ 0 ������������ ��� )
�1 *
�� ��� (.
����������
� �� ������ �����������
 +�
∆h ���� �� ��1 ����� �n1 = −�n2 '*� ��� ,����
����������� ��� ������������ D�������� '�
��2

Bn1 = Bn2
�"�>C%

��� ,����
����������� ��� ������������ D�������� �B ���� ����� �� ��� &���+=����� �����
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∆ lr1 2

2µ1µ
n

1H

h∆

r

2H

∂A

-

�
���� "�B2 )
������
����� ∂A �� &���+=�����

�→ -

� "�B%� )*� ��� ���*���� �
����� ∆A ���� ��� ����������� )�
������� �H �� 6����
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� �������� ���������� ������� H���� ��� -������ ����� 7���������� �J �������
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��[���� ∂A ����
� ���� ���� ��� ��� �����

�&
������� �"� %

∮
∂A

�H · d�s = �H1 · �r1∆l − �H1 · �n∆h
2
− �H2 · �n∆h

2
+ �H2 · �r2∆l + �H2 · �n∆h

2
+ �H1 · �n∆h

2

= �J · d�a∆l∆h �"�>?%
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�� ���� �r1� �r2� �n ��� d�a 8������ 
+��)
���������������������� )*� ��� &���+*
������∆h→ 0
������������ ��� ��' ��� 5��
������� ∆h ���'�

����� ������������ 7���������� �� ��1 �����
�r1 = −�r2 ��� ��� G
��=����������������

JF = lim
∆h→0

�J · d�a∆h �"�>#%

'*� ��� 5��������
����������� ��� ������������ )�
������� �� ��� &���+=���� ��
�2

Ht1 −Ht2 = JF �"�>!%

D� �����
���� )�

 ���� ��� 5��������
����������� ��� ������������ )�
������� ����� ������2

Ht1 = Ht2 '*� JF = 0 �"�>$%

-�� ��� 9�+�������� �"�>C% ��� �"�>$% '�
�� ��� 9�������������+ '*� ����������� )�
�
������ ��+�
���� ����������� ��1 �� ��� G
��=���� ���� 7���� =��1� �→ -

� "�C%�

tanα1

tanα2
=

B1t

B1n

B2t

B2n

(3.25)
=

B1t

B2t
=
µ1H1t

µ2H2t

(3.29)
=⇒ tanα1

tanα2
=

µ1

µ2
�"�"@%
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���� "�C2 ��� 9�������������+ '*� ����������� )�
�
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#�%�� 7������!� ������ 2����� �� ��� '���
(	!�� 
/��!��� 
/�� *�����

0�� ��

�� ��� ���

�� �→ -

� "�?% ��� E�
'� ����� ���
���� ������������ ��������
� 
3���� ���
�� -
������� "�" 
�������
���

0���� ��� 9�������� ��� )�
�
����� �� ��� &���+=���� +������� ��� 
����� ������ 
�1�
���� ��� ����������� )�
� ����� ������ ��� ��� �����=�����������+ �"� % 
��������� �����



�������� ��� +������� ��� E�
'�'�
� �Hw(�r ) ���� �"�> %

rot �Hw(�r ) = �J(�r )∮
∂A

�Hw(�r ) · d�s = I0

=⇒ �Hw(�r ) =
I0

2πr
�eϕ �"�" %

z

2µ1µ

I 0

r

y

x

∂A

-

�
���� "�?2 ��� 8����� '*��� ���� ��������� 7���������� I0 �� +�<��������
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2µ1µ

A∆
x

h∆

y

∂V

-

�
���� "�#2 /�
�����
����� �� ��� &���+=�����

(�� 9��������� ��� I��

�� ��� �Hw �E�
'����������T% 
��������� ��� ��� ��� ��L��������
 �
�����
/�
�����
����� �� ��� &���+=���� 
����� ������ �→ -

� "�#%� )*� ∆h→ 0 
��'��� ��� ������
������ )
�1 ��� 0��
�
'�
��� �Hw ����� ��� G
��=���� ∂V ��� 
����������� /�
�����
�������

lim
∆h→0

∫∫
�

∂V

�Bw(�r ) · d �A = lim
∆h→0

∫∫∫
V

�m(�r ) dV

� =⇒ (µ2 − µ1) �Hw(�r ) = lim
∆h→0

�m(�r )∆h �"�">%

��� ������ 7����
lim

∆h→0
�m(�r )∆h =: �mF (�r ) �"�""%

��� �
� ����������� )
�����
������������ �mF +� ��������������� )*� ����� ����
��� ��� ��� �"�">%
����� 9��*������������ ��� �"�" %

�mF (�r ) = (µ2 − µ1) �Hw(�r ) =

⎧⎨
⎩ (µ2 − µ1)

I0
2πy

'*� x = 0

0 �����
�"�"B%

���� ���+�� ��� �� ��� ��������
�
������� �"�>"% ��� M ��� +��� �� 6���� <������
� ����� ���

��
�
'�
������ +� 
3���2

∆ϕ(1)
m =

�m(�r )
µ1

'*� x < 0 �"�"C%

���

∆ϕ(2)
m =

�m(�r )
µ2

'*� x > 0 �"�"?%

��
�� ��� ��������
'��������� �� ��� 7��

� x = 0 '�
����� <���� 
+�� 7����������
����������
��'*

�� �*����2

H
(1)
0t = H

(2)
0t �"�"#%

B
(2)
0n −B(1)

0n = �mF �"�"!%

��� ��.����
����� ����������� )�
������� �H ����
� ���� ���� ���

�H(1,2)(�r ) = �Hw(�r )− gradϕ(1,2)
m (�r ) �"�"$%

��� �Hw(�r ) ��� �� �"�" % ��� ϕ(1,2)
m �
� 83������ ��� �"�"C% ��� "�"?%�

�!���	����� /��	������ !�� (0$12)
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R

y

x

µ1

µ0

1

H 0

-

�
���� "�!2 F����'3����� 7����
� �� ������������ )�
��

(� 
�������� ��� ��� ��� ��� 7�3���� ����������'��� )�
����+������ �→ -

� "�!%� -��� ����
��

�� ��� ��� ����������� )�
������� �����
� ����� E�
'�'�
��� �Hw(�r ) ��� ����� ������������
7��
����������
� 
���������

�� �� ������ 9������
 ����� 7��3�� ���
������ �
�� �J(�r ) = 0 ��
�� '�
�� ��� �"�> %

rot �Hw(�r ) = 0

⇐⇒ �Hw(�r ) = −gradψ(�r ) �"�B@%

�Hw(�r ) = 0 ��� ���� �3�
���� 83���� ������ &
�������� E���'*� ������������ ����1 �"�>>% ����
���� ��� :�*���
����;����������� <���
����� �m(�r )� (� 
3��� 

��
�� �
�� ��� ��������
�
�������
���

∆ϕ(1)
m = 0 '*� 0 ≤ r ≤ R1 �"�B %

∆ϕ(2)
m = 0 '*� r > R1 �"�B>%

(� 
������� ���� ��
�� ��� <���
����������

H(2)(r →∞) = �H0, �"�B"%

��� ��� 7����������
����������

Bn1 = Bn2 �"�BB%

Ht1 = Ht2. �"�BC%

,��� ��� 83��� ��� ��������
�
������� ����
� ���� ��� ����������� )�
������� ���� ����1

�H(1,2)(�r ) = −gradϕ(1,2)
m (�r ) �"�B?%
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D� �3

���� -��
���� +�� �
��������������� 	������������� ��� ����� �>� ?#% ����
�� ���� �������
�
���� ��� 	������������ ��� ����������������� )�
��� �� ����� 
�������� ��������� ������ ����1

wm =
1
2
�H · �B �"�B#%

7��+ ��� ������������ 	������ ��� ��� ����������� )�
� ��

��� �
�� ��� '�
���'*

�� <���� ���
������� )�
�������� ����
� ���� ����� D���������� ��� ��� 	������������ �"�B#%2

Wm =
1
2

∫∫∫
V

�H · �B dV �"�B!%

��� 0��� ��� D������
� 

��
� ������������ ���� ��� ����� ��� *
�� ��� '�
���'*

��� <��� +�
����������� *
�� ��� �������� <��� ������������

H���� (��
 ��� ���� ��� )�
�������� ���� H�'������ ��� �"�B!% ����� ��� 7���������� �J(�r )
���+���*����� ��� E�
'� ��� /�������������
������

��� �"�B% ����
��� ���

Wm =
1
2

∫∫∫
V

�H · rot �AdV.

H���� 9����+��� ��� /��������������

div[ �A(�r )× �H(�r )] = �H(�r ) · rot �A(�r )− �A(�r ) · rot �H(�r ) �"�B$%

����
� ����

Wm =
1
2

∫∫∫
div( �A× �H) dV +

1
2

∫∫∫
�A · rot �H dV.

,�� ������ ��� ��� &��1����� D������
���+ �� ��� 
������� ��� �����=�����������+ rot �H = �J �
����� ����
��� ���

Wm =
1
2

∫∫
�

∂V

( �A× �H) d�a+
1
2

∫∫∫
�A · �J dV. �"�C@%

��� G
��=������������
 ��� *
�� ��� :)�������
�
��=����; ��� *
�� �3�
���������� ����������
������ &���+=����� +� 
�
����

0�� ���+�� ������� ��1 ��� 7�������������� �J(�r ) ���+ �� 	��
����� 
���� ��� ��1 �����
G
��=��������3�� �JF ��������� ����� ���� ��
� '*� ��� /�������������
 �A ����1 �"� C% ����
�����������
���� +� 1/r ��� ���1�� 	��'������% ��� ��� ��� &����+ ��� 9����7����� �"� #% '�
��
��1 ��� ����������� )�
������� ���������� ��� 1/r2 �
'�

�� ��� )�������
�
��=���� 
��'��� �
��
������ 9������ +�� G
��=������������
�

-� ��� ����
����'�

� ����������� &���+=����� ���� ��� ��� ,����
���������� ��� ( �A× �H)
+�� D������
 
��������� �� d�a ��������� ��' ��� &���+=���� ������ ( �A× �H)n ��� ��� At ��� Ht ����
5��������
�����������% �����*�'�� �(��
��� �A ��� �H �� A = A⊥ + A‖ ��� 
�������� ��� F���
�������� ��� F���+����������% �� �� ����� &���+=���� �����
 At �
� ���� Ht ������ '��
�����
�JF % ������ ���
��'��� 
��'��� ���� ��� ������� &���+=����� ������ 9������ +�� G
��=������������

�� �"�C@%� ����� ��
� '*� ��� )�
��������

Wm =
1
2

∫∫∫
V

�A(�r ) · �J(�r ) dV �"�C %
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��� ��� �"� C%�

Wm =
1
2
µ

4π

∫∫∫
Vi

∫∫∫
V

�Ji(�ri) · �J(�r )
|�r − �ri| dV dVi �"�C>%

��/ )���$���� %	� ���
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�
������� ��� 6����� �����
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������ -��� ���� ���� /��'����� +�� ����������� )�
�
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��� ��� 
3��� ��� �����
� ����������� �������� +�� 83���� ������
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�
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9������
�� ��� �����
� ���
.������� �������� 
3�
�� ����� L���� 7�� �� 6���� 8���
���� E���
����� D���� ���� �����
 ������ ���������� 9������
 ��+����� ��� )�
��� ������ ��� ��� �����������
:)������ D������������������;��������� ��� ��� ��������&
������� 
���������

(�� -
���
�1 ����� D���� ���� �����
 ��� �����

����� &
��������� �� 	��������� ��
������
7�� 
�
��� ��� �����
������� :-�����;+�� 	
���������������� ��� �*���� ����� 6���� 	
������
��������� ��� 6���� 	
���������������� ����� ������� �����

rot�E = −∂
�B

∂t

rot �H =
∂ �D

∂t
+ �J

div �D = �

div �B = 0

�������"�������	 �� 3��	���� #�� 4��	��
�������	
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7��������� 7��3�� ���

�� ���� 
�� /������������ ����� &
�������������4��

� �� ����� 8�����

���� 7�� ���� ��� ��� �������������� �
���������� )�
���� �G������� &����+% *
�� ��� �������
�
�
�������

�J(�r ) = κ�E(�r ) �B� %

�����*�'�� �B� % ��� �� 
�������� ��������� ������ �*
���� D� �

�������� ��� ��� �
���	��.�� #���5
��������� κ �����
�������

�����

���� &
���������\ &
��������� '*� ����������
8����������
��������+ 7��3�����'�
���

rot�E = − ∂ �B

∂t︸︷︷︸
=0

rot�E = �0 �B�>%

rot �H =
∂ �D

∂t︸︷︷︸
=0

+ �J rot �H = �J �B�"%

div �D = �

div �B = 0

div �J +
∂�

∂t︸︷︷︸
=0

= 0 div �J = 0 �B�B%

�B�>% ��� �B�B% 
������� ��1 ��� ���������� 7��3�����'�
� ���
�
� ��� 4��

��'��� ���� 0����
�B�>% ���� ��� �
��������� )�
� ��� �� ��� 	
����������� ��������� ����� ��� ���
���� ��������
 ϕ

�������
�� ������2

�E = −gradϕ �B�C%

)*� κ = ������ ����
� ���� ����� ��� �B� % ��� �B�B%

κ div �E = −κ divgradϕ = 0

��� ����� ��� 8��
����&
�������
∆ϕ = 0 �B�?%

��� 	�+������ ����������� 7��3�� ��� �3�
��� �����
� ����������� �����/	����	 *�
����	���
�+� 9� ����� 9������� ��+����%� )*� ����� ��
�

U =
∮

�EE · d�s �= 0 �B�#%
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��������������� F��'�%� ��� ��� ����� 7���������
4��

� ��+���� �����

0�������� ��� �E ��� ����������� ��������� )�
�� ���� ��
�

�J = κ( �E + �EE) �B�!%

=⇒
∮

�J · d�s = κ

∮
�E · d�s︸ ︷︷ ︸

=0wegen(4.2)

+κ
∮

�EE · d�s �B�$%

(4.7)
=⇒ U =

1
κ

∮
�J · d�s �B� @%

"�
 0������� 1���������

,�� ��L������ ��� ��� 0��������� R� ����� ��� 7���� ���
��������� &��������� ��� ���
�����
'������ ����1

IR = U =
1
κ

∮
�J · d�s �B�  %

��
�� ��� 7���� I ��L����� ��� �
�

I =
∫∫
A

�J · d �A. �B� >%

0�� ����
��� �
��

R =
1
κ

∮
�J · d�s∫∫

A

�J · d �A
�B� "%

,��� (��
����� �� ����� ��1���� 0��������� Ra ��� ����� ������� 0��������� Ri �7���������
4��

�% ����
��� ��� '�
������ '*� ����� 8����� ��� 8���'�������� κ� ������ 7����=����� ��' ���
���������� ��������
�� ϕ1 ��� ϕ2 ����
��� ������ �→ -

� B� %2

l

ϕ
1

ϕ
2

-

�
���� B� 2 8����� ��� 8���'�������� κ�

1
κ

∫
a

�J · d�s =

2∫
1

�E · d�s = ϕ1 − ϕ2

a 
�+������� ��� -�1������� ��1����

 ��� 7��������4��

�� �� ��� ������
������� ��� D������

�� ,����� ��� �B� "% ��� ������ �
���� ��� 7���� I

I =
∫∫
A

�J · d �A,
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��� ��� ��� �B� "% ��� *
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Ra =
1
κ

∫
a

dl

∫∫
A

dA

=
l

κA
. �B� B%

"�� *���+�����	���� �� ������������%��

-� ��� &���+=���� +����� ������ ����
� ���� ��� ��� 8����������
��������+ ��� (�����������
+������� ��� ,����
����������� ��� �J ��� ��� )
�����
�����2

J2n − J1n +
∂�

∂t
= 0. �B� C%

���� '�
�� 
�� D���������� *
�� ��� ��L��������
�� /�
���� �→ -

� B�>%�

d A

- d AJ1 n

J2 n

κ1

κ2

-

�
���� B�>2 D�L��������
 �
����� /�
���� �� ��� &���+=�����

0���� ��� 7������������ '�
��

J1n = J2n �B� ?%

=⇒ κ1E1n = κ2E2n �B� #%

��� �B� #% ���
E1t = E2t �B� !%

'�
�� ��� 6	�.�
��������0 '*� �J� ��� �E�8�����2

tanα1

tanα2
=
E2n

E1n
=
κ1

κ2
�B� $%

	�� ��������� 7��+��
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 ��� ��� ����� �����
��� ����� 8������ �κ2 → ∞%� ���� ��
� 
�� ���
��
���� κ1� ��1 κ1/κ2 → 0 ��� ����� tanα1 = 0� �� �� ��� 7����
����� ������ �� 8����� ���
�����
8���'�������� ��������� ��' ��� &���+=���� �→ -

� B�"%�

��� 7����
����� �� ��� &���+=���� +� ����� ,����
����� �κ2 = 0% ���
��'�� �������� ����

�

+�� &���+=���� �→ -

� B�B%�
��� &���+=���� +� ����� ����
�� 8����� ��� ����� J4����������
=���� ���

ϕ = const., �B�>@%

������� ���6����� +� ����� ,����
����� ����� ��� <���
��������

∂ϕ

∂n
= 0 �B�> %

������+������� ����
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αt1E

n1E
κE2 t1 1

2κE2 nα2

-

�
���� B�"2 7����
����� �� &���+=���� +� ����� ����
�� 8������

1κ endl ichJ1

κ2 8

1κ endl ich

J2
κ   = 02

J1

-

�
���� B�B2 7����
����� �� &���+=���� +� ����� ,����
������

"��  ������ 2������� %������� �D 	�� �J

�E = gradϕ

�D = ε �E �J = κ�E
�D = −εgradϕ �J = −κgradϕ

�� 
������'����� <���2 �� ����������� )�

2

div �D = 0 div �J = 0

=⇒ ∆ϕ = 0 �� ��������� <���

7��������� ��� ,����
����������� �� &���+=�����2

D2n = D1n J2n = J1n

<���
���������� '*� 5��������
�����������2

E2t = E1t

D2t

ε2
=

D1t

ε1

J2t

κ2
=

J1t

κ1

9�������������+2

tanα1

tanα2
=

ε1
ε2

tanα1

tanα2
=

κ1

κ2
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�F = q( �E + �v × �B), �C� %

��� ��' ���������� 5��
���� ��� 8����� q ��� ��� &�������������� �v ������ 
�������� D� ����
��� (����������� �*���� ���� ������ (����
������������ ���
�+���� ������� ��� :������
�����; )�
��� �H �� ��� 	
������I���������� ����+ 	I7% ��� �E �� ��� �������I���������� ����+
�I7% ������ ��� +����
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��������� ��������� D� ��� 	
������I���������� ���� ���
F�����������
������� �8����������
��������+%

div �J +
∂�

∂t
= 0 ⇐⇒

∫∫
�

∂V

�J · d �A+
∂

∂t

∫∫∫
V

� dV = 0 �C�>%

�
� +����
������� &
������� ���������� �� ��� ��������I���������� ��� ����� �����
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�����

rot�E = −∂
�B

∂t
. �C�"%
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�� ��� <������ ���� ��
�� ������
��� ������'����� ����
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����� ��� 0����
'��������� cos(ωt) 
+�� sin(ωt) ��� ����
��������� ����������� 	���������
�
'������� exp(jωt) 
����+� ����� 0����

A(t) = A0 cos(ωt+ ϕ) = Re{Aωejωt}


������ ��� ����������� (����������� +������� ��� ���/
�<�� "�/
��
�� ��� ������������
	���������
'������� Aω = A0e

jϕ ��� ��� -��
����� A0 ��� ��� �����������
 ϕ ��� ��������
'�������� 0�� ������ ����� '*� +�������������� )�
��� '�
������ -����+

�E(�r, t) = �E(�r ) cos(ωt+ ϕ) = Re{ �E(�r )ejωt}
�H(�r, t) = �H(�r ) cos(ωt+ ψ) = Re{ �H(�r )ejωt} �C�B%

��� ��� ����
���� -��
������
�E(�r ) = �E(�r )ejϕ
�H(�r ) = �H(�r )ejψ

�C�C%

��
�� ϕ ��� ψ ��� �����������
 ��� �������'������� ����� E��L� ������ �E ��� �H ���� �
�
4����	�� 
�+��������

-�� ���
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	� ���� �
��
∂ �B

∂t
= 0 ,

∂ �D

∂t
�= 0

����������� ��� �����

����� &
��������� 
����� ����

rot�E = �0 �C�?%

rot �H =
∂ �D

∂t
+ �J �C�#%

div �D = � �C�!%

div �B = 0 �C�$%

��� �J = �JL + �JE = κ�E + �JE �8������������������ \ ������������ 7����������%� �� �� �� ������
����� 
������� �
���������� 8������� �����������

9�� ������������ (����
���������� ��� ��� ������

��� �� ����� ��� ����
���� )�
���31��
�C�B% ����
� ���� ���� -��'*���� ��� ��A����������� ��� E������*�+�� ��� 5���� ejωt ��� �C�?%�
�C�$%

rot�E = �0 �C� @%

rot �H = jω �D + κ�E + �JE �C�  %

div �D = � �C� >%

div �B = 0 �C� "%

��� &
��������� �C� @% ��� �C� >% ������� ���� �� ��� ������ �E ��������� +� 
��������� �����
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rot�E = �0
div �D = �
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 ��
� rot�E = �0 ��� ��� ����
���� -��
����� �E� -��
�� +�� ���

��
)�

 ���� ��� ���/
�<�� ���
���� ��������
 ϕ �������+�2

�E = −gradϕ �C� B%

0���� div rot ≡ 0 ����
� ���� '*� ��� 7.���� �C� @%��C� "% ���� -�������� ��� ��������+ ��'
�C�  % ��� J4����
��+

div{(jωε+ κ) �E + �JE} = 0 �C� C%

⇐⇒ div{(jωε+ κ) �E} = −div �JE �C� ?%

��� 	�����+�� ��� �C� B% �� �C� ?% 
��'���

div{(jωε+ κ)gradϕ} = div �JE .

D� )�

 ��������� ��������� ������ ���� ����� /��+����� ��� F��������� (jωε+κ) ��� ��������
����� ������ -������� '�
����� ��������&
������� �
��
����� ������2

∆ϕ =
1

jωε+ κ
div �JE
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������ ������� �� �� �� ��
�

���
�r∈R3

∣∣∣∣∣∂ �D∂t
∣∣∣∣∣ � ���

�r∈R3
| �J | ��� �J = �JL + �JE

��� ����
�������� 7.���� ��� &
��������� ��� ���� ����
�� �����

rot�E = −∂
�B

∂t

rot �H = �J

div �D = �

div �B = 0
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����� �C�B% ��������� ������ ��� ���� ��� -��'*���� ��� ��A����������� ��� ��� E������*�+��
��� 5���� ejωt ����
�� ���� ��� �����

����� &
��������� +�

rot�E = −jω �B �C� #%

rot �H = �J �C� !%

div �D = � �C� $%

div �B = 0 �C�>@%

��� &
��������� �C� C% ��� �C� #% ������� ���� �� ��� ������ �H ��������� +� 
��������� �����
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rot �H = �J

div �B = 0

��� �����
������� &
��������� '*� ��� ��������I����������� ��� 7����������
��������

div �J = 0
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�� ��� &
������� �C� C%�
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→ 	I7 �� &���+'�

→ �I7
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� ����

� ���� ���� ���� 8������ ���
� &���� )
*���������� ��� )����3���� ���� ���� D��
�������%
 � ��� 	����+�� ��� ����
����� -

�������� �� ��� ��� ��� ����� 1/L2

div �D = � rot �H = �J �C�> %

→ E =
�L

ε0
→ H = JL

��� E R �.������� 0��� ��� �E ��� H � J R �.������ 0���� ��� �H� �J

>� 9�� �����'3������ -������� ��� ��� F����'��4���+ ω ��� τ = 1/ω ��� ����������������� (��� ���
�����'3������ -������ �� ���������������� (�������

+�����������
���� 8����� +�����������
���� 7��3��
→ ���������� 7���� → +�����������
����� �H�)�
�
→ ����+���� +�����������
����� �H�)�
� → �E�)�
�

div �D = � rot �H = �J

rot �H =
∂ �D

∂t
rot�E = −∂

�B

∂t

→ H =
ε0EL

τ
=

(5.21)

L2�

τ
→ E =

µ0HL

τ
=

(5.21)

µ0JL
2

τ
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EFehler =
µ0�L

3

τ2
HFehler =

ε0µ0JL
3

τ2

EFehler

EQS
=

µ0ε0L
2

τ2

HFehler

HQS
=

ε0µ0L
2

τ2
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µ0ε0L
2

τ2
� 1 =⇒ L

c
� τ
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c =
1√
ε0µ0
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d �A �C�>"%
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������� 7��������� C ���
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∮
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������ 8��������
��'� �� ����� +���
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∮
S

�B
d �A

dt
= − d

dt

∫∫
A

�B d �A

= −∂Ψm
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∮
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F
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∫∫
F

rot(�v × �B) d�F
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�E = −gradϕ− ∂ �A
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 >� � '*� ��� +����
�������� )�

�

-�. ��� ��7	���� (�� ���
���������������  ������

%�4�� ��� ��;
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rot�E = −∂
�B

∂t
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rot �H = �J → � �C�"?%

div �B = 0 �C�"#%

div �D = � �C�"!%

(�� 83���� ������ ���� ��� �������
�
���������

�D = ε �E �C�"$%
�B = µ �H �C�B@%
�JL = κ�E �C�B %
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µ �J
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µκ �E
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rot rot �A = graddiv �A−∆ �A
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rot rot�E = graddiv �E − div grad�E
= graddiv �E −∆ �E
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∂
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=

∂
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∆ �E = jωµκ�E �C�C>%

∆ �B = jωµκ�B �C�C"%

H���� 9�������� ��� �C�C % ����
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∂2Ex
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������� >�G������ �C�CB% 
����� 
�� 9����+��� ���

p2 = jωµκ �C�C?%

Ex = Aepz +Be−pz �C�C#%

���

p = (1 + j)k

k =
√
ωµκ

2
�C�C!%

����
��� ���
Ex = Aekzejkz +Be−kze−jkz . �C�C$%

-�� �C�"C% ����
��� ���
∂Ex
∂z

= −jωµHy, �C�?@%

������ ��� Hy 
��������2

Hy = − 1
jωµ

∂Ex
∂z

= −1 + j

jωµ

√
ωµκ

2
(
Aekzejkz −Be−kze−jkz) �C�? %

=
(j − 1)κ

2k
(
Aekzejkz −Be−kze−jkz)

��� F��������� A ��� B ����
�� ���� ��� ��� <���
����������2

 � ��� )�
� ��1 �� D����� ��� 8������ '*� +→ ∞ ��' ,�

 �
�
������ �� �� ������ ����
8��������������
��� �� ���
����� 0���� �����L�����

>� ��� <�������� �� ��� G
��=���� ��� 8������ ���� �������
���

A = 0, B = E0
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7���� ��� ��� �
��������� )�
������� ����
�� �����

Ex = E0e
−kze−jkz �C�?>%

��� �C�? % '�
�� '*� ��� ����������� )�
�������

Hy =
κE0

2k
(1− j)e−kze−jkz �C�?"%

��� -��
����� ��� Ex ����� �
�� �� +�<������� ����������

 �
� F���+�������� '*� ��� -
�����
��� ��� )����� δ = 1/k

|Ex(z = δ)|
|E0|

= e−1 ≈ 0.37 �C�?B%

D� ��� 	��'������ δ ��� ��� G
��=���� ��� ��� -��
����� ��' ��� e���� 5��
� �� �� ��' ��� "#]
��� -������������� �
��'�

��� ����� 	��'������ ���� �
� ����	�������� δ ����
� ���� �����%

�+������� ��� 
������

δ =
1
k

=
√

2
ωµκ

�C�?C%

6���/��
B F��'��� ��� 8���'�������� ��� F��'�� 
������

κ = 5.8 · 107 1
Ωm

����� ������
�
����

µ = µ0 = 4π · 10−7 Vs
Am

)*� ���� )��4���+ f = 50Hz �F����'��4���+ ω = 2π50Hz% ����
� ���� ��� 	����������'�

δ =

√
2

2π · 50 · 4π · 10−7 · 5.8 · 107
m ≈ 1cm.

,���'�
����� &��L� +���� ��� 	����������'� ��� -
������� ��� F��'�� �
� )������� ��� )��4���+�
	� ���� �������
���� ��1 ��� 	����������'� '*� ���������� )��4���+�� �� ��� &�31��������� ���
(���������� 
����� ������� ��� '*� ���� ���� )��4���+�� �+� 9�<���'���% ��� 9�������
� �(�����
�
E���������
% ��� ��

������� 
������ �→ -

� C�  %�
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������� ��� F��'���

�;�;�;� 4�1����
��.�� -�
�
�� ��	 ����	��������

��� -
�����+��� '*� ��� 	����������'� ��
��
� ��� ��� �����
����� �
���� 8����� �
� ,�������
'*� ���� +.
��������� 8������ ��� ���1�� ����������� +� ���������� ��� ����� 0�����
����� ���
)��4���+ f '*��� �→ -

� C� >%�

��� -���� ��� (.
������ ��� ����

�
 +�� ��-����� ��� <*��
������ ��

 ��� E�
'� ����� ��������
������
 ����������� 8������ ��� ���� ��31���� ����������� ���
������ �������

��� ���������� )��4���+ ���+��������� ���� ��� )�
��� ����� ������� �� ��� 8������
��=����
��� '*� ����������� ���� )��4���+�� ���

� ��� 	����������'� ���� &
������� �C�?C% ���� '*� ������
��� �����'3������ I���������� ��� 
�����
��� ,������� ����

z

D π
δ

x

y

δ

D

-

�
���� C� >2 E�

���� �
� ,������� '*� ����� ������ ����

������

�;�;�;� �/�0��

� ,�

��������.������ ��	 #��
��

0��� ��� ��� (����
���������� ���
�+�� �����*����� ����
��� ��� ��� �C�?>% ��� �C�?"%

Ex, Hy ∼ e−kzej(ωt−kz) �C�??%
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t  = t

t  = t

E
t = t 1

z
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t  = t

2
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���� C� "2 /�����
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Ex, Hy ∼ e−kz cos(ωt− kz). �C�?#%

��� )�
������������ ��������� ���� ��� '�������������� �
��� 0�

�� �→ -

� C� "%� ��� *�	�5
/:��0
������.�3��������� v ��� 0�

� '�
�� ��� ��� 9�+������

Ex, Hy ∼ e−kz cos
[
ω
(
t− z

v

)]
�C�?!%

����� ��� /���
���� ��� &
������� �C�?#%2

v =
ω

k �C�?$%

��� )�
�������� :�������;� ���
��� ��� ���� �
���������������� 0�

�� ��� ��� ������������������
���� v �� �������� z�<�������� 0��
 ��� /��'����� e−kz ���� ������ ����'��� ��� )�
��� 
�������
�����
� �� ���� �

������� �� ���� ���������� J�����/��� ,�

�K � ��� ���,�

��
���� λ

λ =
2π
k

�C�#@%

������
� ���� ��� ����'����'����� '*� z = λ

e−kz = e−2π ≈ 0.002� 1,

�� �� 
������ ���� ����� 	��'������ ��� z = λ ���� ��� )�
��� ��'����� ��� 0�������
���� ��
�������
 ����+� �������������
6���/��
B F��'��� 9�� f = 50Hz ��� λ = 2πcm ∼ 6cm� 9�� �3����� )��4���+�� ������ ���

0�

��
����� ��� ����� ��� 	���������'� ����� ��������� -��

rot �H = �J

����
� ���� ���� ��� +����3���� 7����� ���� ��

 ���� ����� �����'*��� ������� ������� ��� �����'
����������� ������� ��1 ��� ���� ����

��1�� ������

�� ����� ��1 ��� �A������ &���������� ��
����� �
��=���
����� 7������ ��� ����� δ ��� ���������� 7���������� =��1� ����� ����+�2 8�����
7���� "!!%�

��� 	A���� ��1 )�
������� ��� 7���������� ��1����

 ��� 	����������'� ����+� �������������

�+������� ��� ���� �
� ����5�@���� ��' ��� ��� ���� �����
 +��*���������
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D� '�
������ ������ ��� ��� ��

�� ��� ��� ����
���� ��.������/����� ���'*�����

%�6�� ��� �� �����)-�����

��� �����

����� &
��������� 
������� ��1 6��� +���
���� J������� ����� ������������ )�
���
��� ��� 	�������� ���� /����������� ����� �
���������� 0��
�
'�
��� ���
����� ��� ��� �����
������ D� +���
��� ��������
����� )�
� ��� ������� ��� '�
���'*

�� <��� 5����� �
���������� ���
������������ 	������ ��� ������

w = we + wm =
1
2
( �E �D + �H �B) �C�# %

�/���
����� �>� ?#% ��� �"�B#%�% ��� &������������ �������

 ����� /�
����� V ���

W =
1
2

∫∫∫
V

(
ε| �E|2 + µ| �H |2

)
dV. �C�#>%

D��� +���
���� J������� �+� 9� 8�������������+ �� 0���������
��� �� ����� ����������=�������
8�����% ����
� ���� ������� ����� /���������� ��� �����������
 +�

dW

dt
=
∫∫∫

V

(
�E
∂ �D

∂t
+ �H

∂ �B

∂t

)
dV. �C�#"%

0����� ��� ������

�� -

�������� ��� E�
'� ��� ������ 
����� �����

����� &
��������� �����+��
�� ����
� ����

dW

dt
=

∫∫∫
V

[
�E
(
rot �H − �J

)
+ �H

(
−rot�E

)]
dV

=
∫∫∫

V

(
�Erot �H − �Hrot�E − �E �J

)
dV �C�#B%

/��������
.��� → = −
∫∫∫

V

[
div
(
�E × �H

)
+ �E �J

]
dV �C�#C%

0�� ��L������ ��� ��� ���� ��������

� &�31�

�P = �E × �H �C�#?%

0���� ∫∫∫
V

div �P dV =
∫∫

�

∂V

�P d �A �C�##%

����
� �P ��� *
�.�����.��� ��	 #����
�� ��� ���1� 4�1�����5%����	 �����2 /����� ��� 	����
������3���� ���� 7����
����������%� ����� ������
� ���� &
������� �C�#C% +�

dW

dt
=
∫∫

�

∂V

�P d �A−
∫∫∫

V

�E �J dV �C�#!%
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���� ��� ��� 4�1����.�� ���02 ��� ����� ��� G
��=���� ∂V ����� /�
����� V ������������
	���������3���� �� �
��������������� )�
� ��� �
���� ��� +���
����� J������� ��� �������������
�
����������������� 	������ �9
���
�������% �������� �� ��� +�� 0�����������
��� 
��3�����
8������� �0���
�������%�

	�������� �� V ���� I��

� ��� )�
������� �Eq� ��� ��� �
��������� )�
� �E ����������� ��� �
��

�J = κ
(
�E + �Eq

)
�C�#$%

��� �����

�E =
�J

κ
− �Eq, �C�!@%

�3���� ��� �C�#!% ������
�� �
�

dW

dt︸︷︷︸
1

= −
∫∫

�

∂V

�P d �A

︸ ︷︷ ︸
2

−
∫∫∫

V

�J �J

κ
dV

︸ ︷︷ ︸
3

+
∫∫∫

V

�Eq �J dV

︸ ︷︷ ︸
4

. �C�! %

���� ��� ��� ��� �	��
�
������0 '*� ��� 	������ ��� �
����������������� )�
���2 ��� -
����� ���
)�
�������� �� '�
���'*

��� /�
���� V � % ��� �������

 ����� 8������ ���� )�
�� ��� 	���������
����
��� �� ���
����� 0���� �"%� ��� ���� ��1�� �
�������
� ���� �
��
����� ����� -�1�����
���3�� ���� ��� 	����������
� �� /�
���� V ��'����� ����� �� ��� /�
���� ������������� �
���
��������������� 7����
��� �>% ����� ��'�
�� ��� 	���������3���� ����� I��

� �B%�

��� ��.������/����� +���� ��� <������� ����� 	���������3���� ��� 7��� 9����� ����
� ���
)
����������� ��� 8�������� ��� G
��=������������
 ��� ��.������/������ *
�� ��� �����
������
G
��=���� ∂V ����� /�
����� ��1 '�
�
��� ��� ������� ����� ∂V ���� ��� ����������� 8�������
����
�� �→ -

� C� B%�

V

P

d A

∂V

-

�
���� C� B2 ��� G
��=������������
 ��� ��.������/�������

9�� ��� ��.������/����� �����
� �� ���� �� ���� 
���
� &�31� ��� �
����������������� )�
�
���� �� �� �� 6���� <�������� ��� 7��3���� ��� �
����������������� 	������ ������

�� ���
-���
� ��� ��.������/������ ���+� ������� ��1 ��� �
���������� ��� ������������ )�
���������
����������� ��������� ���� �����
����� E��
������ ��� ��� �����

����� &
���������%�

7��� �E ��� �H ����� ����������� ���������� �� ���� +��� �E × �H �= 0 ����� ����
� �
�� �����
��� ��.������/����� ��� ���� ��� D������
∫∫

�

∂V

�E × �H d �A
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����� 9��������� 	�� 9�����
 '*� ������ )�

 ���

� ��� ��
������ �
������
����������� ���� ��� �� ��� ��� ����� 7��
� ��+������ ������'�
� ��
����� ���� �→ -

� C� C%�

V z

+ Q

- Q

E
xH

y

a)

V x

+ Q

I

- Q

E
H z

y

b)

∂V∂V

-

�
���� C� C2 &�
������ �
���������������� �� ���������� ������'�
� �% �.�	
��� ��� 
% +.�
	
����

6���/��
 0
� 4�1�����5%����	B D� ����� �
��������������=������� +.
���������� �����

���� ���� /��������� ��� �E ��� �H � ��� ����� ��� ���
���� 8���'�������� ���������� ���� �→
-

� C� ?%�

y

x

z

ϕ
r

κ = 0

ϕ = 0
∂
∂

-

�
���� C� ?2 &
��������������=������� +.
���������� ������

9�� �
������1���� 7����������������
��� ����
�� ���� ��' ��� 8������
��=���� ��� )�
��������

�H = Hϕ�eϕ �C�!>%
�E = Er�er + Ez�ez �C�!"%

mit Hϕ =
I

2πa
�C�!B%

Ez =
I

πκa2
�C�!C%
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��� ,����
���������� Pn ��� ��.������/������ ��' ��� 8������
��=���� ����
� ���� �����

Pn = EzHϕ =
I2

2κπ2a3
�C�!?%

��� lim
κ→∞Pn = 0� )*� ��� /��
���
������� N 
�+���� ��' ��� 8������
��=���� ����� (.
���������

��
=���� 2πal% ����
� ���� �����

N = PnA =
I2l

κπa2
�C�!#%

�
� )�
�� ��� �� 0���� �������+��� 	������� 
�+���� ��' ��� (���� ��� 	������+�'��� ����� ���
��� H���
��� �� ��� 8������ ��� &
������������������� R ��� 8������ '�
�� ����� N = RI2

������ ��� �C�!#%2

R =
l

κπa2
�C�!!%

��� ����� ��� <����
���������� Er ����������� ���������
� F��������� ��� ��.�����/������

Pt = ErHϕ �C�!$%
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� ��� 	���������3���� +� ����� ��� 8������ �
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��1����� /��
������� �→ -

� C� #%�

E

E

J

H

E n

P
Pn

t Pt

a

-

�
���� C� #2 	���������3���� +� ����� ��� 8������ �
���
��1����� /��
��������

6��.���B )*� ����� ����� 8����� �κ ���� ���1% ��'�
�� ��� ������
���� 	��������������� �Pt%
���
��� ��� 8������ �� �
����������������� )�
� ��1����

 ��� 8������� 9�� ��� 	������*
������
���� 
������ ��� -�'��
� ��� 8������ 
����
��� ������ ���� ��
��� )�
�������
��� ������+���'��� ��1
��� 	���������3���� ��+������ ����� ��� 8����� ����
��� +� '�
��� �)*�����%� ��
�� ���� ���
5��
 ��� �
����������������� )�
�������� ��� <��� �� ��� 8����� ���+���� ��� ��� 8����� ��
0���� ���������
� ����
����� 0�������
����%�

(�� 	�
�������� ��� 	���������3���� +�� /��
������� 
��������� ��� ���� �����
�����
���
���� �→ -

� C� !%� 0�� �*���� ��
�� 
�������� ��1 ��� ���� /������� �E� �H ��� �J ��� ���
������� 9�
� ���� '*� ��� <*��
����� ���� <������� ��������� ����� 6����� Pt� ��
���� ���� ��
<*��
����� +�� /��
������� +����� ��� ���	����	���/�	� +�� /��
������� ��

+���� ���� 03�5
�.��� !��5 
�� &�.�
����	T 	� ���� ����� ��� ���������
� F��������� ��� ��.������/������

�������
��� ∫∫

A

�P d �A =
∫∫
A

Pt d �A =
∫∫
A

EHξ dη �C�$@%

I =
∮
H dξ und U =

2∫
1

E dη �C�$ %
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_ I

+I

Pt

ξ

η

-

�
���� C� !2 (�� 	�
�������� ��� 	���������3���� �� ����� �����
�����
�������

����
� ���� �
�� '*� ��� )
�1 ��� ��.�����/������2∫∫
A

�P d �A = UI �C�$>%

%�6�� ��� ������8� �� �����)-�����

/�������� ��� '*� +�������������� )�
���31�� ��� ����
��� 7�����
����� ����1 �C�B%� �� 
�����
��� ������ 
����� �����

����� &
��������� ����� 	��
�+������ ��� �������
�
���������

rot�E = −jωµ �H �C�$"%

rot �H = jωε �E + κ�E = jωεk
�E �C�$B%

��� ����� ����
���� εk2

εk = ε+
κ

jω
= ε(1− j tan δε), �C�$C%

��
�� δε ��� /��
��������
 ��� ������� 
�+�������� ����
��������2 tan δε � 1� tan δε ≈ δεK
����

2 tan δε � 1� ε ≈ ε0 → εk ���� ��������%

D� ������

�� ������ ������ ���
�� ��� /��
���� �� ����� ����
���� µ 
+����� ����� tan δµ

��*����������2

µ
k

= µ(1− j tan δµ) �C�$?%

-�� �C�$"% ��� �C�$B% ����
� ���� ����

rot �E = −jωµ
k
�H �C�$#%

rot �H = jωεk
�E �C�$!%

����� ���
��� ��
���
������� ��� 
���� ��� �H
∗

+�� �E

∗
����
��� ��� � �H

∗
R ����
������6��������

0��� ��� �H%2

�H
∗
rot�E = −jωµ

k
�H · �H∗

�C�$$%

�E
∗
rot �H = jωεk

�E · �E∗
�C� @@%



�;� ���	�����.��� 
�� ���	�����	��
�� ���

��� E�
'� ��� /��������
.��� '�
�� ���� 7�
�������� ��� �C�$$% ��� �C� @@%

div( �E × �H) = �H
∗
rot�E − �Erot �H

∗

= −jωµ
k
�H · �H∗

+ jωεk
�E · �E∗

�C� @ %

-��
�� +� �C�#?% ��L������ ��� ��� ��.������/�����

�P = Re{ �Eejωt} × Re{ �Hejωt} �C� @>%

&
������� �C� @>% ��� ��.����
���� ������

� �
�� �������� ���� ����� ��� ����������� )�
� +� �����

��������� (�������� �������� ������� ��� 0���
�.� �������
��	 *

?� �������� 
�������� ���
��� J������� ��� 	������=����� ������� ����� +���
����� H�
��'������� 2π/ω ��� ����������
����� ����� �������2

�P =
ω

2π

2π
ω∫

0

Re{ �Eejωt} × Re{ �Hejωt} dt

=
1
2
Re{ �E × �H

∗} =
1
2
Re{ �E∗× �H} �C� @"%

��� /�����

�P k =
1
2
( �E × �H

∗
) �C� @B%

���1� ���/
�<�	 4�1�����5%����	� 7��� <��
���
 ��� �
���� ��� +���
����� �����
 ��� 	�������
=������ 	� ���� ���� �� ��� )���

�P k =
1
4
( �E × �H

∗
+ �E

∗× �H) �C� @C%

������
�� ������� ����� ��� 9��*������������ ��� ��L������ �C� @B% �� &
������� �C� @ % ����
���
��� ��� ���/
�<�� 4�1������.��� ���02

∫∫
�

∂V

�P k d
�A = −2jω

∫∫∫
V

(
µ
k
| �H |2
4

− ε∗k| �E|2
4

)
dV

= −2ω tan δµ
∫∫∫

V

µ

4
| �H |2 dV − 2ω tan δε

∫∫∫
V

ε

4
| �E|2 dV

−2ω

⎛
⎝∫∫∫

V

µ

4
| �H |2 dV −

∫∫∫
V

ε

4
| �E|2 dV

⎞
⎠

= −NW − jNB �C� @?%

= −NW − j2ω(Wm −We)

��� ��� 0���
������� NW ���� ����
���� �� /�
���� V ��+������ 0����% ��� ��� 9
���
�������
NB ���� ��A����+ +������� ����
���� ������������ ��� �
���������� 	������ 
�+���� ��' ��� (����
�������%� D� ����� 8������ ��� We �Wm� D� ����

�� ���� �����

 ��� &
������� �C� @?%∫∫

�

∂V

�P k d
�A = −

∫∫∫
V

1
2
κ| �E|2 dV − j2ωWm

= −NW − jNB �C� @#%
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E������ �3���� ��� ��� 0������������� RW ��� ��� ������ D����������� Li ��� 8������ 
��
������� M ���
�������� 
�� ����� )��4���+��� 0����

I∗ =
∮

�H
∗
d�s �C� @!%

U =

2∫
1

�E d�l = I(RW + jωLi) = I Z �C� @$%

'�
��

NW =
1
2
I2RW �C�  @%

NB =
1
2
I2ωLi �C�   %

6���/��
B E���'��4���+�0��������� ����� 
�������� E�

����� �→ -

� C� $%� -�'��������� ��'
��� G
��=����2 E0

(5.62) : �Ex = E0e
−kze−jkz �C�  >%

(5.53) : �Hy =
κE0

2k
(1 − j)e−kze−jkz �C�  "%

(5.112)→ �J = Jx�ex = κ�Ex ��� ωε� κ �C�  B%

→ I =

a∫
y=0

∞∫
z=0

Jx dzdy = · · · = aE0κ

(1 + j)k
�C�  C%

Mit δ =
1
k

→ |I| = κa√
2
δ|E0| �C�  ?%

�P k =
1
2
( �E × �H

∗
) = · · · = 1

4
E2

0κ(1 + j)δe−2kz �C�  #%

��� �������
�� 8��������=�1 = Re{ �P k}2

PW =
1
4
E2

0κδe
−2kz �C�  !%

0 <    <κ 8

E indr ing t ie fe

y
a

yH

δ

x

xE

z

-

�
���� C� $2 E���'��4���+�0��������� ����� 
�������� E�

������



�;� ���	�����.��� 
�� ���	�����	��
�� ���

9�� z = 0 ����
��� ��� ������ ��� ������3����� 8������� ��� m2 ���

PW =
1
4
E2

0κδ. �C�  $%

-�� �C�  @% '�
�� ��� NW = PWA = PW ax '*� ��� E���'��4���+�0��������� RW

RW =
2NW
|I|2 =

2axPW
|I|2 . �C� >@%

��� 	�����+�� ��� &
������� �C�  ?% ��� �C�  $% �� �C� >@% 
��'���

R′
W =

RW
x

=
1
κaδ

, �C� > %

��� 0�������������� ��� 8������������ �� x�<�������� ��� �C�?C%� ��� ��L������ ��� 	����������'�
δ� '�
��

R′
W =

1
a

√
ωµ

2κ
∼ √ω. �C� >>%

)*� ���� �
���� ��� ����� δ ��� �
������1��� 7����������
��� ����
� ���� ����1 �C� > % ��� �
�����
E)�0����������

%�6�# �����) 
�� ����:����	��
��

�;�;�;� =
��.���	��
����	

-������2 J4����������
=����� 
�� z = 0 ��� z = l �→ -

� C�>@%� ω = 0 → 7���� ������
� ����
�
������1�� �� 8������ D� ����������� (������ ���

| �E| =
U

l
�C� >"%

(5.41)→ | �JL| = κ| �E| = κ
U

l
�C� >B%

��� &���������� �� 8����������� ���

I = | �JL|A = κ
U

l
hd. �C� >C%

κ l
U

I

H

H

h

z

y

x

d

-

�
���� C�>@2 &
���������
������
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9�� 8������ ��� ���� �
����� I������������
��������� �����*
�� ����� 8���� l ���� ��� -�������
���� ��� ��'*

�� -�� �C� >C% '�
�� '*� ��� &
������������������� ��� 8������������

R′
0 =

R0

l
=
U

lI
=

1
κhd

=
1
κA

. �C� >?%

�;�;�;� ,�	+�
��	��� �� ������ 4
�����

D� F�����
 C�#�> ��
�� ��� �� 9������
 ��� 
�������� E�

�
��� �������� ��1 ��� 7����
������

�� ,�.���
��	�� �� ������
����� �� ����� 7������ ����� ��� 8������
��=���� ��'�
�� ��� ��1
����� 7������ ��� ���������� )��4���+ ����� �*���� ����� ����� 	���������� ���� ��	��5 
��
*�
�>�	�	���
�� 
+�� �����@��� �������� 	�� �������
����� 9�
� '*� ��� (�������������
��� 7����
������ �� 8������ ����
� ����� ��'��� ����� ����������� ����� ��1 ��� '�
���'*

�� <���
7��+ ��� 5����� ��� 	������ ��� ��� ��� �
��������� ,����
����� ��� ������
����� :8����� ;'*� ��� �
���
�������������� 	������ ������

� �→ -

� C�> %� 	� ������ �� ±y�<������� ��� 
����� 9
���������
���� �
��� 0�

� ��� D����� ����

�E = Ez�ez
�H = Hx�ex

�C� >?%

	� ���� ��� E���'��4���+�0��������� '*� ���� )��4���+�� ������� �δ � d%� ��� &
��������� '*�
��� ��������I���������� 
�����2

rot�E = −µ∂
�H

∂t
�C� >#%

rot �H = κ�E �C� >!%

0���� ��� ������������ (����
���������� '�
�� ��� ��� ��A�������
������� �C�BC%

∆ �H − jωµκ �H = 0. �C� >$%

H
b

κ

H

I

E

d
o

ω
I  c

os    t

z

unend l i ch

ausgedehn t

y

x

-

�
���� C�> 2 �*��� 
���'����� 9
����
�����



�;� ���	�����.��� 
�� ���	�����	��
�� ���

H���� ��� -������� ��1 Hx ��� ��� y �
������ '�
�� �������

∂2

∂y2
Hx − k2Hx = 0 �C� "@%

mit k =
1 + j√

2
√
ωκµ =

1 + j

δ
�C� " %

�
� F������

��+��
 ��� ��� 	����������'� δ ���� �C�?C%� ��� &
������� �C� "@% ���������� ��� E�
��
��
�+�
�������� ��� ��� �� F�����
 ? ���'*��
����� 
������
� ������� S
�� ��� I�����������=����
�A ⊥ �ez 
��'��� ��� �����=�����������+

∫∫
A

(rot �H − κ�E) d �A = 0

b/2∫
x=−b/2

Hx|y=− d
2
dx+

−b/2∫
x=b/2

−Hx|y=− d
2
dx = I0

→ Hx|y=− d
2

=
I0
2b
, �C� ">%

��
�� ��� 9������ ��� 7����
������ d ��� I�����������=���� +�� H�
��L������
 �������
������
������ ��� 83����������+ '*� ��� ���
��� E�
���
�+�
������� ���� &
������ �C� "@% 
�����

Hx = C1e
ky + C2e

−ky ��� −d
2
< y <

d

2
�C� ""%

��� F��������� C1 ��� C2 ���� ��� +� 
����������� -��
������ ��� ���� ��� �*��
��'�����
0�

�� )*� ��� <���
���������� ��' ��� �
������
��=���� ����
� ���� ��� &
������� �C� ""%

Hx(y = −d/2) = −Hx(y = d/2) =
I0
2b

→ C1 = −C2 = C

C =
I0/2b

e−kd/2 − ekd/2 �C� "B%

→ Hx(y) =
I0
2b

eky − e−ky
e−kd/2 − ekd/2 = − I0

2b
sinh(ky)

sinh(kd/2)
�C� "C%

(5.128)→ Ez(y) = − 1
κ

∂

∂y
Hx =

I0k

2bκ
cosh(ky)

sinh(kd/2)
�C� "?%

��� )�
�������
��� *
�� ��� �
�����4���������� ��� �� -

� C�>> ��'��+�����

)*� ���� ���� )��4���+�� ���� ��� 7���� ��������� ��

������� �� ��� G
��=���� y = ±d/2
��������� �7����	A���%� D� '�
������ ������ ��� 0������������� RW ��� ��� ������ D�����������
Li +���������2

U = I0(RW + jωLi) =

l∫
z=0

Ez dz = Ezl �C� "#%
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H x���������

���������E z

H

H
b

κ Id
d
2l

y
z

x

E

__ d
2

y0 _

-

�
���� C�>>2 )�
�������
��� *
�� ��� �
�����4�����������

��� Ez ≈ Ez(y = d/2) '�
��

I0(RW + jωLi) =
I0k

2bκ
cosh(kd/2)
sinh(kd/2)

l. �C� "!%

(5.131)→ RW
l

+ jω
Li
l

=
1 + j

2bκδ
coth

(
1 + j

δ

d

2

)
�C� "$%

cothu =
eu + e−u

eu − e−u → lim
α	1

coth(1 + j)α ≈ 1 �C� B@%

R′
W =

1
2bκδ

∼ √ω �C� B %

L′
i =

1
2bκδω

∼ 1√
ω

�C� B>%

'*� ��� 
��������������� 0������������� R′
W ��� ��� ������ D����������� Li ��
��'�

� 
������

��������%� )*� I = 0 �� ��� ����� ��� �
���� ����
� ����

R′
W =

1
bκδ

. �C� B"%

7��� 9����� ��� �����
� �� ���1 ��� �� �C� B>%�
	��� ���.���������� )�
�������
��� ��� �� -

� C�>" ��������

��

H

H

I y
z

x

-

�
���� C�>"2 H��.���������� )�
�������
����
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�;�;�;� ���������� ��	��>�	�	���
�� �
� ����	 6���
���
��

)*� d � δ ��
� �C� B"% '*� ���� ���+�
�� 7������� ��� ������� 0��������� ��� 9���
������ �6�
8������������% ��� �
�� �→ -

� C�>B%

R′
W =

2
bκδ

�C� BB%

I

H

d
E t

E t
E n

I

H

d

b

-

�
���� C�>B2 0�����
����� ��' > 7��������

�;�;�;� ��	��>�	�	���
�� �� "���	�
���

(�� 9�����+��� ��� ����� -�
��'������� 
�� -�.������������� ������ 5��'��������
��'�� ����
������� D� -����

��� ��� -������
���� 
������ ��� 8��'��'��4���+ f = 50Hz ��� ����� δ ≈ 1cm
���
� -
������� C�?�"%�

9�� ��� ���� �������� 8��'��'��4���+ ��� 
��'����� ������ �7��
��A��4���+% ���� ��� δ →∞�
�� ����� ��� &
������������������� R0 ��� 8��'��� ��������� ������ �→ -

� C�>C%�

0���� µFe � µ0 ��
� ��������� �H ⊥ Fe� 9�� ���*������ ������ d� δ ��� ��� ������ 5��
 ���
7������ �����
��� 	����������� �C� B"% ��
� �����

R′
W =

1
bκδ

=
1
b

√
µ0ω

2κ
�C� BC%

)�

� d ����� ���*���� ���1 ���� ��1 ���� ��=�������� 0�

� 
��*���������� ������� ��� <���
���
���� ���� ����
�+�������

HC u
µ = µοµ >> µο

F e

b

E

dF e

-

�
���� C�>C2 ,�� ����� 5��'��������
��'����
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�;�;�;� ��	��>�	�	���
�� �� ����� 
����
�.� 
����� '1
����	

D� ����� ���� 
����� 
������������� 7��
� ���
��� ��� z�-���� 
�L��� ���� ��� ���� 
������ ������

������������ (.
����� ��� �����'3������ I���������� ��� ���
����� 8���'�������� κ �→ -

� C�>?%�

D� ��� 7��
� =��1� ��� 7���� I(t) = Re{I0e
jωt}� ��� )��4���+ ω ��� �� �����
�� ��1 ���

0�

��
���� λ = 2π/k = 2π/(ω/v) ���� ���
 ��31�� �
� ��� ������������� -
��������� ���� 0��
����� ��� &
������� �C� >$%

∆ �H − jωµκ �H = 0, �C� B?%

��� E�
���
�+�
������� ����
-��������� ���� ���� ��1 ��� ������'�
� �� 
����������
� <������� ������ ���� 
3��� ���

�C� B?% �� (.
����������������� ��� �H = (0, 0, �Hz) ����
��� ���

1
r

∂

∂r
(rHz)− jωµκHz = 0 �C� B#%

���� ��� ��� 7��+��
'�

 ��� 9����
����� ��A�������
�
������� �>� >!% �'*� m = 0� n = r� f = rHz%�
��� 83���� ��� &
������� �C� B#% ����
� ���� ����� +�

Hz(r) = CJ0(αr) �C� B!%

mit α =
√
ωµκ

2
(1− j). �C� B$%

��� F�������� C 
�1� ���� ����� ��� D������
 *
�� �H 
���� ��� �����
������� F���� C 
��������
�→ -

� C�>#%� 7��� 0��� ��� �
���� ��� ��'������� 7����� 9�� n 0�������� ��� 8������������
��
� ���� ��� �����=�����������+

lH0 = lCJ0(αR) = lnI �C� C@%

→ C =
nI

J0(αR)
. �C� C %

→ Hz(r) =
nI

J0(αR)
J0(αr) �C� C>%

und Jϕ(r) = −∂Hz

∂r
=

αnI

J0(αR)
J1(αr). �C� C"%
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���� C�>#2 9��������� ��� F��������� C ����� ��� H�
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�

)*� ��� �
��������� )�
� '�
�� ����� ���
��1
���

Eϕ(r) =
√
ωµ

2κ
(1− j) nI

J0(αR)
J1(αr). �C� CB%

)*� ��� ��� 8������������ �� (.
����� �� 0���� ���������
�� /��
���
������� L���� ��� ����
+�

P J = 2πκ

R∫
0

Eϕ(r)E∗
ϕ(r)r dr �C� CC%

= 2π
[

nI

J0(αR)

]2
ωµ

R∫
0

J1(αr)J∗
1 (αr)r dr. �C� C?%

��� E�
'� ��� /��
��'� ��� Py �
� )������� ��� R/δ ���� +� 9� ��� (.
����� �� �� /����
����
+�� 	����������'� ������������� ������� ��1 ��� +�
������� E3�������� ��� Py ����� *
�����������
�����
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 ��������
����� )�
���� �� ��� ����� ��� +���
���� J������� ��� ������������ D��
������� ∂ �B/∂t ���� ��� ��� /�������
��������������� ∂ �D/∂t �������
������ ������ ����� ��1
��� ��

�������� 7.���� ��� �����

����� &
��������� ��
3�� �������

��� �����

����� &
��������� 
������� ��1 ��� �
���������� ��� ������������ )�
��� �����
��
������ ����������� �����*�'� ����� ��� 0���
�.�� '
����������	
�� ��	 *�
��	 
������ ����
��� ���
����� &�������������� �� <��� ���� 7�� ���� �
� �
���	���������.�� ,�

� 
�+�����
���� D� /����� ���������� ���� -��
����������������������� ������ ��� 8�������������������� D�
��� 5������ ������ �
���������������� 0�

�� +�� (���� ��� 	������� ��� 7����
*
���������
��+����� ,��� ��� �����

����� &
���������

rot�E = −∂
�B

∂t
�?� %

rot �H =
∂ �D

∂t
+ �J �?�>%

div �D = � �?�"%

div �B = 0 �?�B%

��+���� ��� +����
������� �
��������� )�
������� *
�� ��� 8������������ �JL ��� ��� /��������

��������� ∂ �D/∂t ��� ������'�
� ��� ������ ����� D���������������� �∂ �B/∂t% ������ ��� �
���
�������� )�
��

��� +�� ����
����� ��� +���
����� 9�������
��� ��� �
����������������� 0�

�� �
�� ��� ����
�� <��� ���
��������� -�'� ��� -

��� ��� �
���������� ��� ������������ )�
���� ��������
)������� ��� ��� +����3����,�

���
������� 7�� ����
� ���� �
� 83���� ��� ����������� 0�

���
�
��������

.�
 ��� 1�����������	����

D� '�
������ ��

�� ��� ��� 0�

���
������� '*� ��� �
���������� )�
������� �E ��� ��� ��������
���� )�
������� �H ���
������ ���� ��������� ����� �����//

�� ��	 -�@�	���������� -�' ���
0�

���
��������� '*� ��� /�������������
 �A ��� ��� ���
��� ��������
 ϕ ������ ��� ������ ����
���������

0�� 
�� ��� E��
������ ��� ��A�������
��������� ����� ��� ��� ��� �

�������� �����

�����
&
��������� ��� ��� 
3��� ��� ������ ��� ��� �
����������������� )�
��������� 0����� ������ ε�
µ ��� κ �
� �������� ���������� ��� �� ��� �J = �JL�

����� -�������� ��� <������� ��' �?� %� +���
���� ��A����������� ��� �?�>% ��� ��� 	�����+��
��� �������
�
��������� '*� �D ��� �H ����� ��� ��L������ ��� �JL ����
� ����

rot rot �E = −εµ∂
2 �E

∂t2
− κµ∂

�E

∂t
�?�C%



��� �+��� ,�
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-��
�� '�
��

rot rot �H = −εµ∂
2 �H

∂t2
− κµ∂

�H

∂t
. �?�?%

)*� /�����'�
��� �F ��
� �

������

rot rot�F = −∇2 �F + graddiv �F .

����� 9�+������ ���� '*� �F = �E 
+�� �H �� �?�C% 
+�� �?�?% ��������+�� ��
�� '*� �H ��� graddiv�
5��� ����� �?�B% ��� µ = const. ������������� 0�� ����
��� �����

∇2 �E − grad div �E︸ ︷︷ ︸
�/ε

= εµ
∂2 �E

∂t2
+ κµ

∂ �E

∂t
�?�#%

∇2 �H = εµ
∂2 �H

∂t2
+ κµ

∂ �H

∂t
�?�!%

)�

� ��� 8������������������ � = 0 ��� ��� ����� ���� ���������� 5��� ��������� ���� ����������
��� ���� ��� graddiv�5��� '*� �E ����� �?�"%� ���� ��'*

�� �E ��� �H 6����
� ��� &
������� '*�
���� ������'�� 0�

�2

∇2 �E − εµ∂
2 �E

∂t2
= κµ

∂ �E

∂t
�?�$%

∇2 �H − εµ∂
2 �H

∂t2
= κµ

∂ �H

∂t
�?� @%

��� &
��������� �?�#% ��� �?�!% ���� ��� �

��������,�

���
��.�
����� ��� &
��������� �?�$%
��� �?� @% ��� 0�

���
��������� �� )�

 ��������������� <���
�������������

)*� D��
������� �
�� �� )�

 κ = 0� ������'����� ���� �?�$% ��� �?� @% ��������� ��� ��� ����
���
��� ���+��

�� 0�

���
���������

∇2 �E = εµ
∂2 �E

∂t2
�?�  %

∇2 �H = εµ
∂2 �H

∂t2
�?� >%

	� �����
� ���� 6����
� �� ��� ���� ��������
���� �.���
�
������ ��A�������
�
��������� +������
G�������

4���� .���� ������ �� ��������

(������� 
��������� ��� ��� 0�

���
��������� �?�  % ��� �?� >%� ��� �� ����� 
������'������
�����
�������� ���
��������� ��� +� 9� ��� /������ ��
���� -�1����� ��

�� ��� ��������� ��1
�E ��� �B ��� ��� ����	 ��� ���� ������������ F����������� +� 9� z� ��� ��� ��� (��� t �
������2

�E = �E(z, t) = [Ex(z, t), Ey(z, t), Ez(z, t)] ,



�;� -�� ,�

���
��.�
���� ���

���
�� '*� �B� �E ��� �B ���1�� �+��� ,�

���� 0���� � = 0� �*���� 
���� )�
��� 4��

��'���
����� �� ��

div �E =
∂Ez
∂z

= 0 �?� "%

div �B =
∂Bz
∂z

= 0 �?� B%

∂

∂x
=

∂

∂y
= 0 ����� ������ z�-
����������

→ Ez = Ez(t) �?� C%

→ Bz = Bz(t). �?� ?%

0�� ������ ��� ��� ��1 Ez ��� Bz ���� ����� ��� ��� (��� t �
������� 6� ������ ��1 ��
�

Ez = 0 �?� #%

Bz = 0. �?� !%

	
��� 0�

��� ��� ����� )�
������������ �� ����� -��
���������������� ����� �� z�<�������% ���

��� ������ �
� �	���>�	��
� ,�

�� 
�+�������� 9�� ��� /������������ ��� <���
�������
�+� 9� �� �
�����% ���� ���� �
��� 0�

�� ��� )�
������������ �� -��
����������������� �����
������ 
�����
����
� ,�

��� �3�
����

��� ���� 
����������� ����������
�� 0�

�� ��� ��� -��
���������������� z ��
�� ��� ���
����������
�� F���������� Ex� Ey � Bx ��� By� )*� ����� F���������� ��
� ���� +� 9�

∂2Ex
∂z2

= εµ
∂2Ex
∂t2

�?� $%

∂2Ey
∂z2

= εµ
∂2Ey
∂t2

. �?�>@%

���

v =
1√
εµ

�?�> %

��
�� ��� �
�� ���� ��A�������
�
������� ��� )���(
∂2

∂z2
− 1
v2

∂2

∂t2

)
f(z, t) = 0, �?�>>%

��� ���������� ��������0�

���
�������� ���
������ ,��� �H"
��+�	� '*���� ��� ��� ��� 5�����
'��������

ξ = z − vt �?�>"%

η = z + vt �?�>B%

������ ���� ��
�

∂f(z, t)
∂z

=
∂f(ξ, η)
∂ξ

+
∂f(ξ, η)
∂η

∂2f(z, t)
∂z2

=
∂2f(ξ, η)
∂ξ2

+ 2
∂2f(ξ, η)
∂ξ∂η

+
∂2f(ξ, η)
∂η2

∂2f(z, t)
∂t2

= v2

[
∂2f(ξ, η)
∂ξ2

− 2
∂2f(ξ, η)
∂ξ∂η

+
∂2f(ξ, η)
∂η2

]
�3		������ -����� ��	���5 ��� 
�� �������� ��-*�	��� ������������6����5 !�� ��� ����� ����������� ��� ���

7��� �
�*����5 �	� �
��� ��		�� 
�#�������$
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z z

v

∆F(z-v(t+  t ))

∆z

v
F(z-vt)

G(z+v t )

G(z+v( t+  t ) )

∆z

∆

-

�
���� ?� 2 (��� �������������+� +��������� ��������� -����
� ��� �
���� 0�

��

������ &
������� �?�>>%

∂2f(ξ, η)
∂ξ∂η

= 0 �?�>C%

����
�� ��� �

������� #��
�� ������ ��A�������
�
������� 
�����

f(ξ, η) = F (ξ) +G(η), �?�>?%

��
�� F ��� ���� )������� ��� ξ ��� G ��� ���� )������� ��� η ���� )�
�
��� ���� ��� )�
�����
�������� Ex� Ey � Bx ��� By �

� ��� ��� )���

fi(z, t) = Fi(z − vt) +Gi(z + vt). �?�>#%

��� -����
 Fi ��� �
���� 0�

� ������� ��� ��� &�������������� v �� �������� z�<�������� �� ��
�� -��
����������������� ���� ���� )����������� +� ��'�����2 	�� 0���� ��� Fi +�� (��� t = 0 ��
��� 	
��� x = x0 ���� ���� +�� (��� t0 �� ��� 	
��� x = x0 + vt0 ������ ����������� ��� -����

Gi 
��'� ��� �
���� ������������� )��� �� <������� ��� ��������� z�-���� �→ -

� ?� %� ��� ���
8������������������� c ��� /������ �c = 1/

√
µ0ε0% ��
� ��� 4��������.�3���������

v =
1√
µε

=
1√

µ0µrε0εr
=

c√
µrεr

. �?�>!%

��� (����������� +������� ��� ��������������������� v ��� ��� 8������������������� �� /��
���� c ��� ����
�� �����

v =
c

n
�?�>$%

��� ��� 6	�.�
�������< n ��� c ≈ 3·108m/s� ��� ��� 0�

���
������� �?�>>% ��
�� ��� '*� 6���
)�
����������� ���� +������� ���
������� ��A�������
�
������� ���
������ -����������� ���� ���
)�
������������ ��� �E ��� �B ����� ���
������ ������������ ������� �*���� ��� �����

�����
&
��������� ��'*

��� -�� ��� ������ �����

����� &
������� '�
��

rot�E =

∣∣∣∣∣∣
�ex �ey �ez
0 0 ∂/∂z
Ex Ey Ez

∣∣∣∣∣∣ =
(
−∂Ey
∂z

,
∂Ex
∂z

, 0
)

!= −
(
∂Bx
∂t

,
∂By
∂t

,
∂Bz
∂t

)
.
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E������ '�
�� ��'���� ��1 ���� Bz +������
������ ���� ��1� D� *
����� ���

∂Bx
∂t

=
∂Ey
∂z

= F ′
y(z − vt) +G′

y(z + vt)

∂By
∂t

= −∂Ex
∂z

= −F ′
x(z − vt)−G′

x(z + vt).

��� D���������� ���� ��� (��� ����
�

Bx = −1
v
Fy(z − vt) +

1
v
Gy(z + vt) + F̃x(z) �?�"@%

By =
1
v
Fx(z − vt)− 1

v
Gx(z + vt) + F̃y(z) �?�" %

-����������� '�
�� ��� ��� >������

����� &
������� �?�>% �� D��
���� '*� �J = 02

rot �H =

∣∣∣∣∣∣
�ex �ey �ez
0 0 ∂/∂z
Hx Hy Hz

∣∣∣∣∣∣ =
(
−∂Hy

∂z
,
∂Hx

∂z
, 0
)

!=
(
∂Dx

∂t
,
∂Dy

∂t
,
∂Dz

∂t

)
.

E������ '�
��� ��1 Dz ��� ����� ���� Ez ����� +����
������ ����� ��� -������� �?� #% ���
�?� !% ����� ����� 
�+*�
��� ��� (����
���������� ���
 
���*����� H���� ��� /��������� ���
�?�"@% ��� �?�" % ����
� ����

∂Bx
∂z

= µε
∂Ey
∂t

=
1
v2

[−vF ′
y(z − vt) + vG′

y(z + vt)
]

= −1
v
F ′
y(z − vt) +

1
v
G′
y(z + vt)

∂By
∂z

= −µε∂Ex
∂t

= − 1
v2

[−vF ′
x(z − vt) + vG′

x(z + vt)]

= +
1
v
F ′
x(z − vt)−

1
v
G′
x(z + vt)

��� D���������� ���� z 
��'��� ����

Bx = −1
v
Fy(z − vt) +

1
v
Gy(z + vt) + G̃x(t) �?�">%

By =
1
v
Fx(z − vt)− 1

v
Gx(z + vt) + G̃y(t). �?�""%

����� ��� /���
���� ��� �?�"@% ��� �?�">% ��� �?�" % ��� �?�""% '�
�� '*� ��� :D�������������������
���;

F̃x(z) = G̃x(t)

F̃y(z) = G̃y(t),

}
�?�"B%

�� �� ��� �*���� ����
��� ��� +���
��� �������� ����� �� ��� ���
������ ��� z ��� t �����
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��� ��� ����� '*� ��� )�
� ��� �
���� 0�

�2

Ex = Fx(z − vt) +Gx(z + vt)
Ey = Fy(z − vt) +Gy(z + vt)
Ez = 0

Bx = −1
v
Fy(z − vt) +

1
v
Gy(z + vt)

By =
1
v
Fx(z − vt)− 1

v
Gx(z + vt)

Bz = 0

�?�"C%

6���	�
��B (z − vt) = -����
� ��� �� �������� z�<������� 
��'�
(z + vt) = -����
� ��� �� �������� z�<������� 
��'�

��� ��� -��
������������������ �ea = (0, 0, 1) 
+�� (0, 0,−1) �3���� ��� ��� )�
��� ����� �
����
0�

� ���� ���
������ ��� ���+��

 �����
��� F�����������.���� ������

��2

�B =
�ea × �E

v
�?�"?%

�H =
�ea × �E

µv
=
�ea × �E√
µ/ε

=
�ea × �E

Z
�?�"#%

��� ���,�

��3���	�����

Z =
√
µ

ε
�?�"!%

��� �������� H�������� ��
�
�E = v( �B × �ea) = Z( �H × �ea), �?�"$%

�� �� ��� ���� /������� �E� �B �
+�� �H% ��� �ea 
�
��� ��� ������ <�����'�
��% ��� <������.����� )*�
��� /����� ��� ��� 0�

������������

Z = Z0 =
√
µ0

ε0
=

√
4π · 10−7Vs/Am

8.855 · 10−12As/Vm
≈ 377Ω ≈ 120πΩ. �?�B@%

D�� �� ��� &
��������� �?�"C% Ex = 0 �→ By = 0% 
+�� Ey = 0 �→ Bx = 0%� �� ���������
�
���������� ��� ������������ )�
� ��� �� ����� 	
���� 7�
��� 0�

�� ���1�� 
����	 /�
�	����	��

��� �

������� �
��� 0�

� ����1 �?�"C% ���� ��� +��� +��������� ��������� ��
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Ex(z, t) = Ex0 cos(ωt− kz + ϕ)

Hy(z, t) = Hy0 cos(ωt− kz + ϕ)

Hy0 =
Ex0
Z
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 '*� ���� +�������������� �
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��	 *�
��	� ��� 4�����3����
 ϕ ����� ��� �����
��� H������� �
� )�
����� (������������

������� +������� ��� A	����	�8
��0 ω ��� 0�

�� ����� *	�8
��0 f � ����� 4�	���� τ � �����
,�

��0��
 k ��� �����,�

��
���� λ2

ω = 2πf =
2π
τ

�?�B>%

k =
2π
λ

= -�+��
 ��� �������� 6� 8������������� �?�B"%

(�� 4��������.�3��������� vph 
������� '�
����� 9�+��������

vph =
1√
εµ

= λf =
2π
k

ω

2π
=
ω

k
. �?�BB%

��� 9�+������ �?�BB% ����
� ���� ���� ��� ��� 0�

���
������� �?�  % '*� ��� 83����������+ �?�B %2

−k2Ex = − 1
v2
ω2Ex.
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 ��� �?�>#% ��'��'�1� ������� ��

cos(ωt− kz + ϕ) = cos
[
ϕ− k

(
z − ω

k
t
)]

= cos[ϕ− k(z − vt)]

�� �� ���� )������� ��� (z − vt) ���� ,��� �?�BB% ����

ω = vk �?�BC%

����� 9�+������ +������� F����'��4���+ ω ��� 0�

��+��
 k ���1� -��/�	�����+�0���
��� D�
�

�������� 
����� ��� �����������
�+������

ω = ω(k) �?�B?%

��*�8� -��� β ����� k !��-�����$
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&��������������� ��� ��� ���� ��� ������ ��� 0�

� '����=��+��� ��� ����� ω(k)t− kz + ϕ 

��
�
'*� z = z0 + ω(k)

k t ��������� ����

ω(k)t− kz0 − ω(k)t+ ϕ = ϕ− kz0.

��� 4��������.�3��������� ��� ����� ��L����� �
�

vph =
ω(k)
k

�?�B#%

-
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�+�������� ��1 ��� ��������������������� �
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�+������ �?�BC% ��� v = c ��� ��� ��������������������� '*� �

� )���
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+��0�
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����� �
����� E��� ���� ��� J���/�	������	����K )�

 �����������

	��� ������� ������
���� &�31� ��� ��� =	
//�����.�3���������� ��� &������������������
���� M ����� ��� ��������������������� M ��� �� �

�������� '*� ��� 	��������������� ������
����
7�� ��� ��L����� �
�

vg =
dω(k)
dk

�?�B!%

)*� ��� ��������������������� ��
�

vph =
ω(k)
k

=
c

n

��� ��� /������8������������������� c ��� ��� 9������������� n� ��� ���������������������
���� ��31�� ���� �
����� c ����� 6� ������� �
 n �
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vph =
ω

k
= c =

dω

dk
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������� ��� ��� ����1
&
������� �C� @B% ����� ��� <������� ��� ��.������/������ �P k = 1

2 ( �E × �H
∗
) ����
��� 9�� ����

�
���� 7�����
�����

�Ex(t, z) = �Ex0e
j(ωt−γz)

�Hy(t, z) = �Hy0e
j(ωt−γz)

��� ��� ����
���� -��
�����������������

γ = β − jα� α R ����'�������������
R -
����� ��� -��
����� 6� 8����

�� -��
����������������
β R ���������������

R �������������� ��
-��
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 k ��� �
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��� ��� '*� ���� �� �������� z�<������� '�������������� 0�

�

�P k =
1
2

(
�E × �H

∗)
=

1
2

(
�Ex0e

−γz�ex × �H
∗
y0e

γz�ey

)
�?�C@%

= �ez

Hy0 =
Ex0
Z

→ P k =
1
2
|Ex0|2
Z∗ �ez

Z = )�
���

�������������

�� �� ��� 	������=�1 ��'�
�� ���
������ ��� x ��� y �� -��
���������������� �ez�
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��� ��� ���
���� π/2�

7��� 
�� ����� 0�

� ������� ��� J4�����
������=����� �� ����� ����
����� 0����
 ϑ �= 0
�������� �� 
���� ���� ���������� �+��� ,�

� ���� 7�
��� 0�

�� ��
�� +������� ���� 
�����
������
� )�
����������� �� -��
�����������������

9�� ����� 	�����
��� ��� 0�

�� ����1 ��� )��� ����� ������=����� ������ ��
�� ��� �+�5
��� ,�

�� ���� '1
����	3�

�� ��� A
��
3�

�� �������������� 8��+���� 
����� ���� �
�
S
��
������� �
���� 0�

�� ������

���

4���$ .���� ������ ��� ���������� �
������
�����!��
��

)*� �
��� 0�

�� ��� -��
���������������� �� ���� ����������� F������������������ ��
�� ���
�������� ��1 ��� �
���������� ��� ������������ )�
�������� ��������� ��'�������� 
�� ���������
+�� -��
���������������� ������ �→ -

� ?�C%�

,�� 
��������� ��� ��� )�

� ��1 ��� -��
���������������� ����� ����� 
�
��
���� 	��������

Phasen f l ächen

Äqu iamp l i t uden f l äche

ϑ

y

x E

v

z

-

�
���� ?�C2 D��������� �
��� 0�

��



�;� -�� ,�

���
��.�
���� ���

������ �n ����
�� ���� ���� 
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f(�r, t) = f

(
t− �n · �r

v

)
. �?�C %

��� )������� 
��'��� +� ����� ����
���� (�������� t '*� �

� ������ ��� �n ·�r = const. ��� �
������
0���� �� ����� ����
��� ��� ���� 	
��� ��������� +� �n� ���,�

��>����	 �k E,�

��0��
>����	L
"
�+	���
���>����	% ��
� ����� ����� <������� ��� -��
���������������� �� ��� ���� 9�����
��� ������ �
���� ��� 0�

��+��
2

�k = k�n mit |�k| = k =
2π
λ

=
ω

v
�?�C>%

	��� +�������������� 0�

� ��� ���� ��� ����
���� 7�����
�����% ��������������� ����� ���� ����
�
��� -��
�����

�E(�r ) = (E1�e1 + E2�e2)e
−j�k�r �?�C"%

��� ��� 
����� ��'�������� ��� +� �k ��������� ��������� 	��������������� �e1 ��� �e2

�e1�k = �e2�k = �e1�e2.

��� ����
��� -��
����� ��� +����3����� ������������ )�
��� ����
� ���� ���

�H =
1
Z

(�n× �E). �?�CB%

��� ��.����
������ )�
��� ����
�� ���� ���� ���

�E(�r, t) = Re
{
(E1�e1 + E2�e2)e

−j(�k�r−ωt)
}

�?�CC%

�H(�r, t) = Re
{

1
Z

(�n× �E)e+jωt
}

�?�C?%

4���% �������� ������
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������ ��
���������
�������� ��������
��'��� �� ����
� ����

Ex(z, t) = Ex0

[
ej(ωt−kz+ϕ1) + ej(ωt+kz+ϕ2)

]
�?�C#%

Hy(z, t) =
Ex0
Z

[
ej(ωt−kz+ϕ1) − ej(ωt+kz+ϕ2)

]
. �?�C!%

����� ��������� 0��
 ��� ,�

������ ��� z ��� t ���� ϕ1 = ϕ2 = 0 �������� ������� ������ '�
��
���L������ ��� ��������)�������2 cosx = 1

2 (eix + e−ix)%

Ex(z, t) = 2Ex0 cos(kz) ejωt �?�C$%

Hy(z, t) = 2j
Ex0
Z

sin(kz) ejωt. �?�?@%

0�� ����
��� �
�� ���� J�������� ,�

�K � ��� ��+������ :��' ��� 7��

�;�������� ��� ����� 	������
������������� �→ -

� ?�?%� ��� ,�

���

�� ��� Ex� ��� ����������� �.�3���
���������� 
�����

��

kz =
2n+ 1

2
π

z =
(2n+ 1)π

2k
=

2n+ 1
4

λ,
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'����� ��� λ/42

z = ±λ
4
,±3

4
λ,±5

4
λ, . . . .

��� F����� ��� ������������ )�
��� ���� 
��

kz = nπ

z =
nπ

k
=
n

2
λ,

�
�� /��
'����� ��� λ/22

z = 0,±λ
2
,±λ,±3

2
λ, . . . .

(�� (��� t = 0 +� 9� ��� Hy = 0� ������� Ex ������ ������
�� 0��� ������� +�� (��� t = τ/4
������� ��� Ex = 0 ��� Hy ����� ������ ������
���� ��� ����

4���4 =.)������ 
�� =*)������

0�� 
��������� ��� +��� �
��� 0�

�� �
������ )��4���+� �
������ -��
����� ��� �
������ ��
����
������ �
�� �����������
����� -��
���������������� �→ -

� ?�#%�

�E1 = �E0e
(jωt−j�k1�r)

�B1 =
1
vph

(
�n1 × �E0e

−j�k1�r
)
ejωt ��
� �?�CC%� �?�C?%

��n1 R 	�������������� �� -��
����������������� Z =
√
µ/ε� vph = 1/

√
εµ → Z/vph = µ%

��
�� ���

�k1 = (0,−ky, kz)
�E0 = (Ex0, 0, 0)

���������

�E2 = �E0e
(jωt−j�k2�r)

�B2 =
1
vph

(
�n2 × �E0e

−j�k2�r
)
ejωt
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��� �k2 = (0, ky, kz)� ��� S
��
������� ������ 
����� �
���� 0�

�� ����
�

�E = 2 �E0 cos(kyy)e−jkzzejωt �?�? %

�B =
1
vph

[(
�n1 × �E0e

−j�k1�r
)

+
(
�n2 × �E0e

−j�k2�r
)]
ejωt �?�?>%


+�� �����������������

Ex = 2Ex0 cos(kyy)e−jkzzejωt

Ey = 0
Ez = 0
Bx = 0
By = 2Ex0 cos(kyy)kz

ω e
−jkzzejωt

Bz = −2jEx0 sin(kyy)
ky

ω e
−jkzzejωt
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�+*�

��� ��� ������'�
���%� ��� -��
������ ��� 5	�0�

� ���� ����
)������� ��� y�

-��
�� ���������� �	���>�	��
 ��������.�� ,�

��� ���+ $�5,�

�� ����� �5,�
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�+*�
��� ��� ������'�
���� �
�� ����� ��� �
���������� )�
��� ����� D��� -��
���������
�������� ��� �������� ��� z�<������� ��� ���� -��
������ ���� ���� )������� ��� y�

��� 5��0�

�� ��������� ����� S
��
������� ��� 
����� '�
������ 0�

��2

�B1 = �B0e
(jωt−j�k1�r)

�E1 = vph

(
�n1 × �B0e

−j�k1�r
)
ejωt

��� �k1 = (0,−ky, kz)K �B0 = (Bx0, 0, 0) �����

�B2 = �B0e
(jωt−j�k2�r)

�E2 = vph

(
�n2 × �B0e

−j�k2�r
)
ejωt
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α
α

y

x

2k

k1
xB

B x E

E

z

-

�
���� ?�!2 )�
��������� +����� ���� *
��
�������� �
���� 0�

���

��� �k2 = (0, ky, kz) �→ -

� ?�!%� 	� ����
� ���� ����������������

Bx = 2Bx0 cos(kyy)e−jkzzejωt

By = 0
Bz = 0
Ex = 0
Ey = −2Bx0 cos(kyy)

vphkz

k e−jkzzejωt

Ez = 2jBx0 sin(kyy)
vphky

k e−jkzzejωt

⎫⎪⎪⎪⎪⎪⎪⎪⎪⎬
⎪⎪⎪⎪⎪⎪⎪⎪⎭

�?�?B%

(
k = |�k1| = |�k2| =

√
k2
y + k2

z

)
5	� ��� 5��0�

�� ������ ��� �� (����������� ��� E��

������

���� ���'*��
��� 
������
�� D��� ��������������������� ���

vph =
ω

kz

��� ���� 0�

��+��
 ���

k2 = k2
y + k2

z =
ω2

c2
.

E������ '�
��

kz =

√
ω2

c2
− k2

y �?�?C%

�����
vph =

ω√
ω2

c2 − k2
y

=
c√

1− k2
yc

2

ω2

≥ c �?�??%

��
�� ��� ��������������������� ��� 5	� ��� 5��0�

�� 
���� �
�� *
�� ��� 8�������������������
��� 
����A����� �������� �� /����� �
�� �
����

 ��� /�����
������������������� c0� ����
��� �3�
��� ����� 0���������� +�� <�
����������������%� ���� 
�� ��� &������ M ��� ����� ���
��������������������� M �����
� �� ���� �� ��� 7����
��������������� ��� 0�

�� )*� ����� ��
�

vg =
dω

dkz
=

1
dkz

dω

= c2

√
ω2

c2 − k2
y

ω
=

c2

vph
. �?�?#%

�,�8������ !�� cos x ��� sinx → cos x = (eix + e−ix)/25 sin x = (eix − e−ix)/2i



�;� �+��� 0�����	�����.�� ,�

�� �� >�	

��+��������� ������ ���

����� ���
vg · vph = c2 �?�?!%

��� ����1 �?�??% ��
�
vg ≤ c , �?�?$%

��� ���� ��� <�
���������������� '*� 6��
���� 7����
����������������� ��
��� ��1� &
������� �?�?!%
���� ���� ��� ��� �������������
����� �
��
����� �������

.�� �+��� %�������������� 1����� �� (���	��+��������� ���
����

-
� �������� ����� ��� ������ 
���������� ��� ����� ��� ���
�����+�������������� ε� ��� ������
��

���� µ ��� ��� 8���'�������� κ ������+������� ������ )���� <���
������� ��

�� ����� �����������

&���1 �?�$% ��� �?� @% ��
��� ��� 0�

���
���������

∆ �E = µκ
∂ �E

∂t
+ µε

∂2 �E

∂t2
�?�#@%

∆ �B = µκ
∂ �B

∂t
+ µε

∂2 �B

∂t2
. �?�# %

D� -�������� �� ��� �
�� �����
�� ����
��� 7�����
����� ��� )�
���� '*���� ��� ���� &
�������
�C�$C% ���� ���/
�<� -��
���	�0�������������� ���2

εk = ε+
κ

jω
= ε(1− j tan δε). �?�#>%

��� 8������������������ ���� �� ��� �
� D����������
 
��*�����������
���� ����� �� ��� 7��

� ��� ���

�� 0�

��+��
 k ��� 
������ �� -
������� ?� �> �����'*����

���/
�<� ,�

��0��
 k ����� �
� γ 
�+�������%2

k = ω
√
µεk = β − jα �?�#"%

��� ��� ����'�������������� α ��� ��� ���������������� β� ��� �
��������� )�
� ������
� ����
���� +�

�E = E0e
j(ωt−�k�r)

= E0e
j(ωt−βz)e−αz,

��'��� ��� '*� �k ����� /����� �� z�<������� ��������� ��� 	������� ��� ��� 0�

�� ����� ���
����'��� ���
������ ���� �� 7��������� ���������
� �����
����� 	���������+%�

.�� *�,����� �+���� 1�����

4�#�� &�(�8��� �� ����� 
������!��� >�����
�

	��� �
��� ���������������� E�

��

� '�

� ��� ��� E�

���� z < 0 ��' ��� �
��� 5����=����
��� 
����� ������  ��� > ��� �→ -

� ?�$%� 	�� 5��
 ��� 0�

� ���� �� ��� 5����������� ���
������  +��*����=�������� ������� ��� ������ 5��
 ��� ������ > ���������� -� ��� 5����=����

�� z = 0 �*���� ��� ���������
�� )�
������������ ��� 7����������
���������� ��'*

�� �����
�����
-
������� >� �C ��� "�B%�

&���1 �
���� ������

��� ��
� '*� ��� ���'�

���� ��� ��=�������� 0�

� �� ������  

Ey1 = E0

(
e−jk1z + rejk1z

)
�?�#B%

Hx1 =
E0

Z1

(
e−jk1z − rejk1z) �?�#C%
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E y 2

-

�
���� ?�$2 <�=����� ��� 5����������� 
�� ����������� 	��'�

�

���

k1 = ω
√
µ1ε1 und Z1 =

√
µ1

ε1
.

E0 ��� ��� ����
��� -��
����� ��� ���'�

����� �
���������� )�
���� k1 ��� 0�

��+��
 ��� Z1 ���
0�

������������ ��� ������  � r ��� ��� ���������� &�:�<���������	� )*� ��� �� ������ >
������������ )�
� �3���� ��� ��� -����+

Ey2 = E0de
−jk2z �?�#?%

Hx2 =
E0

Z2
de−jk2z �?�##%

������ ���

k2 = ω
√
µ2ε2 und Z2 =

√
µ2

ε2
.

k2 ��� ��� 0�

��+��
 ��� Z2 ��� 0�

������������ ��� ������ >� d ���� �
� -
	.�����������	

�+��������

��� 7����������
�������� '*��� �
�� ��������������� )
����������������% �� ��� 5����=����
z = 0 +�

E0(1 + r) = E0d,

E0

Z1
(1 − r) =

E0

Z2
d

⎫⎬
⎭ �?�#!%

��� -�=3���� ��� �?�#!% 
��'���

r =
Z2 − Z1

Z2 + Z1
�?�#$%

d =
2Z2

Z2 + Z1
. �?�!@%

D� )�

�� ��1 ������ > ��� ����
�� 8����� ��� ������  ��� ���
�������� ���� ����
��� ��� r = −1
��� d = 0� ��� ���'�

���� 0�

� ���� �
�� ����� ������������� �� π ����
 ��=������� ��� ���
����
��� ���� �������� 0�

� �����
����� -��
���� +� -
������� ?� �C%�

4�#�� &�(�8��� �� ���������!��� ������

����� ���� ���
��������� �
���� ���� ���� <�=����� ����� ��������� ���'�

����� 0�

� ����������
������� ����� ��� 5��
��=����� �� ������  �� ��� ���
���������� �
���� �R ������ >% ����� ���
������� <�=����� �� ������ " ������ �����
3���� ���� �→ -

� ?� @%� 	� ����
� ����2
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Ey1 = E0

(
e−jk1z + r1e

jk1z
)

Hx1 =
E0

Z1

(
e−jk1z − r1ejk1z

)
⎫⎬
⎭ �?�! %

Ey2 = E0

(
d2e

−jk2z + r2e
jk2z

)
Hx2 =

E0

Z2

(
d2e

−jk2z − r2ejk2z
)
⎫⎬
⎭ �?�!>%

Ey3 = E0d3e
−jk3z

Hx3 =
E0

Z3
d3e

−jk3z

⎫⎬
⎭ �?�!"%

�����
� ��� 7����������
���������� �� ��� 5����=����� ����
�� ���� ��� <�=������� ��� ������
�����'��������

 � 7��������� 
�� z = 02
1 + r1 = d2 + r2

1
Z1

(1− r1) =
1
Z2

(d2 − r2)

⎫⎬
⎭ �?�!B%

→ 1 + r1
1− r1

=
Z2

Z1

d2 + r2
d2 − r2

�?�!C%

>� 7��������� 
�� z = b2

d2e
−jk2b + r2e

jk2b = d3e
−jk3b

1
Z2

(
d2e

−jk2b − r2ejk2b
)

=
1
Z3
d3e

−jk3b

⎫⎬
⎭ �?�!?%

→ d2e
−jk2b + r2e

jk2b

d2e
−jk2b − r2ejk2b

=
Z3

Z2
�?�!#%

0��� ��� ����1 �?�#$% ��� ��������3�

����/����0 Ze �� ��� 7��

� z = 0 �����

r1 =
Ze − Z1

Ze + Z1

→ Ze
Z1

=
1 + r1
1− r1 �?�!!%

1 2d d 3

2
µ  ,ε2

x

1 1µ  ,ε
1

E y e

H xr

2 µ  ,ε
3
3 3

z

r2
y

r

-

�
���� ?� @2 <�=����� ��� 5����������� �� ��� �� ����� ���
���������� �
�����
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��L������ �� '�
�� ��� ��� &
������� �?�!C% ��� �?�!!%

Ze
Z1

=
Z2

Z1

d2 + r2
d2 − r2

. �?�!$%

-����������� ����
� ���� ��� &
������� �?�!#%

r2
d2

=
Z3 − Z2

Z3 + Z2
e−2jk2b �?�$@%

��� ��� &
������� �?�$@% ��� �?�!$% '�
��

Ze = Z2
Z3 + Z2 + (Z3 − Z2)e−2jk2b

Z3 + Z2 − (Z3 − Z2)e−2jk2b
�?�$ %

��� ��� γ = jk2

Ze = Z3

1 +
Z2

Z3
tanh γb

1 +
Z3

Z2
tanh γb

. �?�$>%

����� ���� ��� ��� ��� 8�������������� 
������� 	����+����
�
�
� ������
�� ������ �→ -

� ?�  %�
����� ��� 0��
 ��� �
���������� b +� ����� /��
'����� ��� λ2/4 ���� r1 +�� /����������� ���

Z  ,

Z  ,  re 1

f 2~~

1Z

Z

b

γ 3

-

�
���� ?�  2 	����+����
�
�
� ����� ���
���������� �
�����


����� ������� )*� b = λ2/4 ���� ��� λ/4�5����'������� ����������� D� ��� G���� ������
8����� ��� λ/4 ������ 7�������� ����*���� �� <�=������� +� ����������� -�' ����� 5�������
��� ���� ����� ������ ������������ �� ��� �

������� ���� �����
 �� ��� �����A��� -������ �����
��������������� ��������� ���'�

���� 0�

� ���������
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� ���� '���
(	!��

-
� �������� )�

 ����������� ��� ��� �����'�� 	��'�

 �
���� 0�

�� �� ����� �
���� 5����=����
+����� ������� ������ ���'���� ����

 ��
��
� <*�����
*��� ��' ��� /����
��� ����
�+������ 0�

��
�� &���+=������ �� ����� 	���
����� ��' �

��������� )�

� *
�������� ������ �3�����

	�� 5��
 ��� ���'�

����� 0�

� ���� �
� ��
������� 0�

� ��� ������  �� ������ > ��������
����

�;�;�;� -�M������ ��	 �����

����� ,�

�

D� �

�������� ���� ��� ���'�

���� �
��� 0�

�� ��
��� ��� ��� Ee(�r, t) ��� He(�r, t) 
�+�������
��

��� �

������� ��
�������� ����� 	��� ��
��� 0�

� ���� ����� �� �� +��� -����
� +��
��� �������
��1 ��� ���� ��� ���� Ez�F��������� ��� ��� ������ ��� ���� Hz�F��������� ���� ��� (��
�����
�3���� ��� '�
��������1�� ���������������� �→ -

� ?� >%2

*�

 /B �Ee 
���� �� ��� 	��'�

��
���

*�

 �B �He 
���� �� ��� 	��'�

��
���

��� ���'�

���� 0�

� ����
�� ��� D���� :e ;� ��� ��=�������� ��� D���� :r ;��� ��� ������������
��� D���� :d ;� ��� ������ �� ��� E�

���� y > 0 ��� �
� ������  
�+�������� ��� ������
�� E�

���� y < 0 �
� ������ >� ����� �������
���������� µ1� ε1 
+��µ2� ε2�

eH e P E xr
ϕ rϕ

dH

ϕ

µ  , ε2 22

z

E d

x d

ex
d

x

y

Fal l    p

E e

eϕ
E x e

E ye

1 1µ  , ε1

x

E yr

rϕ
rE

r

H r

e rH e
ϕ ϕ

d

E d

2 µ  , ε2 2

dH

z ϕ

x d

ex
y
z

x

Fal l    s

P
E e

1 1µ  , ε1

y
x

H r

rE

r

-

�
���� ?� >2 ��� �����'� 	��'�

 ��' ���� 5����=�����
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D� '�
������ ���� ��' ��� ���
�+��� -���
� ��� (����
���������� ����1 ejωt ���+������� 0��
��������� ��� ����
���� -��
������������������ γi = jki ��� ��� )�
���

������������ Zi�

γi = jω
√
µiεi i = 1, 2, . . .

Zi =
√
µi
εi

�?�$"%

&���1 -

�
���� ?� > ����
��� ��� '�
����� <���������

 � ���'�

���� <������� xe2
xe = x sinϕe − y cosϕe �?�$B%

>� ������������ <������� xd2
xd = x sinϕd − y cosϕd �?�$C%

"� ��=�������� <������� xr2
xr = x sinϕr + y cosϕr �?�$?%

�;�;�;� !�	
���
�� ��	 *	����
�.��� *�	��
�

 � *�

 /
��� ���'�

���� 0�

� ��� �� ������ )�

 ��� F���������� Ex� Ey ��� Hz� �� ����� ���
5����=���� ����� +����+
����� )�
������������ ����������'�� ������� ������ ��� ��� -��
���+�

��% 	��'�

���� 0�

�K ������  2

Exe = E0 cosϕee−γ1xe �?�$#%

Eye = E0 sinϕee−γ1xe �?�$!%

Hze =
E0

Z1
e−γ1xe �?�$$%

�
% <�=�������� 0�

�� ������  2

Exr = E0rp cosϕre−γ1xr �?� @@%

Eyr = −E0rp sinϕre−γ1xr �?� @ %

Hzr = −E0

Z1
rpe

−γ1xr �?� @>%

��% ������������ 0�

�K ������ >2

Exd = E0dp cosϕde−γ2xd �?� @"%

Eyd = E0dp sinϕde−γ2xd �?� @B%

Hzd =
E0

Z2
dpe

−γ2xd �?� @C%

E����� ���� rp ��� dp ��� ���� +� 
����������� &�31�� ��� <�=������ 
+�� �����������

'������� ��� D���� :p ;�������� ��' ��� )�

 � ��� ��� �� ��� 	��'�

��
��� 
�������� �Ee�

)*� ��� 5��������
����������� ��� �������� �
���������� )�
��� ��1 ��� 7��������� �� ���
&���+=���� y = 0 ��'*

� ����� ����� )�������� ����
� ���� +� 9� '*� ��� Ex�F���������2

cosϕee−γ1x sinϕe + rp cosϕre−γ1x sinϕr = dp cosϕde−γ2x sinϕd �?� @?%

����� &
������� ���� ��� ���� '*� �

� x ��'*

� ����� ���� ��� 	���������
'��������� �
����
����� �� ��

γ1 sinϕe = γ1 sinϕr = γ2 sinϕd �?� @#%

��
��
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E������ '�
�� ������ ��� &�:�<��������0

ϕe = ϕr , �?� @!%
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������ ��1 ��� 	��'�
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 ��� ��� <�=�����������
 �
���� ����� 0�������� '�
��
������ ��� 6	�.�
��������0

sinϕe
sinϕd

=
γ2

γ1
. �?� @$%

��� 9�������������+ �3���� ��� ����� ki = nik0 �9������������� niK ����
����� �?�>$%%
���� �� ��� )���

n1 sinϕe = n2 sinϕd �?�  @%
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��� ��� E�
'� ��� 7����������
���������� '*� ��� Ex� 
+��Hz�F��������� �3����
��� ��� <�=������'����� rp ��� ��� ����������'����� dp 
��������� H���� /���������
��� <�=�����������+�� �?� @$% ����
��� ���

cosϕe(1 + rp) = dp cosϕd
1
Z1

(1− rp) =
1
Z2
dp.

��� -�=3���� ������ &
��������� 
��'��� ���

rp =
Z2 cosϕd − Z1 cosϕe
Z2 cosϕd + Z1 cosϕe

�?�   %

dp =
2Z2 cosϕe

Z2 cosϕd + Z1 cosϕe
�?�  >%

>� *�
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D� )�

 � ��� ��� ���'�

���� )�
� ��� F���������� Hx� Hy ��� Ez� -��� �� ������ )�
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7����������
���������� ��������
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� ����
���� ������ ��� <�=������'������ ��� ds� ��� ��� ����������'������ ��� rs� ����1

rs =
Z2 cosϕe − Z1 cosϕd
Z2 cosϕe + Z1 cosϕd

�?�  "%

ds =
2Z2 cosϕe

Z2 cosϕe + Z1 cosϕd
�?�  B%

��� )����
� �?�   % 
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2 − φc�
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&���1 �?�   % ������������ ��� <�=������ �� �� �� ��
� rp = 0� '�

�

Z2 cosϕd = Z1 cosϕe. �?�  C%

��� 	�����+�� �� ��� 9�������������+ 
��'��� ��� 9��������

tanϕe
tanϕd

=
ε2
ε1

�?�  ?%

'*� ��� /����������� ��� <�=������

>� *�
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�� ����
� ���� ��� �?�  "% ��� 9��������

tanϕe
tanϕd

=
µ2

µ1
�?�  #%

'*� ��� /����������� ��� rs�

-� ����� &���+=���� ����
�� ���
������� ���� �� ����� µ1 = µ2 ��� ε1 �= ε2 ��� +�� /�����������
��� rs ������� 9�� 
�
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��������� ��� �
���� 0�

� �)�

 � ��� )�

 �% ������ '*� µ1 = µ2

��� ε1 �= ε2 
�� ��� 	�'*

�� ��� �?�  ?% ��� <�=������'������� rp = 0 ��� rs �= 0� �� �� ���
��=�������� 0�

� ��� 
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dϕ ϕd

ϕd

Bϕ ϕr
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�

&���1 �?�  ?% 
�������� ���� ��� 9������������
 ϕB ����� 9�������� ��� �?�$"% ��� ���
9�������������+ �?� @$% �����

tanϕB
tanϕd

=
ε2
ε1

=
γ2
2

γ2
1

=
sin2 ϕB

sin2 ϕd
�?�  !%

�� ��
sinϕB cosϕB
sinϕd cosϕd

=
sin(2ϕB)
sin(2ϕd)

= 1 �?�  $%

zu ϕB + ϕd =
π

2
. �?� >@%

)�
�
��� ����� �� ������ )�

 ���� ��� <�=�����������+ �?� @!% ��� ϕe = ϕr ��� ������������
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0���� cosα = sin(π/2− α) ����
��� ��� ���� ��� 	�����+�� ��� �?� >@% ���
��1
��� ��� ���
9�������������+

tanϕB =
γ2

γ1
=
√
ε2
ε1

�?� > %
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D� :�����;8����� ��� κ� ωε0� �� ��1 �� ��� ������� )�

�� Z2 ≈ 0 �����+� ������ ����� ��� ���
)�����
����� )����
� �?�   % ��� �?�  >% '�
�� ����

rp = −1; dp = 0. �?� >>%

H���� ��� ��������� /��������+����� ��������� ����� ����� ��� +����� ������ ������������ 0�

��
D� ������  ����
� ��� S
��
������� ��� ���'�

����� ��� ��=��������� 0�

� ��� ����
��������
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�� ��� /��������� ��� &
��������� �?�$#%��?� @>% ����� 9�������� ��� ϕe = ϕr = ϕ ����
�
��� &�����'�
�

Ex = jE1

ky
k1
e−jkxx sin(kyy) �?� >"%

Ey = E1

kx
k1
e−jkxx cos(kyy) �?� >B%

Hz =
E1

Z1
e−jkxx cos(kyy) �?� >C%

��
�� '�
����� -
�*�+����� ��������� ������

E1 = 2E0 �?� >?%

kx = k1 sinϕ �?� >#%

ky = k1 cosϕ
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1 = k2

x + k2
y. �?� >!%

0�� ��
�� ����� ���� ����
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� ?� C%

v
(x)
ph =

c1
sinϕ

≥ c1. �?� >$%
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rot�E = −∂
�B

∂t
→ �

rot �H =
∂ �D

∂t
+ �J → �

div �D = � → �

div �B = 0 → �

��� ������ �� E��

����� ���� �� �������� �
� �������� ������� ��� 
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rot�E = −jωµ �H �#� %

rot �H = jωε �E �#�>%

div �E = div �H = 0. �#�"%
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div rot �A = 0 +� ������1��

 � TEz�0�

�� �E�0�

��%2
�E = rot �A

H
�#�B%

>� TMz�0�
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��%2
�H = rot �A

E
. �#�C%

(������� 
��������� ��� ��� ��� )�

 ��� E�0�

���

 � TEz5*�

B
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��������� �#� % ��� �#�>% ������+�� ����
� ����

rot�E = rot rot �A
H

= graddiv �A
H −∆ �A

H

= −jωµ �H �#�?%

rot �H = jω εrot �A
H

�#�#%
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�H = jωε �A
H

+ gradΦH �#�!%
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graddiv �A
H −∆ �A

H
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H
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H
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k = ω
√
µε =

2π
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∂2 �A
H

z

∂x2
+
∂2 �A

H

z

∂y2
+
∂2 �A

H

z

∂z2
+ k2 �A

H

z = 0 �#� "%

>� TMz5*�

B
,�� ���+�� ��� &
������� �#�C% �� ��� )�
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��������� �#� % ��� �#�>% ���� ��� ������� <����

���� ��'�
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�� +�� TEz�)�
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 �A
E

= (0, 0, AEz ) '*��� ���� ������ ��' ���
E�
���
�+�
�������

∂2 �A
E

z

∂x2
+
∂2 �A

E

z

∂y2
+
∂2 �A

E

z

∂z2
+ k2 �A

E

z = 0 �#� B%
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���� ��� �#� "% ��� �#� B% 
����� ��� �� '�
������ ������� ��� F���+��������
��� ′E′ ��� ′H ′ ���� &���1 ��� 6�	��


��.��� 4	��
�����0 �����
����� -
������� >�>�C
&
������� �>�$C%% ������
� ���� ��� 83���� ��� E�
���
�+�
������� �#� "% 
+�� �#� B% '����
 +�

Az(x, y, z) = f(x)g(y)h(z), �#� C%

��
�� f � g� h 6����
� ��� ��� ����� F��������� �
������ ����� ��

��� 7���� '�
��� ��� ��� E�
��
��
�+�
������� ��� ���� &
���������

1
f

∂2f

∂x2
= −k2

x �#� ?%

1
g

∂2g

∂y2
= −k2

y �#� #%

1
h

∂2h

∂z2
= −k2

z �#� !%

��� ��� 9��������

k2
z = k2 − k2

x − k2
y =

2π
λL
, �#� $%

��� ����������� ��/�	�������
��.�
��� )�*��� ������ ��� 
������ ��� 83����������+� ��� &
���
����� �#� ?%��#� !% �
��
������ 7�� 
�����2

f(x) = A1 cos kxx+A2 sin kxx �#�>@%

g(y) = B1 cos kyy +B2 sin kyy �#�> %

h(z) = Ce±jkzz �#�>>%

0��� ��� ��� +�� ������������+ �#� C% ���� ��� (����
��� ejωt ��'*���� ����
��� ��� �
� �

���
����� 83���� '*� ��� 
����� ��������
� AEz ��� AHz 2

Az(x, y, z, t) = C

{
A1 cos kxx
A2 sin kxx

}{
B1 cos kyy
B2 sin kyy

}
ej(ωt±kzz) �#�>"%

��� F��������� C� Ai� Bi (i = 1, 2) ���� ����������
���'��� ��� �� �

�������� ����
��� D�
��� 	���������
'������� ����
� ��� �
��� /��+������ ���� 0�

� �� ��������� z�<������� ��� ���
������ /��+������ ���� 0�

� �� ��������� z�<��������

-�� &
������� �#�B% ��� �#�C% ����
�� ���� ��� ��� )�
������������ '*� 5	� ��� 5��0�

���
��
�� ���� �����+�� ��1 ��� +����3���� :���
�;)�
� � �H 
+�� �E% *
�� ��� ������������� �����

�
���� &
������� �
� ��A��������������������'� �������� ������ ����� D� ���+�
��� ����
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 � TEz5,�

�� (Az = AHz )2

Ex =
∂Az
∂y

�#�>B%

Ey = −∂Az
∂x

�#�>C%

Ez = 0 �#�>?%

Hx =
1
jωµ

∂Ey
∂z

= − 1
jωµ

∂2Az
∂x∂z

�#�>#%

Hy = − 1
jωµ

∂Ex
∂z

= − 1
jωµ

∂2Az
∂y∂z

�#�>!%

Hz = − 1
jωµ

(
∂Ey
∂x
− ∂Ex

∂y

)
= −k

2 − k2
z

jωµ
Az �#�>$%
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�� (Az = AEz )2

Hx =
∂Az
∂y

�#�"@%

Hy = −∂Az
∂x

�#�" %

Hz = 0 �#�">%

Ex = − 1
jωε

∂Hy

∂z
=

1
jωε

∂2Az
∂x∂z

�#�""%

Ey =
1
jωε

∂Hx

∂z
=

1
jωε

∂2Az
∂y∂z

�#�"B%

Ez =
1
jωε

(
∂Hy

∂x
− ∂Hx

∂y

)
= +

k2 − k2
z

jωε
Az �#�"C%

��� �*�+���� 7�����
����� ����� ���� �� '�
������ ��� (���'����� ejωt ��� &
������� �#�>"% '����
��
������ -�� ��� ��A��������������������'��� �#�>B%��#�"C% ����
� ���� ���� '*� ��� )�
�������
������2

 � TEz5,�

��

Ex = CHky

{
sin kxx
cos kxx

}{
cos kyy
− sinkyy

}
e±jkzz �#�"?%

Ey = CHkx

{ − cos kxx
sin kxx

}{
sin kyy
cos kyy

}
e±jkzz �#�"#%

Ez = 0 �#�"!%

Hx = −CH kx
jωµ

(±jkz)
{

cos kxx
− sinkxx

}{
sin kyy
cos kyy

}
e±jkzz �#�"$%

Hy = −CH ky
jωµ

(±jkz)
{

sin kxx
cos kxx

}{
cos kyy
− sinkyy

}
e±jkzz �#�B@%

Hz = −CH k
2 − k2

z

jωµ

{
sin kxx
cos kxx

}{
sinkyy
cos kyy

}
e±jkzz �#�B %

>� TMz5,�

��

Hx = CEky

{
sin kxx
cos kxx

}{
cos kyy
− sinkyy

}
e±jkzz �#�B>%

Hy = CEkx

{ − cos kxx
sin kxx

}{
sin kyy
cos kyy

}
e±jkzz �#�B"%

Hz = 0 �#�BB%

Ex = −CE kx
jωε

(±jkz)
{

cos kxx
− sinkxx

}{
sin kyy
cos kyy

}
e±jkzz �#�BC%

Ey = −CE ky
jωε

(±jkz)
{

sin kxx
cos kxx

}{
cos kyy
− sinkyy

}
e±jkzz �#�B?%

Ez = −CE k
2 − k2

z

jωε

{
sin kxx
cos kxx

}{
sin kyy
cos kyy

}
e±jkzz �#�B#%
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����� �→ -

� #� % 
����� ��� <���
�����
������ �'*� �

� z%2

1. Ex = 0 '*� y =
{

0
b

��� �

� x ∈ [0, a]

2. Ey = 0 '*� x =
{

0
a

��� �

� y ∈ [0, b]

3. Ez = 0 '*�

⎧⎪⎪⎨
⎪⎪⎩

y =
{

0
b

��� ∀x ∈ [0, a]

x =
{

0
a

��� ∀y ∈ [0, b]

�� ��� 5��������
����������� �� ��� ����
 
�������� 0��� �������������
D� $�5*�

 ���� ���  � ��� ��� >� <���
�������� �����

Ex ∼
∂AHz
∂y

��� Ey ∼
∂AHz
∂x

��� ��'*

� ������� ���� �� ������������+ �#�>"% '*� ��� /�������������
 AHz �

� 7�����
�����
������������� �� �� ����

AHz ∼ cos kxx cos kyy.

���� ��
�
Ex ∼ cos kxx sin kyy
Ey ∼ sin kxx cos kyy

}
'*� �

� z

0�������� '������ ��� <���
����������

sin kxa = 0 ��� sin kyb = 0.

����� 9�������� ���� ����� ��� ���+��

�� 0����

kx =
mπ

a
m = 0, 1, 2, . . .

ky =
nπ

b
n = 0, 1, 2, . . .

�#�B!%

�
?�	 m = n = 0 ��'*

� ������� ��� )�

 m = n = 0 ���� ��������
������ �� ����� �

� )�
���
������������ �*����� ����� 5�����

3���� ��� ���� ��������
������

��� 0���� '*� kx� ky ����1 �#�B!% ������ ���� �
� �����3�	�� 
�+��������
D� $�5*�

 ���� ��� ������ 9�������� ����� Ez ∼ AEz ��� ��'*

� ������� ���� �� �������

������+ �#�>"% '*� ��� /�������������
 AEz �

� ������������ ������������� �� ��

AEz ∼ sin kxx sin kyy.

0�������� '������ ��� <���
���������� ���� ���� ������

sinkxa = 0
sinkyb = 0.

E������ '�
��� ��� �
��.��� �����3�	�� ��� �� 5	�)�



kx =
mπ

a
m = 0, 1, 2, . . .

ky =
nπ

b
n = 0, 1, 2, . . .

�#�B$%
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7����
 �� 5	� �
� ���� �� 5��)�

� �
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�������� ����
� ����
���� �����
���� -�+��
 ��������� 0�

��'������ ��� ����������������� ���
����� ��� ���������m ��� n ������+������� ����� E��L� ���� ��� F���+�����
���� TEz mn �Hz mn% 
+��TMz mn �Ezmn% 
����+��
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������� ���� ��� ��� �� ��� 8���� ��� )�
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 � TEzmn5,�

��B

Ex = −CH nπ
b

cos
(mπ
a
x
)

sin
(nπ
b
y
)
e±jkzz �#�C@%

Ey = CH
mπ

a
sin
(mπ
a
x
)

cos
(nπ
b
y
)
e±jkzz �#�C %

Ez = 0 �#�C>%

Hx = ± kz
ωµ

Ey �#�C"%

Hy = ∓ kz
ωµ

Ex �#�CB%

Hz = −CH k
2 − k2

z

jωµ
cos
(mπ
a
x
)

cos
(nπ
b
y
)
e±jkzz �#�CC%

>� TMzmn5,�

��B

Hx = CE
nπ

b
cos
(mπ
a
x
)

sin
(nπ
b
y
)
e±jkzz �#�C?%

Hy = −CEmπ
a

sin
(mπ
a
x
)

cos
(nπ
b
y
)
e±jkzz �#�C#%

Hz = 0 �#�C!%

Ex = ∓ kz
ωε
Hy �#�C$%

Ey = ± kz
ωε
Hx �#�?@%

Ez = CH
k2 − k2

z

jωε
sin
(mπ
a
x
)

sin
(nπ
b
y
)
e±jkzz �#�? %
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��3���	����� ZF ��� '������ �
���� �
����������������� 0�

� ��� �

������ ��L�
����� �
� ��� ����� ��� +������
������� I������� ��� 9������ ��� �
���������� )�
������� �E ���
��� ������������ )�
������� �H � ��� ���� �

������ +� ZF =

√
µ/εk ����
��

)*� ��� <����������

����� ��� ��� )�
���

������������ ZF �

������ ��� ��� ����������
��
)�
������������ ��L�����2

ZF =
ET
HT

=

√
|Ex|2 + |Ey|2
|Hx|2 + |Hy|2

�#�?>%

��� 	�����+�� ��� �������������� -����*��� '*� ��� )�
������������ ����1 �#�C"% ��� �#�CB%

�� 5	� 
+�� �#�C$% ��� �#�?@% 
�� 5��0�

�� 
��'���

ZF =

⎧⎪⎨
⎪⎩

ZH =
ωµ

kz
'*� 5	�0�

��

ZE =
kz
ωε

'*� 5��0�

��
�#�?"%

��� =	
��3�

��� �� �� ��� 0�

�� ��� ��� ����������� &���+'��4���+ fc� ����2

� 5	�&������

� ��� ��� TEz 10����� ��� m = 1 ��� n = 0 �����
�� ���� a > b �����������+�%
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(�� 9����A ��� &���+'��4���+ ��� '�
������ 
���������� )�

� '*� ���� )��4���+ f

k2 < k2
x + k2

y

��
�� �� ���� kz �� ��� 7�����������
������� �#� $% ��������� ���� 
������� ���� ����������

�
����'��� ���� +����3����� 0�

�% �� ��� z�<�������� D� &���+'�



k2 = k2
x + k2

y

����
� ���� ��� ��� ��L������ �#� >% k = ω
√
µε = 2π/λ ��� 0�

��+��
 k ����� ��� kx = mπ/a

��� ky = nπ/b ��� =	��0�	�8
��0 ��� ,�

��
����	�

fcmn =
1√
µε

√(m
2a

)2

+
( n

2b

)2
�#�?B%

�D� ��� ,����������������� ��� �

������ 
�� �
������������ 7���
������ ��
� ��� &���+'��4���+
��� �
��� ��� ������ 7������� ����� )��4���+
����� ���% H������

 ��� &���+'��4���+ ��� ����
-��
������� ��� 0�

�� �� <����������
������ ����� ���� �3�
��� M ��� 0�

�� ������ �����������
������'�� ��� &���+'��4���+ fcmn ���������� ��� =	��03�

��
����

λcmn =
1√(

m
2a

)2 +
(
n
2b

)2 . �#�?C%

)*� )��4���+�� f �
����

 ��� &���+'��4���+ fcmn 
��'�� ������������ e±jkzz 0�

�� �� ��������
���� �������� z�<������� 
���� ��� 8�������

��� 0�

�� ��
�� ��
�� �� E��

����� ��� �� -��
���������������� ��������� 0�

��
����� ���
���������� !��

����	3�

��
���� λL2

λL =
λ√

1− (λ/λc)2
�#�??%

��� ��� +����3����� )���������

��
���� �� ��
�����+��� '����� <��� λ ��� ��� &���+��

���

���� λc�

7���� ����
��� ��� ���
��1
��� '*� ��� )�
���

������������� ���� &
������� �#�?"%

ZF =

⎧⎪⎨
⎪⎩

ZH =
Z√

1− (λ/λc)2
'*� 5	�0�

��

ZE = Z
√

1− (λ/λc)2 '*� 5��0�

��

�#�?#%

��� ��� )�
���

������������ Z =
√
µ/ε ��� '����� <������

H���� 9��*������������ ��� 7�����������
������� ����
� ���� ��� 4��������.�3��������� vph
��� �� ����� E��

����� '��������������� 5	� ���� 5��0�

�2

vph =
ω

kz
=

1
√
µε
√

1− (λ/λc)2
. �#�?!%

(�� 	���������� ��� )�
�
�
� ��� 0�

� ��������
� ���� ��� vph �� -��
����������������� ���� �
��
�� z�<��������

)*� ��� ����� ��� >�	
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���� E��

������ ��� ��� &��������������������� �
���� ��� 	����
�������������������� &���1 ��� ��L������ �?�B!% ��� &��������������������� ����
��� ���2

vg = vE =
dω

dkz
=

√
1− (λ/λc)2√

µε
�#�?$%

�,�� '���������-��������� ��� ��� ������������ <����	 #-������ ������= ��� .��""�������-���������$
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vph · vg =
1
µε

= c2 �#�#@%

6�#�� �������������� ��� '�
�������

��� ��������� ���������� 0�

� �� <����������

����� ��� '*� a > b ��� TEz 10�0�

� ��� ��� )�
��
����������� Ey � Hx ��� Hz � ������ ���� ��� ��� �

�� �3�
����� 0�

�� ��� ���������� &���+�
'��4���+

fc 10 =
1

2a
√
µε

�#�# %


+�� ��� ��31�� &���+��
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λc 10 = 2a �#�#>%

������ ���� ���� ���� �
� E����� ���� =	
������ 
�+��������
D� ��� <���
 
���� ��� D�������� ������ ����� �3�
����� ���1�� 9�����
�'��4���+
������ '*� �����
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���� E��

����� +� ���������� ��� 9�����
�'��4���+
������ ���� ���� ����� ����� ��� &���+�
'��4���+ fc 10 ��� &��������� ��� ���� �
�� ����� ��� &���+'��4���+�� �3����� 0�

���.���
�TEz 20�5.� ��� fc 20 = 1/(a

√
µε) ��� ��� TEz 01�5.� ��� fc 01 = 1/(2b

√
µε)% ��������������
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�������� /������������ ���� �����
����� +����+
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��.��� ��� ����� ���� ��� :7�����������
�����;���� �
�� ��� ��� &���+'���
4���+�� �3����� ����� �������
���� �� +� 9� ����� 	������*
������ �� ����� ����� ����������
�������% +� �����������
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���
���'����� E��

������ ������ ��� ����'��� ��� &������
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�� -���������
�� ���� &���+'��4���+ ����� ��� �� ��1 ���� ��� �������������� -
����� ���� ����� �������
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Allgemeines Dreischichtenproblem

Medium 1

Medium 2

Medium 3

Symmetrisches Dreischichtenproblem

Medium 1

Medium 2

Medium 1

3-Komponenten-Wellen
∂/∂x = 0

5-Komponenten-Wellen

Ez - Wellen Hz - Wellen Ey - Wellen Hy - Wellen
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rot�E = −∂
�B

∂t

rot �H =
∂ �D

∂t
+ �J

div �D = �

div �B = 0
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∂2A

∂r2
+

1
r

∂A

∂r
+

1
r2
∂2A

∂ϕ2
+
∂2A

∂z2
+ k2A = 0 �$�?%
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A = f(r)g(ϕ)h(z), �$�#%
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1
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e±jmϕ
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H(1)
m (x) = Jm(x) + jNm(x) �$�>B%

H(2)
m (x) = Jm(x)− jNm(x) �$�>C%
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√
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A = Zm(Kr)
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sinmϕ
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}
e±jkzz
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e±jmϕ = e±jm(ϕ+2π) �$�>$%
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A ∼ cosmϕ �$�"@%
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 ��� ����� Ez� ���� Hz�0�

�������+ ���
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���� �����
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A ∼ Jm(Kr) �$�" %
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A = CJm(Kr) cos(mϕ) e−jkzz

mit kz =
√
k2 −K2

�$�">%

A���� TMz mn)������

)*� TMz� ���� Ez�0�
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�

�H = rot �A

�E =
1
jωε

rot �H
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Hr =
1
r

∂Az
∂ϕ

= −Cm
r
Jm(Kr) sin(mϕ) e−jkzz

Hϕ = −∂Az
∂r

= −CKJ ′
m(Kr) cos(mϕ) e−jkzz

Er = − 1
jωε

∂Hϕ

∂z
= −C kz

ωε
KJ ′

m(Kr) cos(mϕ) e−jkzz

Eϕ =
1
jωε

∂Hr

∂z
= C

kz
ωε

m

r
Jm(Kr) sin(mϕ) e−jkzz

Ez =
K2

jωε
Az = C

K2

jωε
Jm(Kr) cos(mϕ) e−jkzz
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m =
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�������� �����
��� ������� ��1 ��� ���������
� �
��������� )�
� Eϕ ���
Ez 
�� r = a �
���� ,�

 ���� ��1� �� �����
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Hr = −Cm
r
Jm

(
jmn

r

a

)
sin(mϕ) e−jkzz

Hϕ = −C jmn
a
J ′
m

(
jmn

r

a

)
cos(mϕ) e−jkzz

Er = −CZE jmn
a
J ′
m

(
jmn

r

a

)
cos(mϕ) e−jkzz

Eϕ = CZE
m

r
Jm

(
jmn

r

a

)
sin(mϕ) e−jkzz

Ez = C

(
jmn
a

)2 1
jωε

Jm

(
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)
cos(mϕ) e−jkzz
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ZE =
kz
ωε
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ωcmn =
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a
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a
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a

)
e−jkzz
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J ′

01

(
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jωε
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�E = rot �A
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jωµ
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Er =
1
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∂Az
∂ϕ

= −Cm
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Jm(Kr) sin(mϕ) e−jkzz

Eϕ = −∂Az
∂r

= −CKJ ′
m(Kr) cos(mϕ) e−jkzz

Hr =
1
jωµ

∂Eϕ
∂z

= C
kz
ωµ
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Hϕ = − 1
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Az = −C K2
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Er = −Cm
r
Jm

(
j′mn
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a

)
sin(mϕ) e−jkzz

Eϕ = −C j
′
mn

a
J ′
m

(
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)
cos(mϕ) e−jkzz

Hr = C
1
ZH
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J ′
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cos(mϕ) e−jkzz
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j01 R 2.405 TMz 01 �Ez 01%
j′21 R 3.054 TEz 21 �Hz 21%
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-�1��� ��� D����
����� 
�L���� ���� ��� ���
�������� ���
��������� �� ��� ��� �
�����������
������� 0�

�� ��'*��� ������ �→ -

� $� @%� /�����
 ��� F�����

������ ��� ��� ���� -
���������
��� )�
��� ���� ��1��� ��� F�����

������ ���� *
��������� +�� )���
������ �
���������� 	������
�� ��� ,����������������� ���������K ��� ������ ���� 
�������� +�� S
��������� 
������ )��4���+�

������

�� 
�� ����� F�����

������ ��� z�-���� ����� +�� <�������
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Ez = Eϕ = 0 '*� r = ri ��� r = ra �$�C %
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������ ����� ����
� ����

Zm(Kr) = 0 '*� r = ri ��� r = ra 
�� 5��0�

�� �$�C>%

Z ′
m(Kr) = 0 '*� r = ri ��� r = ra 
�� 5	�0�

�� �$�C"%
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� ��� 	���������
������� ��'�����

� ������2

Nm(Kri)
Jm(Kri)

=
Nm(Kra)
Jm(Kra)
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������ ���� 0�

� ���������� ��� �����
&���+'��4���+ �ωc = 0% ���� )*� ��� &���+'��4���+ ��
� kz = 0 ��� �����

ωc =
1
µε
K = 0.

��� 
�������� ��1 '*� ��� 0�

� ���� &���+'��4���+ ���� ��� 	�������� K ������������ ��1�

K = 0 �$�C?%

(�� 9��������� ������ 0�

� ���� ��� ��� 9����
����� ��A�������
�
������� �$� "%

d2f

dr2
+

1
r

d f

dr
+
(
K2 − m2

r2

)
f = 0 �$�C#%

������������ )*� K = 0 ��� m = 0 ����
� ����

d2f

dr2
+

1
r

d f

dr
= 0 �$�C!%

��� ��� 83����

f = C1 ln
r

C2
. �$�C$%

)*� ��� /�������������
 ���� ����

A = C1 ln
r

C2
e−jkz �$�?@%

��������
�� ������� ��
�� ����� 
��*����������� ��1 K = 0 ��� ��� ����� kz = k ��
��
�� ��� ln�)������� '*� r → 0 ����� H����
��� ����
�� ���� ������ -����+ ��� '*� ri > 0 �����
�

������ ���� ��� ����� �� ����� <������

����� ����� �3�
���%� -�� ��� -����+ �H = rot �A ������
��� ��� )�
������������ 
��������2

Er =
1
r
E0e

−jkz

Hϕ =
1
Z
Er =

1
Z

1
r
E0e

−jkz

Eϕ = Ez = Hr = Hz = 0

⎫⎪⎪⎪⎪⎬
⎪⎪⎪⎪⎭

�$�? %

��� Z =
√
µ/ε�

����+����

 ���� ���� ��� -����+ �E = rot �A �3�
���� ���� ������ 
�� ������ -����+ �

�
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������� ��� &���+'��4���+ ωc = 0 
�������� ��1 �� ��� -��������
��� &
��������� =��1�� ����� )*� ����� &
��������� ��1 ���������� ��� E��� ��� ��� <*��
�����
��������� ����� D� 6���� ����
 
�������� ����
������.���� ��� ��� 5	��0�

� �
� &������

�
�3�
����



��� ,�

�� �� �	���01
���	��.��� ��	
��
	��



������� ��

!�� ������#
���������

$%�����������"���
��

0�� 
��� ������������ ����������������

�� ��

�� ���� ��� ������ ���+� -���������� �������
�������

�� �� � �� � �

�

�

�� �� � �� �
� �

� �

�

�

-

�
����  @� 2 ��� �����+.
��������� (���������������

��

-���������'�

� '*� ������ ���

���.� ���� +� 9�

� ��� ���
��������� ����� �8������

��
�����%

� ��� ���
���
���'���� <������

�����

� ��� ����

����� 7��


D� �

�������� ��1 ���� �.
���� 0�

� �
� 83����������+ �����
� ������� �� �� �� ���� ���� 7��
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���������� ��� ������������ /�������������
 �����
��

-�� ��� 9��������� ��1 ��� )�
��� 
�� r = 0� �
�� ��' ��� z�-����� ���
��� ���� ��� ��1 ���
2π����������� ����� ����
� ���� ��� 0��
 ��� 9����
'��������� �Jm,m = 0, 1, 2, . . . % '*� ��� ������
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��
���������� �� <������
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� ����� ��1 ��� ����'��� ��� +���������� )��4���+ ����� ,�
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,����������*
��������� *
�� 
���� 7��������

D� )�

 ��� ��������� )���� �5.� ���
���������� <������

�����% ��� <������
  ��� ���� �������
/��
���� ��� �� ��
� ε1 > ε2�

��� 	���������
������� ��1 �� ������ )�

 ��������� ��
3�� ������� ��� +���������� )���
4���+ 
������ ���� ��� 0�

� ��� ���� �� <������
  ����

)����
	�� %	 ���+����� ��� �����
�������� �������	��
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�� �� xyz�&��������2
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���������� ����������� )�
������������ +� ����
�
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 ��������� +�� 7��������� �������+�� -�� ��� &
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��� 7��������� ��� ���������
�� �
���������� ��� ������������ )�
������������ ����
� ����
����� �������� ��� 	���������
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��� ���+�
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� ��� 83������ ��� �����
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>� (����7������������

�� �� rϕz�&��������2

�� 
�� ��� /��������� ��� (.
���������������� ��� /�������������
� �� z�<������� +��
��
����� ����� ��1 ���� ��� E.
�����

�������+ ��� ����� 7������������ ����� �
����������
��� ����� ������������ /�������������
� ������� ������� ��� ���+��� -������� �������
���� ������
����� �m = 0 
+�� d/dϕ = 0%� '*� ��� ����� 5�� ��� 5	�0�

�� �����������
����� ��� �������� ��� ��� ��� 7����������
���������� '�
������ &
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D�� ���� ��� 7�������� ��� ��� 
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 ��'*

�� �
�� δ � a ��� ��� 7����������� a� ��

�1� ���� ��� ����'��� '*� )��4���+�� �
����

 ��� &���+'��4���+ ��� +����3����� ����
 
��������
7������� �
�

α ≈ δ

2a
µ2

µ1

1√
1− (λ/λc)2

������

��� ��� ����
��� -��
����������������� ����
� ���� +�

kz = β0 + α− jα

��� β0 �
� ��������������� ��� ����
�� 7��������
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'��4���+ ���� ����'��� ��� ��� 
����+�� ��� ���� ��������������� kz = β� H������

 ���
&���+'��4���+ ���� ��� 0�

�� ������'� �kz = −jα%�
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���������� ���
���� ��� ��� )�
�� ����� ����'���
��� 0�

��� ��� ���� �� ��� ������� ���
���� -��
����������������� kz = β− jα �����*���� 	���
������ 9��������� ��� /��
���� ��� �� ��� <���
 ��� ��� ����� ���1�� �������������� -�'����
�3�
���� �� ��1 ,��������� 
����+� �������

	��� ������� +� ��������������� 9��������� ��� /��
���� ��� ��� 4�3�	5#���5��������
���+ 4#�� 	� �����
� ���� �� ��� 7�3��������'������ ���
��� ��� 7�3���� ��� <���
�����������

	� ���� ����������� ��1 ���� 
�� ���*���� ����� 8���'�������� κ � 17Q� ��� )�
�������
������ ��� 0�

� ��� ���� ������ ��� ��� )�
������������ ��� 0�

� �������������� ��� ���� 
��
κ =∞ ����
��� -�� ��� )�
������������ ��� ���
���
���� -�������� ���� ��� ��� 8������������
�� ��� 0��� �������+�� /��
���
������� P ′ �������������� 
��������

)*� ��� ��� 8������������ �������+�� /��
���
������� P ′ ����� 0�

�� ��� ���� �� �������� z�
<������� ���
������� ��
�

P ′ = −dN
dz

. �  � %

��
�� ��� N ��� 8�������� ��� ����� ��� I���������� ��� -�������� ����� 9�� ���
���
���'�����
8�������� ����� ��� 9����� ��� �
���������� ��� ������������ )�
������������ ���

|E,H | ∼ e−αz �  �>%

�
� �� ��� ����� ��� I���������� �������
�� 8������� ���� ��� ����� ��
���
������� ��� �
����������
��� ������������ )�
� 
��������� ��
�

N(z) ∼ N0e
−2αz. �  �"%

7���� ����
� ���� ��� �  � %2

P ′ = −dN
dz

= 2αN �  �B%

��� �����

α =
1
2
P ′

N
�  �C%

��� ,������� ��� ������8����������� 
������ ��� ������ ��1 �����
 ��� ����� ��� I����������
�������
�� 8������� N �
� ���� ��� ��� 8������������ �������+�� /��
���
������� P ′ ��� ��� )�
�
���� ��� ���
���
���� -�������� �κ =∞% 
�������� �������
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��� ����� ��� E��

�����4���������� �������
�� 8������� N

N =
1
2
Re
{∫∫ (

�E × �H
∗) · d �A} �  �?%

��� /��
���� P ′ ���� 8������������% �3���� ��� ��� 0��������
�
�� �JA = �n × �Ht 
��������
������

P ′ =
1
2

∫
�JA · �J

∗
A Re {Zm} ds

=
1
2

√
µω

2κ

∫
|Ht|2 ds. �  �#%

��� D���������� ��'�
�� *
�� ��� <��� ��� E��

�����4������������ ��� &�31� Zm ���� ���� 0����
�������+ �������� -�' ��� E��
������ ��� 9�+������ �  �#% ���� ���� ���+�������
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9�� ��� ��������������� <������� ��� ��� �8� ���� �� '�
������ 7�������� �����������2

� 9��������� ��� )�
��� ��� ��� ����� ��� I���������� �������
��� 8������� N '*� κ =∞�

� 9��������� ��� 0������3�� '*� κ =∞�

� 9��������� ��� /��
���� '*� κ �=∞ ��� E�
'� ��� 0������3�� ��� ���
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 � )*� ��� )�
������������ ��� 8���������

� ��' ����� ���
���
���� 9���
������ �→ -

�   � %
��
� ��� ∂/∂x = ∂/∂y = 0

Ey = E0e
−jk1z

Hx = − 1
Z1
E0e

−jk1z

⎫⎪⎬
⎪⎭ �  �!%

��� kz = β = k1�
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)*� ��� 8�������� ��� ����� ��� )
���� 0 ≤ x ≤ L ��� −b/2 ≤ y ≤ b/2 �������
� ����� ����
�
����

N =
1
2
Re

⎧⎪⎨
⎪⎩

L∫
x=0

b/2∫
y=−b/2

(
�E × �H

∗) · �ez dx dy
⎫⎪⎬
⎪⎭

=
1
2

L∫
x=0

b/2∫
y=−b/2

|E0|2
Z1

dx dy

=
Lb

2Z1
|E0|2 �  �$%

>� ��� /��
���� ������ ��� ��� +�� 0��� ���������
�� ������������ )�
������������

P ′ =
1
2

√
µ2ω

2κ2

∫
L

�Ht · �H
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∇2 �A− graddiv �A− εµ ∂
2

∂t2
�A− µ ∂

∂t
gradΦ = µ

∂

∂t
�M � >� #%

��� ��� #�	���05��.�
��

div �A def= −µ∂Φ
∂t

� >� !%

���� � >� #% �� ��� ���������� ��������
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∇2 �A− µε ∂
2

∂t2
�A = µ

∂

∂t
�M � >� $%

9�� �������
���� 7����������
��� ��1 +������� ��� /�����'�
� �M 
�������� ������� ��� ���
9�+������ rot �M = �J ���*��� ���� 
�1� ���� ��� /�������������
 �A ��� ��� 0�

���
�������
� >� $% 
���������
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��1��� ���� ��� �
��������� )�
������� ��� ��� -����+ � >� "% 
������� ������� ��� ���
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�
���� ��' 
����� 7����� ��� � >� ?% 
��'��� ����� 9��*������������ ��� 8�����+�F���������
���� 9�����������
������� '*� Φ2

∇2Φ− µε ∂
2

∂t2
Φ = −div �M � >�>@%

�� ��1 �����
��1��� ���� ��� ����������� )�
������� ����1 � >� ?% 
�������� ������ �����

�����# ,
���/�����

,�� ����� ��� &�
��� ���� I��

�� 
���������� ���� ��
� �J = �M = 0 ��� '*� 
���� /�����������
���
�����+� ����
� ���� ��� �������� ��������

� 0�

���
�������

∇2 �A− µε∂
2 �A

∂t2
= 0. � >�> %
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�A = A(�r ) ·�ez ���
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∇2A− µε ∂
2

∂t2
A = 0. � >�>>%
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∂A

∂ϑ
=
∂A

∂ϕ
= 0


���������� )*� ��� ∇2�G������� ��
� ���� �� F���
�����������

∇2A =
1
r2

∂

∂r

(
r2
∂A

∂r

)

=
∂2A

∂r2
+

2
r

∂A

∂r
=

1
r

∂2(rA)
∂r2

� >�>"%

��� 	�����+�� �� ��� E�
���
�+�&
������� ��� ��
���
������� ��� r 
��'���

∂2(rA)
∂r2

− 1
c2
∂2(rA)
∂t2

= 0 � >�>B%

��� c2 = 1/(µε)� ����� &
������� ��� ��� �
����� )��� ��� &
������� �?�>>% ��� -
������� ?� � 
�	
��� 0�

�� �� D��
����%� ����� ���� ��� 83����������+ ��� �Z-
��
��� ��������� ������
���
� F�����
 ?� � %� 	� ����
� ���� ��� �

������� 83����

A(r) =
1
r

[
f1

(
t− r

c

)
+ f2

(
t+

r

c

)]
. � >�>C%

f1 ���

� ���� F���
��

� ���� ��� ���� ��� ��� ��������������������� c ���
������K ���� -��
�����
����� ��� 1/r �
� f2 �������� ������������� ���� ���
��'����� :���� +�������+�������; 0�

��

-����� �������*���2 f1 
�������
� ���� 0������� ��� ��� H������� r = 0 �������� +� �����
����� �� -
����� r ��� H������� ��� 8������������������� 
��'� ��� ���� ���� ��� (���

t =
r

c

������A�� ��� ����� f1 ����� ���� 	���	���	�� ����+3�����% #��
���

f2 ������� ���� ����� ����� /������� �� H������� ���������� ����� �� ��� 0������ 
������
��� ��� H������ ��������� ���� ����
��� +�� (��� t = −r/c%� f2 ���� ���� �>��.��	�� #�5
�
�� �������� 7�� ������������ ��� F����
���������+��� ��� ����� ����.����
���� ��� ���� �����
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�����2

∇2Φ(�r0) = −qv(�r0)
ε

(
∇2 − 1

c2
∂2

∂t2

)
Φret(�r0, t) = −qv(r0, t)

ε

��� ��� 83���� ��� ��� 83����

Φ(�r0) =
1

4πε

∫
V

qv(�r )
|�r − �r0| dV

Φret(�r0, t) =
1

4πε

∫
V

qv

(
�r, t− |�r−�r0|

c

)
|�r − �r0| dV

D� ��� ������������� ����
� ���� '*� ��� /���
�����������
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∇2 �A(�r0) = − �J(�r0) (
∇2 − 1

c2
∂2

∂t2

)
�Aret(�r0, t) = − �J(�r0, t)

��� ��� 83���� ��� ��� 83����

�A(�r0) =
1
4π

∫
V

�J(�r )
|�r − �r0| dV �Aret(�r0, t) =

1
4π

∫
V

�J
(
�r, t− |�r−�r0|

c

)
|�r − �r0| dV

9�� Φret ��� �Aret �����
� �� ���� �� ���������� ����������� ��������
�� D� �.��������� )�


������ Φret ��� �Aret ��� ��� I��

�� 
��������� ��� ���� �� ��� 8��'+��� |�r− �r0|/c '�*��� �
� ��
D�����������+�������� �� I��

����� 
�'������ ��� H������ ��� ������������ ��������
� ���� �
��
��� I��

�� +�� (��������

t0 = t− |�r − �r0|
c

.
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��� ��� '*� ���
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� Φ ��� �A� ������� ��� �� ����� �3�
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����� ���� ����������� (����
���������� ����������2

�E, �H, �J, �M ∼ cosωt

D� ����
���� 7�����
�����
�E(�r, t) = Re

{
�E(�r )ejωt

}
����
� ���� '*� ��� ����
��� ����������� /�������������


�Aret(�r0) =
1
4π

∫
V

�J(�r )e−jk|�r−�r0|

|�r − �r0| dV � >�>?%

��� k =
ω

c
= ω
√
µε�
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�J(�r ) = Iedz δ(�r )�ez � >�>#%
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�Aret(�r ) = A�ez =
Iedz

4πr
e−jkr � >�>!%

= CE
e−jkr

r
� >�>$%

mit CE =
Iedz

4π
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��� )�
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 �� F���
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Ar = A cosϑ � >�"@%

Aϑ = −A sinϑ � >�" %

Aϕ = 0 � >�">%
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���������� 	
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 ��� ��� -����+

�H = rot �A �	�0�

��%
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Hr = 0

Hϑ = 0

Hϕ =
1
r

(
∂(rAϑ)
∂r

− ∂Ar
∂ϑ

)

= jCEk sinϑ
e−jkr

r

(
1 +

1
jkr

)
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������� jωε �E = rot �H �����
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Er =
1
jωε

1
r sinϑ

∂(Hϕ sinϑ)
∂ϑ

= −2CEk
2

jωε
cosϑ

e−jkr

r

[
1
jkr

+
(

1
jkr

)2
]

Eϑ = − 1
jωε

1
r

∂(rHϕ)
∂r

= −CEk
2

jωε
sinϑ

e−jkr

r

[
1 +

1
jkr

+
(

1
jkr

)2
]

Eϕ = 0
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Eϕ = Hr = Hϑ = 0

Hϕ = Ce sinϑ
e−jkr

r

(
1 +

1
jkr

)

Er = 2CeZ cosϑ
e−jkr

r

[
1
jkr

+
(

1
jkr

)2
]

Eϑ = CeZ sinϑ
e−jkr

r

[
1 +

1
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+
(

1
jkr

)2
]
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µ
∂ �M

∂t
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Er = 0

Eϑ = 0

Eϕ =
1
r

(
∂(rAϑ)
∂r

− ∂Ar
∂ϑ

)

= jCMk sinϑ
e−jkr

r

(
1 +

1
jkr

)
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∂(Eϕ sinϑ)
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jωµ
cosϑ

e−jkr

r

[
1
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+
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1
jkr

)2
]

Hϑ =
1
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1
r

∂(rEϕ)
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=
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sinϑ

e−jkr

r

[
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1
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]

Hϕ = 0
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Hϕ = Er = Eϑ = 0
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(
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1
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)

Hr = −2CmY cosϑ
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+
(
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]

Hϑ = −CmY sinϑ
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[
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+
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Eϕ = Hr = Hϑ = 0 Hϕ = Er = Eϑ = 0

Hϕ = −jCe sinϑ
1
kr2

Eϕ = −jCm sinϑ
1
kr2

Er = −2CeZ cosϑ
1

k2r3
Hr = 2CmY cosϑ

1
k2r3

Eϑ = −CeZ sinϑ
1

k2r3
Hϑ = CmY sinϑ

1
k2r3
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Eϕ = Hr = Hϑ = 0 Hϕ = Er = Eϑ = 0

Hϕ = Ce sinϑ
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r
Eϕ = Cm sinϑ
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r

Er = −2jCeZ cosϑ
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Hr = 2jCmY cosϑ

e−jkr

kr2

Eϑ = CeZ sinϑ
e−jkr

r
Hϑ = −CmY sinϑ

e−jkr

r2

��� -��
������ ��� �����
�� )�
������������ �
����� ��� 1/r2 �
 ��� ��� -��
������ ��� +��
-��
���������������� �r�<�������% ����������
�� )�
������������ �
����� ��� ��� 1/r �
� ����

�������� ��1 ��� �����
�� )�
������������ �� ���*���� ���1�� -
����� �
���
����� ���� ���
��� 0�

� ���� ��� ���� ����������
� F���������� �� -��
���������������� �er 
����+�� ��
�� ���
�
��������� )�
� ��������� ��' ��� ������������ ������ (������� ��� �
���������� ��� ��������
����� )�
������������ ��
��� ���� ��� 9�+��������

Eϑ = ZHϕ und Eϕ = −ZHϑ � >�B %

D� )���'�
� 
�
��� ��� )�
������������ ���� F���
��

�� ����� ������'������ ���� ��� ��� &��
������������� vp = 1/

√
µε �����
 ���� ��1�� 
������ ��� ����� -��
����� ��� 1/r �
�
����� ���

)���'�
� ��� 	
�����������
� �����
� ���� �
�� 
���
 ��� ��� )�
� ����� ��������� �
���� 0�

��


��� *���������
�������


��� )���'�
� 6���� 7����
������������� 
�
��� 
���
 ���� �������� �
��� 0�

�� 7��� ��.������
/����� +���� ��� (������ ��� -������ �� �����
�� <������� ���� ��1�� ��� ��� ���

� ��� )���'�
�
������������� �
�� ��� 0���
������� ��� +��� �� �����
�� <��������

��� 9����� ��� ��.������/������� �
�� ��� ��	��

�����.���� ����� ��� 1/r2 �
 �rR-
�����
��� ��� -������%� ���������� -������������������ �����
�� ��� 	������ ����� �
������1�� �� �

�
<��������� ���� ��� &�.��.��	����	����� ��������
� ��� 7����
����������
��� ����� -������ ��
��� ������������� <�������������� (�� 9��������� ��� <������������������ ���� ��� �
��
���
������� ��� 7����
����������

max {Sr(ϑ, ϕ)} = max
{
| �E × �H

∗|
}

def= Srmax



��;� &�.��.��	����	����� ���

�������� ��
���� �� �

�������� ��� �� ����� <������������ �� �� '*� ���+ 
�������� 0���� ���
ϑ ��� ϕ ��'������ (� ������ ������� Srmax ���+� ��� ��� 7����
���������� �� �

�� �������
<��������� ��� /����
���� ��� ����� ������ /����
���� *
�� ϑ ��� ϕ ��'� D� �

�������� ����
��� ��
������������� ��������� ��� Sr(ϑ, ϕ)/Srmax �������� '*� ϑ = const. = π/2 �
� <�����
*
�� ϕ �
� 0����
 �� ����������� &�.������	��� ��'�������� �����+����
�� ��������% ����
'*� ϕ = const. *
�� ��� 0����
 ϑ ��������
�� ��������%� H� ����� ��31���� 0����
������ ���
7����
���������� Sr +� ��'������ ���� Sr(ϑ, ϕ)/Srmax ���� �� ��+�
�
 
������������ ��'��������
������� G'� ���� �� <������������ ���� ��� )�
������� ������� ��� 7����
���������� ��'���������

��� )���'�
� ����� -���������������� ����
� ���� ��� ��� /�������������
 ��� �������� -��
�������� ��
���� ���� �������� ����� -�'��������� ��� 0������ ��� ���+�
��� 	
�����������
�
����
�� )�

� ��� -����� ��� 	
�����������
� ����� ����

�
 +��������� ����� ���� ��� ����
����
����� )�
� ��� ��� /�������������
 
��������� ��� ���� ���� ����� ��������

�� 7�������� ���
/�������������
� ��� ���+�
��� 	
�����������
� ����
��

���#�� "��������

��;�;�;� �
���	��.��	 �
������	��/�


�� ��� -�������� 
�� ����� �
���������� 	
�����������
 ���
������ ��� ��� ϕ�F��������� ����

����+� �E '*� ϑ = π/2 *
���

 ��� �
����� -��
����� ��� ��� ����+����
� <������������ +����
'�
����� <�����������2 D� <������� ��� ����
����� �ϑ = 0, π% ����� ����� 7����
��� ��'� 7��������
+�� ����
����� �ϑ = π/2% ��� ��� 7����
��� �� ��31��� �→ -

�  >�"%�

���

�

�

�

���

�
�

�

-

�
����  >�"2 /������
� ��� E���+����
�������� ����� �
���������� 	
�����������
��

��;�;�;� �
���	��.��	 λ/25-�/�


0���� ��� <���������.������� 
��'��� ��� E���+����
�������� ���� ��� ��� ����� F����� ���
�������
� <������������ ��� ����� ���� 6����
� �����'3����� ������� +���� ���� 
������ 9*���
���
�
� ��� �
��������� 	
�����������
 �→ -

�  >�B ���  >�C%�



��� "�������

�

r�

r

y

I(z)

z

- /4�

�/4

�r

z0

-

�
����  >�B2 	
���������� λ/2�����
�

1-1

z

y

�

-

�
����  >�C2 /������
� ��� E���+����
�������� ����� �
���������� λ/2�����
��

��;�;�;� =	
//����	��
�	

��� 
������ -������� �
���� ��� ��� ��� ��� �
��
������� 9����
����������� ��� ���� ��� <���
���������� ��
�� �

� ���� 7.������������ ��� ����� ���� ���� ����������.���������� 7�����

������������������� �����

 ��� +�� F
���� ��� &
����	��
�	 +���������'�1� �������

��� <��������
�� 
����+�� ���� <������������������� ��� ������
��1
��� ��� 0����
 ϑ +�� 7.��
����������� �
������ H� ���� �� -
���������� ��� H�'���������
 ϕ ���� <������������������
+� ����
���� ������ �'� ������� 
������ -�������� ��� +� 9� λ/2�����
�� �� 
��������� -
�����
��� ��� G������������� +��������� ����������� 7�
��� F��
��������� ��� ���+�
��� 7����
��� ��
&������ ������ =	
//����	��
�	 �������� ��� )�
� ��� 	��+�
�����
�� ������� ���� ��
�� ��
��� <���������� �� ����� �� +���
��� �� ����� ��������� ������� �� ���� �� ������� <���������
����� ����	
���>� ����	��	��0 ���
3�����

-
� ���'����� 9������
� ��� ��� ���������� <������������ ��������
� ������ �3����� ������
+��� λ/2�����
� 
���������� ��� ��� "+����� λ/4 ����������� ��
�� ��� �� 90◦ �������������
/�����>�	�.��+�� ��� �
������ 7���������� |I0| �������� ������ �→ -

�  >�?%� D� <�������
ϕ = 0 ����� �� +� ������������� D����'����+� 
�� ϕ = π �����
� ��� ����
������ *
������� �����
������������ D����'����+% �→ -

�  >�#%�



��;� &�.��.��	����	����� ���

x

y

z

�

r P

0

1�/4

�

I
�

I
�

-

�
����  >�?2 &����������
�� ��� ����

�
�� λ/2�����
�� �� -
����� λ/4 ��� 90◦ ����������
�����
��� ��� 	��������

�

-

�
����  >�#2 <������������ ��� 
����� ����
� �� -

�  >�? �� ��� 	
��� ϑ = π/2�

��;�;�;� -	����������� ��� ,����	3�

��

9����� ������ 
������ ������������� �+� 9� ����
��������% 
���������� ��' ����� ��� 7��3�� ���
��+� �����'3���� ������
� ����� ��� �
�� ��� *
��������� ��������� ,�

�� �������� ������� 	�
��
� ���� �������������� ��� ��� 7����
����'�
� ��� 
�
������ ,�

�� ��+������ ��� ���'������
9������
 ��� ��� ���������� #����	����������� 7�� 
������ ��� ����� ����+����
�� ������ ���
+������� ��� ��� 	���
��=���� ���� �����

������ 
�
���� -� 	��� ���� ����� �����

������

h z

z

l

I0

-

�
����  >�!2 8����������������

��� ����� 0�

������������ ��=�������'��� �
�����
����� ��� �� -�'��� ��������� �� ��1 ����
0�

� ��� 7����������
���

I(z) = I0e
−jkz

��� -�'��� +�� 	��� 
��'��
��� E������������� L���� 8���������������� ����+����� '*� F��+��

��� E��� ������ ���

�� λ/2 
�� λ E3�� *
�� ��� 	��
���� ��'��������� ��� <������������������ ��� �� -

�  >�$ ����
�����

��



�22 "�������

-

�
����  >�$2 <������������������ ����� 8��������������� ��� l = 3λ �� '����� <����

��;�;�;� %5"�������

9�� ��� /�-������� ���� +��� 8���������������� �� ��� E���+����
�� ����� �����0����
 α = 2ϑ1

������������� ��'�������� ��� �� &�������� ������� ��� <������������� ��� 
����� -��������
���� *
��
����� ���� +� ����� &������������������� ��� �����'�� 9*���
��� ��� �3����� &�����
�→ -

�  >� @%� ,��� ������ �������� 
�1� ���� ��� <����������� ��� ��� <���
�����������

-

�
����  >� @2 /�-������ ��� S
��
������� ��� 	��+�
��������� +� ����� &����������������
���� ��� E�������
��


��" ��� :5	�(����%������� 	�� ��� 2+������	�� (�� 8����
������

9�� ��� 
������� -������� ��� 7�����

�� ��� ��� ������������� ��� 0�������

�� ����� 
��
��� &�����������
���� ��� ���� ��� ����� 
�
��� 
������ ������ �
� 7����
����4��

�� ��� ��	���
�
� ��� #����	� ���������� ���� ��� �
�� ��� ���� !�
��>�	���


��� �� ��� 9��������� ���
7����
����'�
��� +� ���3�
������ ��� ������
���� I��

� ��� 7����
��� 
�
��� ����� ��� 8����� M ��
����� 
������ ���� ��� ����� 	������ ���� ��� 	������ ������� ���
���� �� ���
�������� +�������
��� �� ��� 8�����K ��� ���� ���� ���
��� ��� ��.������/����� 
�������� �������

-

� ������������� ���

�� 
����
��� )*������� ��� 5����'����������
������ ���� ��� ��� 	����
��� ��� ��� ���
�������� ��� 7�����
������ �+� 9�F�����

������% �� ��� 6����
� ���*������ 7�����

����'�
� *
��
������ ��� ������
�.�� ��	��

���8
�

� ��� ����� ��� N@�
�� ��	 �/����
��5
�
�� +�� -�������

��
�� 
������ ���� ��� �3�
�������� ������ ��� ��� UA���� ��� 7�����
������ ���� )������+���
��� 8��������
�� �� ��� <��� �
� -������ +� ��
������ ��+� ��1 ����� UA���� ��� ���� ������



��;� -�� 78
�>�
��0����	�� 
�� ��� "+��	��

�� >�� !��

����	 �2�

���� )��� ��
��� ����+����

 ������ ��� 0�

�� ���� 
������� �
�������
�� 6� ��31�� ��� UA����
���� 0��� 
������
������ ��� 	��� ����� <����������

������ ����'3���� ��������� ����� �� ����
��� ���'�

���� E��

�������

� ����+� ���� <�=������ �
�������
�� ��+� ��1 ��� E��� ���� ���
���*���� �

���
��� 3A��� ��� ����� -������ ��31�� �
� ������ 0�

��
����� ���� �→ -

�  >�  %�

-

�
����  >�  2 <����������������
���

���$�� ��� 9@
�:����
�������

(�� 9�������� ��� -
�����
��� ��� E��

������ ��� �� ��'�����
���� ��� 7����������
��� �� ���
-������ �UA��� ��� E��

������% +� �������

(�� ��������������� 9��������� ���� ����������� ��1 �� ���� ��
�� �� ���� �A��� 8������
�����
�� �� �� ��� 	���� ����� �A���� 8������ ��� ���������
� ����������� )�
� ,�

 ���� ����
��� E��

����� �� ��� -������ ����� ���� 7����
� ��� �����
��� ����� ������
�
���� �
�����
������

-��
�� +�� �
���������� 7���� �Je ���� ��� ��� ������������ 7���� �Jm �����'*����

�
���	��.��	 ��	�� ��������.��	 ��	��

��

��

�� � ��

� � �� ��

� �

�� � ��

� � ��

8������� ��� ����� ���� �����
��� ��� �
�������� 
������� 7����
� �7����
� �����
��� ����� ����
���
�
����% �
�����
����� ����

rot �H = �Je + jωε �E rot�E = − �Jm − jωµ �H
9�� ����� -
���
�1 ��� ���
��� ����� �
���������� 8���'�������� ������ ������
�
����% �������� ���
�
���������� G
��=���������� ������������ G
��=����������

�Je = �n′ × �Ht
�Jm = −�n′ × �Et

	��� 7����
� ��� �����
��� ����� ������
�
���� 
������ +�� ������ ��1 ��� ����������� )�
�
�������

 ��� E��

������ ��� )�
� ����� �A���� 8������ ����������� ���� �� ��� -������ ���������
��� ��� ����������
�� �
���������� )�
�� ��� +�� �������� ��1 ��� )�
� ��1����

 ,�

 ���� ����
��� E��

����� ��� ����
��� �
�����
������ 9�� /������
�������� ��� <�=����� ��� <�����������
��
� ��� 7����
� ��� 7����
����'�
� ��� �A���� 8������ ������ ��'� 7�� ��+���� �� -�1������ ���

��������1�� �
������ �
�� �������������+� ����������� )�
� �
� ��� ��� �A���� 8������� E������
'�
�� ��� 78
�>�
��0����	��2

��� -
�����
��� ��� ����� �A���� 8������ ���� ��� ��� ������������ 7����
�
�� ���
��� 7����
� ��� �����
��� ����� ������
�
���� 
�������� ������� ��
�� ��� ��� 7�����

�
�� ��' ��� 7����
� ����� �
���� �
�� �������������+� ��������� +�� 7����
�
��� ���



�2� "�������

���� �� ��� 7����
� 
�� -
���
�1 ��� 8������ ����
�� ��� 	��� ��� �A���� 8������
���� �
�� ����� �4����
���� 7��3�� ������
�
��� �������

�� �� ���� 
��� J4����
��+������� �� ��� ,�����������'����� �����
�� ������ ������ )��
�� ��'2

 � �� ����� &�:�<��� 
��*���������� ����� 
��'��� ��� J4����
��+������� 8
��������> '�
����
	���
������

>� �� ����� &�����	�

�� 
��*���������� ����� ���������� ��� 
��������� 7����������
��� ��
��� -������ ����� ��� ������� 7����������
���� �� ��1 ���� ���� ��� 8
�
�����>�	 *��
�	

�������

������ 4��
������� )��
�� '�

� �
�� ����� ��� &������� �� �� ��� <���
 ��� ��� <������������������
��� ����� ��� ��� )���'�
� ������������� D� ������� )�

�� ��� ��� J4����
��+������� ����� ����+
/������
�������� ��� <����������� ���� �
��  ���	
���

���$�� ��������
�� :�� >���������

0�� 
��������� ��� -
�����
��� ��� Hy 01�0�

�� ��� ���� �� <����������

����� �� y�<�������
���
������ ��� E�
'� ��� J4����
��+�������� �→ -

�  >� >%�

�

�

�

�

�

� ��� 	
�� �

� ��� ���� �

���
�

�

�
��

��

-

�
����  >� >2 Hy 01�0�

� �� <����������

����� ��� -��
������� �� y�<��������

��� /�������������
 
�����

Ay = C sin
(π
a
z
)
e±jkyy.

)*� ��� �
��������� )�
� ����
� ���� �����

Ex = −Cπ
a

cos
(π
a
z
)
e±jkyy

Ey = Ez = 0.

��� E��

����� ���� ��� 
�� y = 0 ��� µ = ∞ �
�����
������ ����� ����
� ���� '*� ��� ��������
����� G
��=����������

�Jm = −�ey × �Et '*� y = 0

= −Cπ
a

cos
(π
a
z
)
�ez

= −E1 cos
(π
a
z
)
�ez

��� ��� ������������ 7����

dIm = Jmzdx = −E1 cos
(π
a
z
)
dx



��;� -�� 78
�>�
��0����	�� 
�� ��� "+��	��

�� >�� !��

����	 �2�

,��� 9��������� ��� )���'�
���� ��' ��� ���� ���+������ ����� ����
� ����

|Emax| =
|E1|ab
πrλ

.

��� ������� ����� 
�� ϑ = ϕ = π/2 ��'� ��� 7����
������������ ��� ����� ��� ��� 0�

��
����
�
������� )*� ��� �������
� <������������ �y�z�	
���% ����
� ����2

-

�
����  >� "2 /������
� <������������� �y�z�	
���% '*� ������������ λ�

GA�������
��� ���� ��� 9*���
��� ��� �
��������� 0�

��
����� �
�� +���������� )��4���+�
�������K 6����� ������ ,�
�������� ��' �→ -

�  >� "%�



�2� "�������



������� �	

*��������� �������� ���

+��������	 �
�������	���������

��
���

D� ��� �
�����.��� *�
�����	�� ���� ��� ������� ���
1���.�� #��
�� ��� ��� ��� �����

�
&
��������� �
��
������� ��A�������
�
���������� +� 9� ��� ��������&
������� ���� ��� 0�

���
���
����� 
������
�� 	��� ���
.������ 83���� ��� 6����� ��� '*� ����� ����
������� ���

��� �+� 9�
�����
��� 
����� <������

�����% ���� '*� ����

/	�+
��� �3�
���� 8��+���� ��������� ����
������� /�����'������ ��� ���
��������� ���

����� D��� 83���� ���'���� ���� 6����� ��� ��� &���
��� /�����'������ ����� ������ ��� ��� �������
����� 83�����

�����

 ������ ������ �������� ��������
�� ��� ���
�������� ������������������� /��'�����
��'������ 0�� �3���� �	�� /	��0�/��

� #��
���3��� �������������2

 � -��
.������ /��'�����

� ��������
�����+

� 7�����
�����������

� ���'���� -

�
������� ����

>� 7�������
.������ /��'�����

� G��������
�������
���

� ���������������� ����

"� ,��������� /��'�����

� )��������A����+���/��'�����

� )������	
�������/��'�����

� )����� D������������������

� <����
���������'������ ����

7����
 
�� ��� ��������
.������� �
� ���� 
�� ��� ����������� /��'����� ��
� �� ���� /��
+��

������������� -����+�� -��� 
�� ��� ���
.������� 83����������+�� ��� ���L� ���� ����������
-��������� ���������� ��
�
� 0���� ��� 83�����'������� 
������� ������ ��

�� �→ 5�
�
�

������� 
+�� <������%� 0�� ��

�� ����� ����� ���
.������� ������� ���� ��
��� ���������� ���
���� ������ 83���� ��� �����

�&
��������� L����� ��
��� ���� ���
�+�� ����
�� 
�1�� �
�� �����
���������������� ������ �������
�� ���� "��
1���.�� #��
���� ��
�� '�
����� /�����
�2



�2�  
��	��.�� �������� 0
	 6�	�.��
�� �
���	���������.��	 *�
��	

7�� ����

� ��A����+���
��

� ���
� ���������
��

� �������� '*� �����������������

	�� �����
��� 
����� <������

����� ��� ���
.����� 
3�
��� �
�� ��
�
� ��� 7����� �� ������ <����
���

����� ��'����� �→ -

�  "� %� '*��� ��� ���
.������ -����+ ��' �����
���� <����� ��� 
������
&
���������.����� �����
��� ���1�� ����������

,��� 9�����+��� ��' ���� ���
����� �
�� �� ��� <���
 ���1� ��������� �3���� ��� &
���������.�
����� �������������� ��������� ��
3�� ������ �
������ ��� +���'���� ,�������T%� )*� 
��������
���

���
����� 
����� ���� �� ���� ������ 83������ 
��������� ��
�� ��� ��������� ���� 6� ��'

�������� ���

���.��� 
����������� 
�� ����� ��� ����
��� -�������� ���� ��' ������ 5��
����


��� ���'����� &�������� �+� 9� <������

�����% ����+����� 
����� �→ ������� ,�������T%� ����
���� ����5���
1���.�� #��
����� ��� �����% �
��	��.��� %�	���	�� ���

�� �� ����� -����+
����� ���+��

�� -�'���������� �� ��� &�������� ��� -����������� ��� +����3����� ���������
+������� ���� ����� ���� �

������� -�����
������ ����

0�� ���
� ������ ���������� �������� ����� ��� *������5-�@�	��0��5%�	���	�� E*-F ���
��A�������
�
��������� ��� �+� 9� ��� ��������&
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 � �����

�&
��������� �� D������
'���

>� �����

�&
��������� �� ��A�������
'���

"� 0�

���
������� (∇2 + k2) �E = 0

B� ��������&
������� ∆ϕ = −�
ε

C� ��������
�����+� ��� /�������������
 �A ��� 7��
����������
 ϕ

+�  2
∮
∂A

�E · d�s = − d

dt

∫ ∫
∂V

�B · d �A

∮
∂A

�H · d�s =
∫ ∫
∂V

(
∂ �D

∂t
+ �J

)
· d �A

∫∫
�

∂V

�D · d �A =
∫∫∫

V

� dV

∫∫
�

∂V

�B · d �A = 0

+� >2 rot�E = −∂
�B

∂t

rot �H =
∂ �D

∂t
+ �J

div �D = �

div �B = 0
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����� ��A����+��4���������� (� ������ (���� ���� ��� &����� *
�� ��� 83�������
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���� ���
���� ���� <���� ��� :7�*�+���
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�#���� ��;����
��@
�������� ��� ������� ������

��;�;�;� ���
�	�
�������� ����	 I�+��������

H� ��� ����+�� �
��+�������� 
��������� ��� ��� 9������
 ����� ���
���� 83�����'������� f(x)�
7���� ��� 9��������� ��� )������� f(x) ������ �� )���������A����+���/��'�����  ���	
����
f(xi) �� ���
��� ���
�� 7��

�� xi 
���������

��� ���'������ �������������
� &����� ��� ���� �
��.���?��� �.�	���3���� �→ -

�  "�>%2

xi = i ·∆x , i = 0, 1, 2, . . . , I − 1

-� ��� 7��

� xi �0 ≤ i ≤ I − 1� '���% ���� ��� )������� f(x) 6����
� ���� ������ ��� 
���� �� ����
5�.
������� ��������
�� ����� ����
� ����2

f(xi + ∆x) = f(xi) + ∆xf ′(xi) +
(∆x)2

2
f ′′(xi) +O((∆x)3) � "� %

f(xi −∆x) = f(xi)−∆xf ′(xi) +
(∆x)2

2
f ′′(xi) +O((∆x)3) � "�>%
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f(xi + ∆x)− f(xi −∆x) = 2∆xf ′(xi) +O((∆x)3) � "�"%

,��� -�=3��� ���� f ′(xi) ����
� ����2

f ′(xi) =
f(xi + ∆x) − f(xi −∆x)

2∆x
+O((∆x)2) � "�B%

���� ��� ��� -�@�	��0��8
������� ��� ��� -

������ �� ��� 7��

� xi 
�� ��' ����� *��
�	 ��	
C	��
�� 03�� O((∆x)2) ���������

��� -������� ��� &
��������� � "� % ��� � "�>% 
��'���

f(xi + ∆x) + f(xi −∆x) = 2f(xi) + ∆x2f ′′(xi) +O((∆x)3) � "�C%

��� ��� -�=3��� ���� f ′′(xi) '*��� +�

f ′′(xi) =
f(xi + ∆x)− 2f(xi) + f(xi −∆x)

(∆x)2
+O(∆x) � "�?%
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ϕ = ϕ(x, y) � "�#%
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,��� ��� 9��������� ��� ϕ ���� ��� �
��������� )�
� ����1 ��� ��������
�����+ �E = −gradϕ

������� ������2

Ex = −∂ϕ
∂x

, Ey = −∂ϕ
∂y

� "�!%

H���� ��� -������� ��1 ��� ��������
 �� ����� P0(x0, y0) ��� 0��� ϕ0 �������� �3���� ���
��� ��������
 ϕ �� ����� H���
��� ��� P0 �� ���� 5�.
������� ��������
� �→ -

�  "�"%�

�

��

�
�

�

� � � �
� ��

�
�

������

��

��

-

�
����  "�"2 	������
��� ��� H���
��� ��� P0 �� ���� 5�.
��������

9���� ��� ��� ��A����+���
��������� ����
��� '*���� ��� '�
����� -
�*�+����� ���2

ϕx(x0, y0) =
∂ϕ(x, y)
∂x

∣∣∣∣
x0,y0

, ϕy(x0, y0) =
∂ϕ(x, y)
∂y

∣∣∣∣
x0,y0

ϕxx(x0, y0) =
∂2ϕ(x, y)
∂x2

∣∣∣∣
x0,y0

, ϕyy(x0, y0) =
∂2ϕ(x, y)
∂y2

∣∣∣∣
x0,y0

ϕxy(x0, y0) =
∂

∂y

∂ϕ(x, y)
∂x

∣∣∣∣
x0,y0

, ϕyx(x0, y0) =
∂

∂x

∂ϕ(x, y)
∂y

∣∣∣∣
x0,y0

��
��
ϕxy(x0, y0) = ϕyx(x0, y0).

)*� ����� ����� P (x, y) �� ��� H���
��� ��� P0(x0, y0) 
��'��� ��� 5�.
���������
���2

ϕ(x, y) = ϕ0 + xϕx + yϕy

+
1
2
(
x2ϕxx + xyϕxy + y2ϕyy

)
+ . . . � "�$%

,�� ��� �� 6� ��� ��1 ��� ��� )��/��'����� 6� ������ ���� +�� 9��������� ��� ��������
����� ��
���
��� ���
�� ������� Pi(xi, yj), i = 0, 1, . . . , I − 1; j = 0, 1, . . . , J − 1 ����� +�������������
��
&������ ������+�� ��

�� �→ -

�  "�B%� ��+� 
��������� ��� ����� -��������� ��� ����� ��
����
&����� �→ -

�  "�C%� 0�� ������ ��� ��1 ��� ��� ��������
����� �� ��� ���� ������� P1(x0 +
h, y0)� P2(x0, y0 + h)� P3(x0 − h, y0) ��� P4(x0, y0 − h) 
������ ������ �� �� ∆x = ∆y = h� ���
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�� ��� ��� E�
'� ��� � "�$% ��� ��������
 ϕ0 �� ����� P0(x0, y0) 
��������� ��� 5�.
�������
� "�$% 
��'��� '�
������ '*� ��� ���+�
��� ������2

�� P1 ��
�: ϕ1 = ϕ0 + hϕx + 0 · ϕy +
1
2
(
h2ϕxx + 0 + 0

)
�� P2 ��
�: ϕ2 = ϕ0 + 0 · ϕx + hϕy +

1
2
(
0 + 0 + h2ϕyy

)
�� P3 ��
�: ϕ3 = ϕ0 − hϕx + 0 · ϕy +

1
2
(
h2ϕxx + 0 + 0

)
�� P4 ��
�: ϕ4 = ϕ0 + 0 · ϕx − hϕy +

1
2
(
0 + 0 + h2ϕyy

)
��� -������� ������ ���� &
��������� 
��'���

ϕ1 + ϕ2 + ϕ3 + ϕ4 = 4ϕ0 + h2(ϕxx + ϕyy︸ ︷︷ ︸
∆ϕ

).

H���� ��� /��������+��� ��� I��

��'������� ��
� ��� 8��
������� ��A�������
�
�������2 ∆ϕ = 0K
�� �� ��� 
����� ����� &�
�
��
���� �� ��� +� 
����������� )�
�
������ +�� ����� ���� ���
�� ����� P0(x0, y0) +� 
���������� ��������
 
�������� ������ +�2

ϕ0 =
ϕ1 + ϕ2 + ϕ3 + ϕ4

4
=

1
4

4∑
i=1

ϕi � "� @%
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&
������� � "�$% ��� ��� 
�� ��' ����� )��
�� +������ G������ ������ 0�� ��

�� ��� ���
5�.
���
��� ��� -

�������� ������� G������ 
���������2 -� G�� P (x, y) 
��'��� �� ��� -�������

1
3!
(
∆x3ϕxxx + 3∆x2∆y ϕxxy + 3∆x∆y2ϕxyy + ∆y3ϕyyy

)
� "�  %

)*� ��� /������'����
� �
���� ��� '*� ��� ���� ����� ��+����� �������
'����
� +���� ���� �����
	�����+��� ��1 ���� ��� ��� ,�

 ������������� 7�������� ����������� ��'��
�� ��� ������ 9������
����� +� ,�

 ����� ����� ��'*

�� /������� ��� �������
'����
 ��� 5�.
������� 
�� ������
��1
���
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�������������� Li� ��' ����� ��� +� 
����������� (���������31�� ���������� ����
����������� ������� ��L������ 9� � 
��'��� ��� '����
� 9�������
��� ��� )D5�&�����2

-�M������ 6;�;�  �� �!��"����� G ��� ���	�������#�� ��$������

� G ∈ R3 (R2)% ������� &��������'�	���

� G =
⋃
Vi, Vi �= {};  ��������(������� V = {V1, ..., VnV }

�  ��������)'���� A = {A1, ..., AnA} ��� {Ai} :=
⋂
Vi

�  ���������������� L = {L1, ..., LnL} ��� {Li} :=
⋂
Ai

� *����� P = {P1, ..., PnP } ��� {Pi} :=
⋂
Li

D� �������� 7������ ��

�� ��� �����

����� &
��������� ��' ��� )D5�&����� G *
��������
������� (������� ����� ��� ����� �����

���� &
������� � ��� D��������������+� 
���������2∮

∂A

�E · d�s = −
∫∫

A

∂ �B

∂t
· d �A

-
� ���'������� �3�
����� )�

 ����� ��� 	
���������
���� Vi 
���������� ��� �� �� 9�
� 9�> ��+����
���� ��� 
���� 7���� ��� &
������� ���� '�
��������1�� 
������
�2 	� ���� ��� )
������������
 *
��
���� 	
�������=���� Ai 
��������� ��� ��� �
��������� 7������� ���
��� ��� 	
�������������� Li
�
� (���������31� ��' ��� &����� G �����'*���2

-�M������ 6;�;� +����  ��������������� Li ��� ��� ����������� ,"������-
������	 ei ��� .��������
	�
#� &�	��������

ei :=
∫
Li

�E · d�s.
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�.��� =
��.�
���� ���

����� ����+���� ���� ��� H�
��L������

∮
∂Ai

�E · d�s ��' ��� ��A����+

ei + ej − ek − el.

��� -�������� ��� (���������31�� ��'�
�� �
�� ��' ���+ ���*�
���� 0�����

e

k

l
be n

e

i

je
b

b i

b m
n

blb
j

b k

-

�
���� 9�>2 	
���������
���� ����� ������������ )D5�&������ G ��� �����' ������������ (��
��������31�� ��� �
���������� &������������� �
����% ��� ��� ������������ &�����=�1�� �������%�
������
� �����

	� ������ ���� ��� D���������� *
�� ���� 	
�������=���� +� 
���������� -��������� ��� D��
����������=���� A ����� ��� �� 9�
� 9�" ��+����� &����
�� GA�������
��� ���� ���� ��� &��������
�����
 �
� 7���� ��� 5��
�������
�� *
�� 6� ����� 	
�������=���� Ai ��������

� ������� �� ����
��� -����
� ������ 
�����
����� (�

�� ����������� ��'��
���

wC 4 C C 2

v
w k

j
v

vC 1 j + 1

k + 1w 3C

-

�
���� 9�"2 -�������� ��� �
���������� &��������������� ��' ����� D�����������=����� ��� ����
��� �������� 	
�������=����� +����������+�� ���������� �������  ��!

9�� ��� ������� 7���� ��� D��������������+�� ��1 ��� )
������������


− ∂

∂t

∫
A

�B · d �A

�� ���������� 0���� ��' ��� &����� G *
�������� ������� -
� D�����������=���� ��� 
������ ���
	
�������=���� Ai �����
�� ����� ��� ���� ��� <������� ��� d �A ����
��� 	����������� ���� ���
������������ )
�1������ ��� �
��'�

� ���� (���������31� ��' G +��������� ���
� 9�
� 9�>%2

-�M������ 6;�;� +����  ��������)'��� Ai ��� ��� ��	�������� ���# bi ������ &�� "�����)'���
Ai ��� .�������	�
#� &�	��������

bi =
∫
Ai

�B · d �A.

����� ���� ��� D��������������+ �� ��������� )��� ������
�� ������2

ei + ej − ek − el = − ∂

∂t
bi.

��� (���������31�� ei ��� bi� �R � ���� N � �3���� ���� ���������� ,���������� ��� &������ ��
/������� e ��� b ��� ��� /��'������� {−1, 1} �� ����� ��� 5���
���� ��� &������ ����1�� ������
��� ��������� 3N × 3N � ��� ��� C 
�+������� ������ ��

� �
����������� ������2

C :=

⎛
⎝ 1 .. 1 .. −1 .. −1

⎞
⎠ .



��2 *����� �����	������ $�.����

C ��� ���� 9
��������� ��� 9
3���� ±Px,±Py,±Pz ����� 02

C =

⎛
⎝ 0 −Pz Py

Pz 0 −Px
−Py Px 0

⎞
⎠ ,

��
�� x, y, z ��� ���� F�������������������� ����
��� ��� 9
3��� Px, Py , Pz ��
�� 6����
� ���
0���� � ��' ��� E�����������
�� ��� \ ��' ����� ,�
���������
�� ��� ����� ��� ,����������
�������������� -
����� ��� ��� E�����������
��� -�' ����������	������ )D5�&������ �G ⊥ G̃�
�� ��L������ 9� �B% ��
��� '�
����� 	������������� '*� ��� 9
��������+�� Px, Py, Pz 2

Px � ∂

∂x
, Py � ∂

∂y
, Px � ∂

∂x
.

0������ �����
� �3���� O>"P ��������� ������� ����� 
���� ��� �������� )��� ��� D������������
���+�� ���2

Ce = − ∂

∂t
b.

-
� �������� ����� ��� ������ �����

���� &
�������∮
∂V

�B · d �A = 0

��' ��� &����� G *
��������� ��� &������������
 
�1� ���� �������� ��' ��� 7���� ��� 5��
���
�����
�� ����+������ ��� G
��=������������
 ���� �
�� *
�� ��� 	
���������
���� Vi �����'*���
��� �� ������ ������ ��� ������������ )
*1� bi ���������� 9�
� 9�> +���� ���� -�������� ��' Vi�
������ ����
� ���� ��� ��A����+���
�������

bi + bj + bk − bl − bm − bn = 0.

H���� /��������� ��� /������ b ��� 	��'*����� ����� ������ S ��� ��������� N × 3N � ���
�������� ��� /��'������� {−1, 1} �� ����� ��� 5���
���� ��� &������ ����1�� 0���� �����
��
����
�����2

S :=

⎛
⎝ .. 1 .. 1 .. 1 .. −1 .. −1 .. −1 ..

⎞
⎠ = (Px|Py|Pz)

�� ��1 ��� �������� )��� ��� ������� �����

���� &
������� ���
����2

Sb = 0.

,�� '��
� ���� ��� S
��������� ��� +������ ��� ������� �����

����� &
�������� �� ����
�3

�� ���
�� ��������� ��

� ���� ��� +������� ���� ���
�� &����� G̃ �����'*���� ��� �� ���
��������
������������ 9������
 ������ ��� ��� &����� G ���� ��� �� ���� ��

� (�

���� �������
��� -���
��� ���
� )D5�&����� ��� ����
��� �

�������� ��L����� �
� ��� 9������
 �������� 
�1��

-�M������ 6;�;� ��� &��'�&����� "����� ���� ��� ������ "����� G̃ ��&�������� ��� ����� "����� G̃
���� ������ �����

� G̃ ��� ��$����� ��� G ��� Ṽ , Ã, L̃, P̃

� ∀Ṽj ∃Pi ��� Pi ∈ Ṽj % ∀Vj ∃P̃i ��� P̃i ∈ Vj
� ∀Ãj ∃Li ��� Li

⋂
Ãj �= {}% ∀Aj ∃L̃i ��� L̃i

⋂
Aj �= {}

������������ /�� ����� ����������	������ �!��"����� 	��� L ⊥ Ã ����� L̃ ⊥ A�
D� �3

���� -��
���� +� e ��� b ������ ��� ��� (���������31�� h ��� d �����'*���2
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�.��� =
��.�
���� ���

dua l  Gr id

G r i d

dua l  F IT-Ce l l
h :  Magne t i c  Vo l t age
d:  Elec t r ic  F lux

h

d

-

�
���� 9�B2 	
���������
���� ����� ���
�� &������ G̃ +�� ������������ )D5�&����� G �����
�����' ����������� (���������31�� ��� ������������ &������������� ��� ��� �
���������� &���
���=�1��� ������
� �����

-�M������ 6;�;� +���� ������  ��������������� L̃i ��� ��� ��	�������� 
������	 hi ��� .��
������	�
#� &�	��������

hi :=
∫
L̃i

�H · d�s.

+���� ������  ��������)'��� Ãi ��� ��� ����������� ���# di ������ &�� ������ "�����)'��� Ãi
��� .�������	�
#� &�	��������

di =
∫
Ãi

�D · d �A.

������������� ���� 0���� ������  ��������)'��� Ãi ��� ����������� "���������� ji ������ &��
������ "�����)'��� Ãi ��� .�������	�
#� &�	��������

ji =
∫
Ãi

�J · d �A.

+���� ������  ��������(������ Ṽi ���� ��� �������� �����	 qi ,��	������� �� Pi ��� G- ��� .��
������	�
#� &�	��������

qi =
∫
Ṽi

ρdV.

-��
�� +� C ��� S ������ ��� /��'������� ��� (���������31�� �� ����
�������� �����+�� C̃ ���
S̃ �
������������ ����� ���� ������ ��� �������� )��� ��� �����=�����������+��

C̃h =
∂

∂t
d+ j

��� ��� ������� �����

����� &
������� ����
�� ������2

S̃d = q.

	�� 7�����'�

 
���� '*� ��������� 
+�� ���������� ���

��� ���� D� ��� 	
����������� ��� 
�� �������
����� 7��3��������

���� 
�1� ���� ��� �
��������� )�
� �E �
� &������� ����� ���
���� ��������
�
ϕ �����*���� ��� �� ��� 	
������I���������� ���� ��� ����
��� �
��������� ������ �E �
� &�������
����� ���
���� ����
���� ��������
� ϕ ��������

� ������� D� ��� ������������� ���� ���
.�����
+��� +������� ��� /�������������
 �������+�� �
�� ��� �� -
������� 9�>� ��+���� ����� 
�1� ����
��� ���

�� ���� ���� ��' ��� �������� ��������
���

�� ����+������ ��� )D5�-����+ '*� ��� 7���
��� ��� 	
������I���������� ����'� ��� ����
������� D��� ��'� ��� ��������
� ��

�� ������ ��' ���
&����� G ��+�������� ��� +��� �� ��� ������� Pi ∈ G� -�' ��� 	
��������������� ��� )D5�
&������ G ��� ���� 6����
� ��� �
��������� 
+�� ����������� )�
� ����������� ��� D������


∮
�E ·d�s�


������
������� ���������� ���� ������ ��� ��A����+ ��� ��������
� �� ��� &�������������

-�M������ 6;�;� ��� ��� 
��&������� ��� 
����� �&��  �������1���������� ���� 0���� *���� Pi ∈
G ��� ������� �&�� ������2�� �������� *�������� ΦE,i% ΦM,i �&�� Φi &�	�������� 
�� ��� Li ���  ���
������������� &������� &��� *������ Pa ��� Pb ��� G� ���� ��� ��� Li &�	�������� ����������� 
������	



��� *����� �����	������ $�.����

�� ��� 
����� �&�� ���  �������1���������� ei �&�� ei 	��'#

ei := ΦE,b − ΦE,a �&�� ei := Φb − Φa

��� ��� ��	�������� 
������	 �� ��� 
����� 	��'#

hi := ΦM,b − ΦM,a

��$������

6���	�
�� 6;�;� ��� "������������ (G, G̃) ���

� ����� �����������	�������%

� ����� ��������	 �����	���� �%

� ����� ��������	 ��	���'#�	�

/�� ����� ������������ "����� ���� ��� .�������	�
#�� h �&�� d �� G̃ 	������ ��	������� ��� ���
(�� e �&�� b �� G� 
����� "����� ������ ���� ��� 3���		���� 	���3 ��&������� ,4��-� 5�� �������
"����� ���� ��� ����� �&�� &����� 6�2�������� "�������	 ������������� ����% ��� ��� (�����% ����
����� ����� 5�������	���������� ������������

"���� ��� '�����)*�8/���)'���!�
����

-� ������ 7��

� �3���� ��� ��� &�����������

�&
��������� +�������'������ '����
 ��L�����
������� 	� ��� �����' ������������ ��1 
����� ���� ������
�� -�������������� ����������� ����
���� ,��������� ������ 
�� ��� )������D������������5������ ���� 
�� ��� H����+��� ��� �������
�
�
��������� ��' ��� &��������� ����������

-�M������ 6;�;� ��� �������	��� ������������ 7�������������� &�� ��������������	 ��� 6�2�
��������� "�������	�� ���� ��� �������!���	��������������� ,���& �!�- ��&��������

8� ��� ��� &� ������������� �
���	�	����� ���� ��� �!��"����� G 	��'���% ������ "�����������
	���	��� ��������� ������  � ������ ���	���� .�������	�
#�� ���	�������

ei =
∫
Li

�E · d�s ����������� ,"�����-�
������	
bi =

∫
Ai

�B · d �A ��	�������� ,"�����-����#

hi =
∫
L̃i

�H · d�s ��	�������� ,"�����-�
������	
di =

∫
Ãi

�D · d �A ����������� ,"�����-����#
ji =

∫
Ãi

�J · d �A ������������ "����������
qi =

∫
Ṽi
ρdV �������� ,"�����-������	�� ,��	������� �� Pi ��� G-

9� ��� �������� 5����	�� &� ��� 6�2��������� "�������	�� ���� ���	��������

∑
k

cikek = −∂bi
∂t∑

k

c̃ikhk =
∂di
∂t

+ ji

∑
k

sikbk = 0

∑
k

s̃ikdk = qi

�%�� �����	 #�� :����	�� ����� %	�������������� ��� ��	��
�5 ��		� ���� µ 
#-$ ε ��� κ �� ��� ������#�����
%	�������!�	����� ����� �������������$



6;� *�$5-���	������	
�� ��	 ��<3�

�.��� =
��.�
���� ���

:� ��� 6�2��������� "�������	�� ��	���� ���� �� �2����� ����������	������ ���	����� 
;����
�������� "�������	��

Ce = −ḃ
C̃h = ḋ+ j

Sb = 0
S̃d = q

<�	�� ������ =��������& ��� 5��	��������� ���� ��� 
;���� ��� "������6�2�����"�������	��
��&��������

>� ��� ?��������� C% C̃% S ��� S̃ �
���� ���	�������#�� ������������� �������

C, C̃ ≡ Rotation
S, S̃ ≡ Divergenz

−ST ,−S̃T ≡ Gradient.


�� ������ ����� ��� �������� @���������% ��(��	��&� ��� "������������������� ��&��������

6���	�
�� 6;�;� ��� 
����������� ��� .�������	�
#�� ����� ��������������� ����� �� ���
���� (���������� �&�� ����� �����	�� ���� �������� �� A8BC ���	������ ��� �� A>C �&�� ADC ����
��� ���	�	�����E (	�� ���� A:C� ����� 
����������� ����� =��F&������ ��� ����� ����� ���	������
5�������	� 	���� GH��(����&�� ��� &�/� ds ≡ Ds ��� ��� 
����������� ��� ��$������ /�8�D (�����
���� /�� ��� ���������(�� 
����������� ���� ��� ��������������� ��	��� �� 7������� �% 
� �� �� 6
&�������	���#� ��� ��� 
������	�� ��� ���#� ��� ��$������ /�8�D ��	���� ���� ����� 6��������
������ ��� 6����&�� Ds, DA, D̃s ����� D̃A% ������ ��� 6�#� ���  ���������������� ��� �)'����
��� �!��"����� G ��� G̃ ���������� e = Ds �% b = DA 
% h = D̃s �% d = D̃A � ��� j = D̃A

6� !� ������ 
����������� ���� ��� GH��(����& &� ��� 6�2��������� "�������	�� �� D������
'���
�����������

CDs e = −DA ḃ
C̃D̃s h = D̃A (ḋ + j)
SDA b = 0
S̃D̃Ad = q

!� �������� ���� ��� ���������#���� ��� 
����������� ��� ��$������ /�8�D ��� ��� .�������	�
#��
(���������

��� ����������� 	��������'��� ��� )������D������������5������ ������ �� '�
������ ���+ ��'�
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=
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+
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∂t
= −jT e∗
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di R
∫
Ãi

�D · d �A � ei R
∫
Li

�E · d�s
bi R

∫
Ai

�B · d �A � hi R
∫
L̃i

�H · d�s
ji R

∫
Ãi

�J · d �A � qi R
∫
Ṽi
ρdV

��� (���������31�� di ��� ei ����� bi ��� hi ���� 6����
� �� ��� �
������ 7��

�� ����������� S
��
��� -��
���� +� ��� �������
�
��������� ��

�� ��� 6����
� �� 9�+������ +��������� �����+� �������
H� ��� ���������� -��
���� '*� ��� �������
�
��������� +� L����� ���� 6����
� ��� &�����=�1 ��
9�+�� +�� &������������� �����+�� ������ /����
����� �
�� di/ei ��� bi/hi ����� ji/ei� ���� ����
6����
� ������������� ����� ��� +����3����� �������
��������� �������
� ������� ��� �������
���
&�31�� ������ ���� �� ��� ���� 6������������&�� Dε, D̃µ ��� Dκ +���������'�1�� ����� ����
�
���� '�
����� S
��������� ��� �
����������������� �������
�
��������� �� ��� &���������2

�D R ε �E → d R Dεe
�B R µ �H → b R D̃µh
�JL R κ�E → jl R Dκe
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�2∫ x0+∆

x0

f(x)dx = ∆ · f(x0 +
∆
2

) +O(∆3). �9� %
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∆
2
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∆
2
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 ����������� 7�������� ������ ��� -����+ ����� /���
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� �A = (0, 0, Az) ��� ��� ����� F��������� �� 
����������
�� <������� ���2

�B = ��� �A ⇐⇒ b = C̃a
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����� ����������
���� 
+�� �������� &
������� ��� +� 
3���2

��� (
1
µ
��� �A) = �JE ⇐⇒ C̃D̃−1

µ C̃a = je
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������� -�' ����� 0���� ���� ���� �� ��� ������������� ��� ����� ���
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����� ������� ��� ����������� )�
� �H ���� �
�� �� ����� ��������� ��� ����� ����������� 5��
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�H := �Hh + �Hi.
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��� �Hh = 0
��� �Hi = �JE
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��� (µ ����ϕ) = ��� (µ �Hi)

���
ρm := ��� (µ �Hi)
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��� ���� ���� �
� ���� ��������+�
������� ��'��'�1� ������� '*� ����� ��������� 5��

��� ���
���� ��������
 �Hh = − ����ϕ 
����+� ������ ����2

��� (µ ����ϕ) = ρm.
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S̃D̃µS̃
TΦM = −ρm.

��� ����
�������� ������'�
� �H ����
� ���� ���� ���2

�H = �Hi + �Hh = �Hi − ����ΦM .
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 ���� F��
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�� ��� ���� 5.��� ��� <���
���������� ��'������ )*� ������
���<���
����������� �
�� ϕ =
const. ��' ��� <���� ���� ����� �H = �Hi − ����ϕ ���� H‖ ≡ 0 �����+�� )*� ,�������
<���
����������� �
�� ∂ϕ/ϕn = 0 ��' ��� <���� ��1 H⊥ ≡ 0 �����+� ������� ��� �A����
<���
���������� ���� ���'*��
��� �� O"P 
�������
��� 7��
��1
��� ��� ���� ��� 0��
 ����� ��������
���� <���
�������� �3�
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 ��� 	
����������� '�
����� J4����
��+ +������� ��� ����������
����� ��� ��� ���������
&
���������2

��� �E = 0 ⇐⇒ Ce = 0
��� �D = ρ ⇐⇒ S̃Dεe = q

0�� �� �OO% ���� '*� ��� ���������� �
��������� )�
� �E ��� ���
���� ��������
 ϕ �������+�� )*�
�D = ε �E ����
� ���� '�
����� H����+��� �� &������
���������2

�E = − ����ϕ ⇐⇒ e = S̃TΦE
��� (ε ����ϕ) = −ρ ⇐⇒ S̃DεS̃

TΦE = −q
-��� ���� �3���� ��� <����������

��� �������� ���� F��
������� ��� ���� 5.��� ��� <���
��
��������� ��'������ )*� ������
���<���
����������� �
�� ϕ = const. ��' ��� <���� ���� �����
∂ϕ/∂��� = 0 ��� �E = − ����ϕ ���� E‖ ≡ 0 �����+�� )*� ,�������<���
����������� �
��
∂ϕ/ϕn = 0 ��' ��� <���� ��1 E⊥ ≡ 0 �����+� ������� -��� �� ��� 	
����������� ��� ��� 0��

�A���� ��� ������������ <���
���������� �3�
����
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����� J4����
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�����
��� ��� ��������� &
���������2

��� �E = 0 ⇐⇒ Ce = 0
���κ�E = 0 ⇐⇒ S̃Dκe = 0
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���κ ����ϕ = 0 ⇐⇒ S̃DκS̃
TΦE = 0.
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��� ���� F��
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� ���� '�
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��+ +������� ��� ����������
����� ���
��� ��������� &
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���κT ����T = −w ⇐⇒ S̃DκT S̃
TT = w.
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��� <���
�������� ��� /����
� ����� '����� 5��������� T = const. ��'
��� <��� ��� �� ,�������)�

 ��� ∂T/∂n = 0 ��' ��� <��� ���� ��'������� ��1 ��� &�������
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��� ��������� &
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��� �E = 0 ⇐⇒ Ce = 0 �9�"%

��� �H = (iω + κ) �E + �J0 ⇐⇒ C̃D̃−1
µ b = (iωDε + Dκ)e + j0 �9�B%

��� �D = ρ ⇐⇒ S̃Dεe = ρ �9�C%

��� �B = 0 ⇐⇒ Sb = 0 �9�?%

0���� �9�"% ���� ��� �
��������� )�
� �E �
� &������� ����� ����
���� ���
���� ��������
� ������
���

� ������2

�E = − ����ϕ ⇐⇒ e = S̃TΦE . �9�#%

	�����+�� ��� �9�#% �� �9�B% 
��'���

��� ((iωε+ κ) ����ϕ) = ��� ( �JL + �JE) ⇐⇒ S̃(Dκ + iωDε)S̃TΦE = S̃(j
l
+ j

e
).
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Aκ = S̃DκS̃
T , Aε = S̃DεS̃

T , p
0

= S̃(j
l
+ j

e
)
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N ωS̃DεS̃
T ��� ��� ��� )��4���+ ω ���
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(Aκ + iωAε)ΦE = p
0
. �9�!%

��� 7.���������� A = Aκ+ iωAε ��� ����
�� �.��������� ���� ��� �� -
������� OO ��+���� �����
������� ���
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 ΦE = const. ��' ��� <���� ���� �����
∂ΦE/∂��� = 0 ��� �E = − ����ΦE ���� E‖ ≡ 0 �����+�� D� ,�������)�

 ��� ∂ΦE/∂n = 0 ��'
��� <��� ����
� ���� E⊥ ≡ 0.
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��31�� ε, µ ���
κ ����� )��������� ��� (��� ����2

��� �E = −∂
�B

∂t
⇐⇒ Ce = − ·

b

��� �H = �J ⇐⇒ C̃D̃−1
µ b = j +Dκe

��� �J = 0 ⇐⇒ S̃j = 0
��� �B = 0 ⇐⇒ Sb = 0.

��A����������� ��� C̃D̃−1
µ b = j +Dκe ��� 	�����+�� ��� Ce = − ·

b '*��� +�

C̃D̃−1
µ Ce+Dκ

·
e= −

·
j . �9�$%

����� 7��+�� ��� y(t) := e ���������� �9�$% ��� ��A�������
�
������� ������ G������

·
y (t) = Ly(t) + r(t)

��� L = −D−1
κ C̃D̃−1

µ C ��� r(t) = −D−1
κ

·
j� D� �

������ +����
�������� )�
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���
���� ��� E������*�+�� ��� exp(iωt) ����
� ���� ��� �������� &
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(C̃D̃−1
µ C + iωDκ)e = −iωj

��� ����� ���� <���������'��
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u(t) :=
(

�E′
�H ′

)
⇐⇒ u :=

(
e′

h′

)
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L =

⎛
⎜⎝ −κ

ε

1
εr

���
1
µ0

− 1
µr

���
1
ε0

0

⎞
⎟⎠

⇐⇒ A =
( −DκD

−1
ε D−1

εr
D̃−1
A C̃D̃sD̃

−1
µ0

−D̃−1
µr
D−1
A CDsD

−1
ε0 0
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��+ +������� ��� �����������
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��� �E = −iω �B ⇐⇒ Ce = −iωb
��� �H = J + iω �D ⇐⇒ C̃h = j + iωd

��� �D = ρ ⇐⇒ S̃d = ρ

��� �B = 0 ⇐⇒ Sb = 0

��� ��
������� ����������
����� ��� ��������� �������
�
��������� 
�����2

�D = ε �E ⇐⇒ d = Dεe

�B = µ �H ⇐⇒ b = Dµh

�J = �JL + �JE ⇐⇒ j = Dκe+ j
e
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���������� 7���� �j
e
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1
µ
��� − ω2ε′) �E = −iω �JE ⇐⇒ (C̃D̃C − ω2D)e = −iωj
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M �h = (A + ik′D − k2I ) �h = k2 �h∗ �9� @%
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